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Answer key

EXERCISES

A 1 in the shop /_-.meE at: the teddy bear \
2 in a hurry / Ro{Z= 2k ran
3 In other words /J,'lunl L g}
anymore
4 in white / iz = gt the woman

k- we can’t see her

B 1 This is a gift for my father.
2 The sun is behind the clouds.
3 | mean the old man with a hat on.

C 1 | need to talk to him.
2 There is something under the table.
3 I’'m sorry for being late.

D » Example answers
1 on the tree are changing

L 2 is poor at skiing )

A

SHA » 1 HAO| XA ZAetEl A4S “M™X|AFE R ST in the shop 1
70l QU= / the teddy bear in the shop (Z ZHAI0l = HICIHIO): in the
shopO| HAL teddy bearE FHFE A &S sttt 2 in a hurry (M
E2{, 83Z5): in a hurryZt SAt ran2 RHFE 2AF &S St / ran in
a hurry ME3{ FCt 3 In other words (HHRO] 25HH, &a| 25HH): In
other words7} 2% Hxi|(we can't see her anymore)E F0O|= EAL HES
SiCE 4 the woman in white 512F & 2 O}

a4 > 1 e T 7P U Heldlel otk 2 1 WA
£ AsY B 3 9 wely, S o o4 1¥E B 4
§lol. 4 7 3ok £ Qe o7k HEAkgel?

B

A » 1 for my father Lif OIHXIE {I8t 2 behind the clouds & Foil
3 the old man with a hat on 2Xt& A1 Q= 01

4 > 1 012L ohAS 91 Aol 2 a7k 1§ Fel ek
3 b BAHE A3 gk ol Wb Aok

C

A » 1 talk to ~: ~0lI7A] L3ICE 2 under the table EFX} OF2H, EfXF 2of|

3 be sorry for SHAE ~&llA] O|OtSICH

D

1A » 1 The leaves on the tree LERYS 2 be poor at HAHSHAL: ~
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= EoHA| Zsitt

sl > 1 LFEQIS o] WSt glch 2 71 ade &

Ciss

EXERCISES

4 at \

A 1on 2at 3in

B 1 on the desk
2 at the dentist’s
3 seats in

C 1 can wear pajamas at home.
2 happened at the crosswalk.
3 read the sign on the door?
4 There are three bedrooms in my house.

D » Example answers
1 in New York
2 at 1330 Avenue of the Americas
L 3 on the eighth floor of Times Square Tower J

A

S » 1 on the river Z 210l 2 at university CHEH]| CH= 3 in the
bathroom 24101 4 at the top of the paper A& 1 20|

a4 > 1 o] 7 glofl Aglch 2 92 b oshelch 3 ¢
o, B8] w77} oial 4 A5 W 9] oS Hol,

514 » 1 on the desk A 2{of / in my room &t 2t 2 at the dentist’s
X0l 3 in the theater 1 SE0fl=

S > 1 1 AR ) ] Ak glef gl 2 s
ol Boyr. 3 1 3ol 4o) wir,

C

si& » 1 ToM=: at home / ZR2 Lk wear pajamas / ~3i= &:
You can ~. ‘&{2l'0| HHo|ct 2 ETHEZ0f|A: at the crosswalk 3 20|

Q= ®X|: the sign on the door 4 ZlAl0| 37H0|Ck there are three
2| F2[*al ®ol=] in my house

Aol A v

bedrooms / %

D

sl » 1 =Al 22 2 FA0lE ing 20 2. 72|t HXol= atS 220



3. 712 S0ll= onZ £LL

3141 » Pearson Lee:= u]=to] Aktl {1 Z1&= New Yorkoef Abch
2 T1+= Americas7} 1330HA]e] 4lth 8 1= B Adlo] BHY) 8
Zofl Attt

EXERCISES

A 1 near — next \

2 front of — in front of
3 below — under

B 1 by[next to] the school
2 behind Harry
3 below the bed

C 1 Who parked the truck in front of my house?
2 | held an umbrella overfabove] his head.
3 My kitten fell behind the sofa.
4 | hid the key under a flower pot.

D » Example answers
1 in front of a car / behind it

r—

>

HM » 1 next to ~: ~ Holl 2 in front of ~: ~ ol 3 (FSQI7tof EOl
fol) Zofl, HEatof Zofl'el oln|Y mh= underS #Ch under blankets
°4 e HollM, 2l HRE F1 /in the rain BIZ0M

ol

Bl 0>

siA » 1 ATb= TV Hofl ot 2 U 9o 27 14x7] Aok, 3 3+
7}20| BlEoA HQE "zl 99T}
B

a4 » 1 beside the school (8t HIZ Hofl) = by[next to] the school 2
Harry7} Ron 0l L2L|77} Ron Harry Foil Q= Zd0ICE in front of ~ &
ofl, behind ~ S0 3 under= (YIX|7}) ~EC} Of2fol'Q] ojoj= M )
below?t CH7H Z2 2|0|2 MQIct,

aiA » 1 T = St HER gofl Aol 2 Harry= Ron &refl Qltt,
/ Ron Harry Fof| 9lt}. 3 of Uof| HA7} Wt

C

A » 1 22| & 2ol in front of my house / EZE MY =Ck park the
truck 2 19| H2| {|Z: over[above] his head / 24t SCk hold an

2 at the bus stop J

umbrella 3 A} F|2 Ho{X|CE fall behind the sofa 4 3H2 0F2Holl: under
a flower pot
D

514 » 1 in front of a car Xt Y0i| / behind it 274 Foil 2 at the bus stop
HA HFZHOIM / a bus waiting at the bus stop HA HREIA (&)
7|ckelE HA

s » 1 584 o= L EHlol7} Qlal 584 Holl= APHAZE
At 2 M2 GRAdel] Mart gt of di7isia gl

EXERCISES

A 1 opposite 2 around 3 between \

B 1 is opposite a park
2 stood between his mother and
3 around the house was broken down

C 1 There was nothing in common between the
twins.
2 He put his arm around her shoulder.
3 She lives in the house opposite ours.

D » Example answers
1 is oppositefacross from] the snack stand
L 2 some tiny flowers around the snack stand J

A

514 » 1 opposite Eve 0|2 ZILHH0| 2 around the sun ENY FLZ2[E]
3 between his lips 12| ¢l Ato|o]|

B4 » 1 obghe olx o] XS Kotk 2 AT o
CERE ) 3 CECEKIEMEERIES
B

sl » 1 opposite a park S HIHEHN|, S8 44T 2 between his
mother and his father Z12| A0t} Ot Af0|01I 3 around the house &} &

Slo|

A4 1 2 34 wehmol slol. 2 2 20 ol ofak A}
ofell A iglel. 37 791 &
C

541 » 1 US0|E ALO|0]: between the twins / 250 = nothing in
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common 2 149| o{7Hofl ZS =&ICE put his arm around her shoulder
3 22| & 4™ Elthe house opposite ours): ours= our houseZ 2|0|st
Ck.

D

54 » 1 oppositelacross from] the snack stand A T 74T 2

=

some tiny flowers 07| 22 2= / around the snack stand AUHHE Z=

sl » 1 A 2k AU Qe 2 24 31 F9lel &

rir

Ve
I'A 1 across — through 2 off — down

3 onto — into

B 1 The train goes from Seoul to
2 dripped down his neck
3 sailed along the coast

C 1 | climbed up to the roof with a ladder.
2 The ball rolled under the car.
3 The kid fell off his bike.

D » Example answers
1 threw the ball across the court
I 2 skied down the mountain i

sll& » 1 across ~& 21, through ~2 StsliAl 2 go down ~ ~2 U
27tct 3 jump into ~ ~2 o] E0{7ict

s4 > 1 7131 B e 9ok 2 TUE ARS YA 9
L ZFolth 3 4UE foRo 2 Holslrt

sH& » 1 from A to B AWl B2 2 down his neck 19| = Of2iz
3 along the coast ai2ts 2}

SA > 1 1 ARHE Aol 2R e 2 wol 19 B
obglz WolAle), 3w Sjobe wet LaT,
C

sHA » 1 X120l S27ICE climb up to the roof 2 Xt Of2HZ Z2{7ICk: roll
under the car 3 ~0llA| BO{XICE: fall off ~

4 | Answer key

D

A » 1 threw the ball & SRICt / across the court ZEE 7(22l7]
2 skied down the mountain A7|S EtT A= LiZ{LtCt

v
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Al1on 2x 3at 4in
B 1 The new theater opened last month.
2 Don’t go out late at night. == Don’t go out late
in the night.
3 They built the castle in the eleventh century.

C 1 is held on Saturday morning
2 We often go swimming in summer.
3 The festival has special events every day.

D » Example answers
1 to Seattle arrives at 11:20 and departs at 11:25
2 js closed infthrough] May
i 3 are 30% off on Wednesdays I

54 » 1 on Sunday LU0 2 next weekend= HX|AL 10| XXIZ £
AF &8t SiCE 3 at her sister's wedding I 9IL|e| ZSAIA 4 in

the morning OFZ!0]|

S5 > 1 S AR HUAS A, 2 e ke Fol Top
S S W Aok 8 I oy ZEAIA o 7S w
stk 4] 71 obkle] TV W2

B

3141 » 1 last, next, every, this, that CF20l| A|ZHS LIEHLH= B540| 2 w2t
tomorrow, yesterday 0= TXIAIE MX| QH=Ct 2 A[ZIO[Lt AAF AZH
S EX AlZE ARZAO|LL OMIE Qh0ll= atg £t J2iLt in the night= 2
o= Ho| M= HB0ICE at night 0, late at night BEA 3 A, &,
AR 59| H|mA™ 71 A|ZHS LIEHE M= inS 22LL in the eleventh century

1AlZ1of

sidd » 1 1 A A2 AdE
3 152 1 A4S 11471 Aick

Aglel. 2 WA WA o,



C

A » 1 EQY OFRI0): on Saturday morning / E2ICk is held 2 G{Z20:
in summer / 521 7ICk go swimming 3 O every day / EESt 0]
HIEE 3SICh have special events

D

si& » 1 The train to Seattle AIOKEE 7h= FXE, AOHE & FX} / arrive
at 11:20 11A| 20220 =AISICH / depart at 11:225 11A| 2520 SWsict 2
infthrough] May 5o, 58 L 3 30% off 30% &Qlzl= / on
Wednesdays (=20} E4=21 on Wednesdays= +20i2| 20|11,
£24:01 on Wednesdayse= ‘TR0t O| £20]Ct,

a4 » 1 AoflE 3 BRp= 114] 2020f =2Fsto] 114] 25&°] &
itk 2 3 7HlE SYolle (W) & etk 3 adnitt
37} 30% ST,

Ve

A 1 through 2 by 3 for/during

B 1 haven’t eaten since breakfast
2 be at the bus station by 9
3 The festival continues until Friday.

C 1 didn’t eat anything for five days
2 should complete the report by next Friday
3 be quiet during the movie

D » Example answers
1 continues for two weeks
2 lasts from October 1to October 14
I 3 been held since 2003 I

sH& » 1 (all) through his life 12| T SOt 2 by= RtREl= AlRFS LIEH
LHCE by eleven oclock 1AIZIX| 3 for@t during ‘~S9QF, ‘~Z0i'e| £0|
X2t for= Tor + A KR 2K} 7|22 R, duringS during + A} AtL2
2 mEstot

34 » 1 sincels ~O2fR'0] o2 AJRIEH AIHOIMEE ALsls %S
A

LIEPACY, since breakfast OF&! AlA} 8 2= 2 at the bus station H

HEZ0fl / by 9 OAIZEX| 3 until Friday 2 7tX|

B4 » 1 U o} AN} B 2 ok Wglol, 2 WA AR 9
A oA, 3 2AE 2adr AL,

C

siA » 1 T SOk for five days / OFRAE HHX| LUCE didn't eat
anything (= ate nothing) 2 CHZ & ZRYUIKI: by next Friday 3 Fat7t
A= S9L during the movie

D

SilA » 1 for two weeks 25 St 2 from October 1 to October 14 10 1
QUSE] 10" 147X 3 It has been held (2740 €24 2T} 12 festivalS
7t21Z1ct, / since 2003 20034 0|24

a4 » A]108] e ofelzt ot Z)

109 12 - 109 14

obzelz} ot FA 200340l A8 AlkEigict
12AL 27 59 ASEE 2 142 109 1958 109 1497}
A A&ET 3 7S 20035 Dol gk

( 3\
: A 1Go 2 turn 3 follow 4 take !
B go straight / turn right
C 1 follow this street
2 Which exit should | take
3 Turn left at the corner
D » Example answers
1 Go straight one block.
2 Go past /turn left
i 3 Follow Broadway. i
— J
A

514 » 1 go straight Z 7iC}, ZIXISICH / down this street 0| Z1E w2} LY
2|7k / to the corner ZE0|7IX| 2 as soon as ~&lXHIEXL / pass the
school StE X|LCH / turn left Z3|FGHCE &IZ0 2 =Lt 3 anything we
can follow 2|7} mhat 2 4= U= o A / as a sign EX|ZA] 4 get to
the post office =0l =E5ICH / which exit should | take = EFE
EfSHOF SH=X|

a4 e 1 o] A& wel o7 & Ulrile. 2 SuE Ay

Aok} ASlsA L, 8 S-ei7h EAIR wheh 2 4 gl ofd o]
ABUA? 4 ATl FhelR o 75 dislof sha? (A
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of 7t o=
B

s » around here O] ZX{0fl, O] 2201l / not far from here 047|Al HX|
42 / to the end of this block 0| &5 &7IX| / turn right $3|H™stCt /
Then 1241 LEA, 11 CH20] / walk straight 2% Z0{7}Ct

T2 Yok 5h&?)

s » AL o] 2ol wo] uzt?
B o, o}7] A @A] @R Stof] sht glof s
A: A7)7F oy 22
B: &, o] B2 /X 2% MM 22Z0R BA8. 1
thgoll 3 &5 24 do7hAla.

sifA » 1 0] ZS w2t 7ICk follow this street / Ml £Z(three blocks): 2%t
Ol three blocks7t HXIAIS| =2 Ql0| HHEC 2 RAXE M0l= Aol 7
olstet 2 for City Hall (AIEH2ZE 712{H) = to get to City Hall / 0= &7

2 LI7H0F SHLER?: Which exit should | take? 3 2S0|0flAf: at the corner

/ 2120 2 ZO0LAf: turn left, and / ZIRISIMIL: go straight (up)

D

A » 1 Go straight one block (§t 22 ZIZISICH): one block0| EAXZ
&?J HJ0ICE, / It's on your right, 242 @220 Q/Ct 2 Go past ~: ~
2 XLZtME 3 Follow ~: ~& 2t ZIMIR / It's the end of it: Q| it2
BroadwayZ 7t2|7|1, 2| it2 bookstoreE 7t2|ZICt.

a2 » 1 3 25 HletAl8. 132 Zo] Q5 2 A
=2 AUA|L., 3 EF A4 4@1% OP\ﬂJ‘l 3 Broadway=
wre} 7R AL 1 Eof Ut

O EeeSS———— N\
|
A 1 next 2 3across 3 between 4 on

B next to the post office £& opposite[across from]
the hotel

C 1 It’s down this street about two blocks.
2 Go straight up to the gas station on the corner.

a4 » 1 next to ~: ~2| Hofl 2 across from ~: ~2| A2H0| 3 I've
heard + &: ~211 EIC}, ~2t1 32| / the hotel's: the hotel ise] !
3t / between A and B: A2} B AfO[0l 4 Then turn left: 21 CH20]| 5|7
SIMIR / on the left side: 212 Hoj|

6 | Answer key

3 The mailbox is across the street. I

B4 > 1 2 A glof glole, 2 PC e 2 grewo] 9)
da. 37 5de 4 am =) B4 Aolel ek A, 4 2%

sH& » How do | get to ~7?: ~0f 7}2{H {EA| sHLIR? ~0ff {EA 7t&?
/ from here: 071X / Go to ~: ~Z JIMIR. / And then?: 11 CISUH=R7?
/ Walk along ~: ~Z [j2} Z0o{7tMIL / on your right 22Z%0]|

atiad » Al AR T o714 B ol Zhw o g A shtba?
B: HYR? Apple Street2 7FAA -3 H5HA Q.
Al AR O tEo=8?
B: Apple StreetE whe} Zoj7b 2E2Z0) 9IS AdQ. ¢
A= Fofl 2lola, (&d HdyHe| 9lofa)
Al RS

C

14 » 1 & 22 MT : about two blocks 2 2S00 U= FRA! the
gas station on the corner / ~7tX| & 22P7IML: Go straight up to ~ 3

2 Aofl: across the street

Il A1b 2d 3e 4c 5a i

B 1 the dentist’s next Friday
2 gym this morning
3 across from each other
4 is between Bill’s and John’s houses[John’s and
Bill’s houses]

C 1 Don’t hit below the belt.
2 came out from under the fence
3 is standing next to Santa
4 | jumped out of bed.
5 The puppy walked through the tunnel.

D 1 above — over
2 along — past
3 ERIAgS

4 through 2toll Az} Az QLo{oF SiCt.

E 1 across/up 2onfin]/up 3 between
4 going 5take 6get 7up

F 1 takes place on the last Wednesday in August
2 At 11 a.m. they /into the air
3 starts the tomato throwing from then



i 4 squash the tomato before throwing it i
\ /

>

54 » 1 8,850 meters above sea level i 8, 8500|Ef 2 on the floor OF
2 2ofl, Ht=bofl 3 During the show A2 Sh= SQt 4 foryears @ EH =
Ot for ages (= for so long, for a long time) Q2=
0 / along the road Z2 2t

ot 5inarow 2 X|

S1% B850VIERL 2 vistel 517k 91 8 3
EER

At 4 e

Qo] B2 dek o Aol A Sk

104 mln

5 » 1 on October 12 108 12&d0f| / I'm going to the dentist's next
Friday. Lt= CS 2Q%0f| X|atofl Z Z0ICt 2 at 9 today 25 9Al0f /
this morning @= OF2l0l 3 opposite each other AMZ9| Htr{mof =
across from each other 22| 7L4HO| 4 next to Jane's house X212
Z! Fofl / between Bill's and John's houses Z&2| &z}t &lo| & ALo]of|

si4 > 1 AFS 109 59 Faolk, th 109 1299] 3k o4
of gek. — b= Tk % FaYe] Aol 2 ol 2 vhe 03
9Ao] Aol Ztek, — L 935 obd AT Zith 3 A
o A= i) A glgleh — A5 A= Adgel A it
4 22 Je Aol A ol ik, Alele] Fe we] 4 ol ek
— Aole] e 2] [zt wel A Aole] gk

C

sH& » 1 below ~ELCt 0f2Ho|, hit below the belt ZI: &{2|| Of2HE X|Ct

olot: ok mi2|ch MEYES SHX| Lt HIGHIA]GHA SiCh XIAGHA
SiCH 2 from under ‘~ ORHZEE{2t= 529| 0|F HX|ALO|CE cf. out from
under: Y7|[ZX[]12 HOLIA 3 next to ~ ~ FHol|, is standing next to
Santa: AtEF 0l A UTH 4 out of ~ ~2 2Ol HISZ, ~0f|A] EHO{LEA,
jumped out of ~ ~Of|A FHXLIZC 5 through ~2 E1t5tH, walked
through the tunnel: ZO{A E{ES EnSiCt

aiA > 1 oS wi=fA] vk [(HAREEsH 8. / R =
A ok / A4S 81 ok] 2 A7 S Ue vtk 3 A
5ol AteR dofl A gk 4 v Al A AU 5 17
oMl dojA BHd& S

D

sH& » 1 22 Herte 9lojQ] MX|AM= overO|Ct put a blanket over ~

2ol HRE UL 2 hurried past them 254 2SS XILIZICH /
without stopping EZ=X| &1 3 There must be ~ E2I210| ~7} US A
0ICt / something in common &% / among the triplets MI*&S0[ AtO[of]
= 4 Fspt 2 ARH E AZIK] §SECh= 20|22 through 20l B3t
AIZEE AIZHO] Qlofof BiCt &, ‘T Hsh= SAIRE NAIMIX| St '2tn ot
CtH The movie lasts eight through eleven. . x& AOF 2Lt

)

Si41 > 1 1 AT 9l op7] Slo] $RE Witk 2 Tk WA
T Fo 15 Ateh 3 APEel Aolel: Buglel 3
E40] 9l Aoltk. 4 34 F=

E

54 » 1 across the street Z 7140l 2 onlin] Pine Street Pine Streetoi|
3 between the two restaurants & Al AHO[0| 4 Keep going straight 7|
£ XIXISICE / turn left ZF8|1MSICH B youre going the wrong way L ZS
2 7t 0] / 1'll take the next one. LS &7E E4EH 7{OF one exits
7t21ZIct 6 follows= (Z2) matztchk= 2njo|ct, / to get to the town O+
off ==k5t2{™ 7 two blocks up & 22 20l & =5 {10l

atiad v 1 AL FFRIE7] o &Y
B 4 24 gloja, /4 SZ Sloj g,
2A: 7P 7Pk WA AR & 7FEA AL,
B: Pine Streeto]] 15Ut} / Pine Street $1Z0f ¢l<5Uth
3 A: o] 910l Bold Yeri7l?
B: 5 Al Afolo] gl
aA: BRA7L ofT] Slota?
B: A4 Ak} e RahA R,
5414 A& % 4 9 A e,
B 7% $Hol 0he 275 € Aok
6 A: U}-2of =2l o] % wtefzhof s4x]7
B: 8ok ujeprk
7A: o] 2 uhe} vheizbe FER el
B: oh}, % BE gjzolof

F

A » 1 8¢ OX|ZH F £220i|: on the last Wednesday in August 2 2
T Aol At 11 am. / ~2 SE2E £L0F send ~ into the air 3 1M
Ef: from then 4 ~& EIX|7| Foi|: before throwing ~ / ~2 270} Stk
You must squash ~

O N\
''A1for 2of 3 with 1

B 1 | can’t sleep for the heat.
2 She’s been at home with a bad cold.
3 He died of stomach cancer.

C 1 itrained a lot because of the typhoon
2 was shocked at Ron’s high score
3 His teacher punished him for lying.
4 eyes were shining with happiness

D » Example answers
1 is blocked due to snow

Answerkey |7



I 2 |ooked tired from shopping I

5l » 1 Thank you for ~. ~0fl CH3H ZHAFEHLICE ~&l =AM D2&Lct
2 die of ~ (~2 =L, ~ 20l =Ch): "die of + HH,, "die from+ 12, £
A 502 FESP I SHXIEE QME FZ ofE £LC} 3 was trembling with
~ (~ 20 1 UACH: K7|M withis 20|t S o| oIS LIEHACE
aiA » 1 ThEjof] oF =4 IaksUTE 2 Zdof

e AREC] Gt BUA? 3 5L T

54 » 1 can't sleep for the heat E9| 20| ’“% 2 Xt 2 She's been
at home = Zofl URAUCE / with a bad cold 2 tf20f 3 died of ~
~ 92 =IC} / stomach cancer &t

si41 > 1 Uhe El9] wel] 2 % Ak 2 i S7F g
ol Agie 8 1k gigro @ Fick

C

siA » 1 EfE2Z QI5H: because of the typhoon / H|Z7} B0| tCE: it
rained a lot 2 ~0f ZAS YRACE was shocked at ~ 3 27t ARELS
SHA HE FUCk punished him for lying / for= FX|ALO|22 fore| %104
2AM HAFRHO| 2of ST Mtk SAL lieE SHAL FENQ! lying2 2 HH =
ol F=olstct 4 ~oZ HIRIZ2| T QUACE were shining with ~

D

5ifA » 1 The road is blocked =27} 2ZiCt / due to ~ ~ MZ0{ / due
to snow = =0 2 looked tired from ~ ~ MH20f| m|Z5 2Lt

54> 1 E27} i el BETh 2 1 o} miUi s
28 mgick

I'd
A 1in—by 2 through— with
4 by — through

3 with — by

B 1 Have you ever traveled by ship?
2 Teenagers learn a lot of things through
experience.
3 By using the Internet you can do your shopping
from home.

C 1 They made a living by playing music.
2 He wiped his eyes with his hand.

8 | Answerkey

3 You can reserve the tickets by phone.

D » Example answers
1 learning English through pop songs
i 2 stirring the egg with a fork i

1A » 1 by mail RECZ, HIYZ 2. with a tissue E|&Z2 3 by force
oz FHozZ ZNZ 4. through an interpreter

ot

siat s 1 B SHO R By SelAiauth 2 dnki e o
2 Ageh 3 a2k AAR B At 4 L BoALE Ba) 1
S olor|a 4= 9lic

B

514 » 1 Have you ever TPHEAL ~ ~3lf 22X QI0{? / by ship HIE 2
through experience Z&2 Sali 3 By using the Internet IELIS AtSE!
O ZM / do your shopping &2 Erf, £ZZ STt/ from home TOf|A]

m]o
of
:(I)L

ol
=

1 U w2 ofy

2 gol? 2 45 4
s e, 3 e

198 A0 ZA ol 4

r[o _|_>L

E o
HJFI

A osg

slE » 1 7H2I0flM: on the streets / 222 HFRISZM: by playing music
/ MEBH|ZE HUCE made a living 2 222 with his hand XI7| £2 Ht
Ck wiped his eyes 3 FslZ: by phone / S O|OfSICE reserve the
tickets — You can reserve the tickets by phone.

D

a1 » 1 through pop songs E&S S8l 2 stir the egg ©ZFE ALt /
with a fork ZI 2

1 70 B2 o) QI8 e gk 2 Ik =aw

T \
''A1from 2in 3 except

B 1 The Statue of Liberty is made of copper.
2 We met a boy from England named
3 clear everything from your desk except your
pencils

C 1 She looks very pretty in her uniform.
2 js made from eggs and oil



3 Despite[ln spite of] the hot weather, we enjoyed
our vacation.

D » Example answers
1 a machine for cleaning
i 2 are sold out except for purple i

A » 1 ‘EX'E LEIHHE from0|H ‘~2ZE2E{2h= S£0|C}, from all over
the world X MIAIZEE] L2 2 in a blue suit T2t HES 11 Ql= 3
o

=
excepte ‘~2 M|Q|5H1’2| S=0|Ct except on Sundays YRS HM*lst

sia > 1 Aol T A AAREE e WIS mer) oo
2= A A SEANE Ber 2 TUE Bk ARE AT
gk, 3 1 PlE 2ade Agsls 4 oARE AY 54
74 e,

B

sli& » 1 is made of copper 2|2 HEFLCE 2 a boy from England &
2O & AE / named Harry si2letn £2l=, sh2leta st= 3 clear
everything from your desk Ul &AM ZE XS X|92t / except your
pencils 4| HES2 b7

SA > 1 AR oAl TRl grEolzth 2 el sheleka
She ol £ A4S Wit 8 oAl AN ABET W3
o oA,

C

shE » 1 Jd= XMES Y27k in her uniform / OF O|E8CH [OF Ot
HOICH: looks very pretty 2 AZtnt 7|59 2 THECE is made from eggs
and oil 3 M7} HY=HIE: Despite the hot weather Q2= 712 &3

Lt we enjoyed our vacation,

D

54 » 1 a machine for cleaning 27| (=a cleaning machine) 2 are
sold out Ct ZHCt / except for purple AIRLS X|2l5tD

SA > 1 RS ool 2 AU Ajstus BE Mol

(

A 1 as—like 2 Alike —Unlike 3 like —as

B 1 Not everyone thinks alike.
2 act like they are princesses

3 Unlike humans, spiders do not have

C 1 It looks as if it’s going to rain.
2 Her hair is blond like mine.
3 The book was loved by both children and adults
alike.

D » Example answers
1 look and dress alike
2 work as sandwich men

i 3 work like they own the store i

SHA » 1 TRIA} ke FAMES LIER M, as= AIZO|LL AHEQ| HEHO|L
7158 LIEME off 220} lke a book 2 Z+H2 2 adikes XA} OfLCt,
dikels HAIR MO|7{L} HEALRME 'HIRE! SHEAZ2, S88te o=z
A& o 20t MOICE Unlike its name 1 O|21H= Sf2| 3 ARIO|LE AFZ22Q)
st = 7152 UENE mfE asE #£Ct as a household cleaner 7HALS
PSED

-

s4 > 1 98te} Ao chark 2 7 o|BIte Tel, ofolauist
o} Farh 8 Fehe 7hbg AAE 29 4 gk

B

514 » 1 Not everyone (2E AI0| ~6t= 4 OtL|CH: RELEX0| 75
0l|Ct, / thinks alike 50| MZtSICH 2 act like they are princesses (15
0 352! ZxH HSICH): K7|A like= HXIAZL OfL2t FLALO|C B

Ab Fofl= ®o| 2}, 3 Unlike humans 217t} =2

siA > 1 B Abo] Hbo] Azste AL ofyrh. 2 o 4
2 AlEl Y AAY Aestth 3 3t gE, Avle 2

ok A7} gl

C

sHA » 1~ Z ZCk Mook as if + &, = Mook like + &, 2 L H2|XZ
(ike my hair): my hair= hair®| BH2 A2 T[5t7| $f5H mineol2tz & 4=
T oot 3 DIEEXIZ, “EZol'e] S0l HAt alke S AMSSICL

D

314 » 1 look and dress alike 47! A= 210 2 A= ZCH 2 work as
sandwich men MEQ|X|IHO 2 AFICH 3 work like ~ (= work as if ~) ~

RIPAVS =

sA > 1 L o5 A
HEYAWe R A}, 3 L

Answerkey | Q



Vg N\
''A1on  2over 3 about
B 1 He spoke at a conference on global warming.
2 Most people did not know about rap music.
3 | know of her, but | don’t know her personality.
C 1 What’s he talking about?
2 I’'m sorry to hear about your accident.
3 He attended a seminar on the subject.
D » Example answers
1 sad to hear of the crash
i 2 have a test on irregular verbs i
—— J

5H4 » 1 on that subject 1 FX|0fl CH3H 2 an argument over the matter
11 2H[0fl cHst =X 3 about modern history SICHAROH| CHaH
sHAd F7F 1 FAe el % ﬁ% B}A]?

M 4 2 11 FAR =0l
& 7 ok 3 Eiate] dish gx

g

ol

32

B

& » 1 on global warming XIT-2t5toll T 2 know about rap music
2 Soto)| ek LTt 3 know about ~ ~0f sl UL} / know of ~of
A ZHERoZ UCt / know ~2 UL}

84 > 1 2 ol SjolollA] - extsiol el W), 2 oy
o) AlFEE Y Sotol e ] FHT. 3 Uhs o] Tal &
71 sje o] 478 mer

C

A » 1 ~0fl i3 Ol0f7ISICE talk about ~ 2 ~& E7| =0 KL
Ck: I'm sorry to hear about ~ 3 21 FA|of| 2+t MiO|Lt: a seminar on the
subject

D

541 » 1 hear about ~0il ZHlA (MMt 0[0F7|- X2 S58) ELC} / heal

of (AR 522) ~0f| CHsll =L} / | was so sad to hear of ~ ~2 E1 g
HCE 2 atest on ~: ~0f| B AR

)

aiA > 1 Ui 2 35 Akl diel 3L 4 SEh 2 54913

Abefl g Alglo] Sl AYyth

10 | Answer key

Ve

A 1than—over 2than—to 3 salzge

B 1 This album is better than that.
2 He is two years younger than me[l am].
3 She likes a good book better than a movie.

C 1 Nothing is stronger than habit.
2 Americans prefer coffee to tea.
3 They had an argument over money.

D » Example answers
1 s superior to mine
i 2 more people than | (had) expected i

a4 » 1 over ~HLC} EO{L}, ~ELC} &2 / over the other candidates C}
2 SEXSECHEHOLIAM 2 be senior to ~ ~ELC}H (RIQ]7)) Llo|ct, ~ECt
Lto|7} =Lt 3 prefer A to B AZLH BE Z0}5|Ct

8141 » 1 U T2 FRASHT Holhx AdET, 2 1
urh ) B8 A9 o F Ao gtk 3 i EANG Am=E
o Folgi}

B

a4 » 1 is superior to ~ = is better than ~ ~EC} {Ct 2 two years
junior to ~ = two years younger than ~ ~=C} & A 0f2{2l 3 prefer A
to B = like A better than B

S41» 1 o] WS AREC Frh 2 Ik ek F A ofefolth
3 T gshurt S o Fokleh

C

Al » 1 ~HCH 25 242 QiCk Nothing is stronger than ~ 2 XHELCH 74
o2 o Z0}8k prefer coffee to tea 3 ~ (2M)2 CHERJUCE had an

argument over ~

D

5H4A » 1 is superior to ~ ~HELC} FO{LICH ~EC} WCH 2 more people
than | (had) expected LH7} AZIHE Z42CH 2 ARRIS

siA > 1 U] FFEZE O 2t vheh 2 Wk Az
FSol wleh

At A}



(

A 1 within 2 later

B 1 She returned several weeks later.
2 Ask me again in three days.
3 Goods will be sent within 24 hours of your order.

C 1 We can’t get there in three hours.
2 You should receive a reply within seven days.
3 A few years later, | started wearing glasses.

D » Example answers
1 take the math test within a day
2 Mom’s birthday is in two days.

i 3 School begins a week later. i

SHA » 1 within a year & A LHO|| 2 after= S0l AlZF ®540| 210, later=
Qofl A|ZH 0| 2C}, 3 after graduating from high school 158t &€}

o

a4 > 1 9 A Well 47 F 7k Heigieh, 2 1k 19E 34
o thl Wtk 3 U TSk &Y F FaAusle] Sol

2

B

SHA » 1 latere= 20l A|ZH ES10| 2L}, several weeks later 2 F S0 2
in three days AFE 20f| 3 within 24 hours 24A|Zt 2toj|

a4 » 1 v B F SOl Eoktth 2 ARS Fofl oA LR
o] ¥ 3 FSHAIY 2441%F qtofl 3ol widE APy

C

54 » 1 3AIZH 2Hofl: in three hours 2 7 O|LHOi|: within seven days / &
e 2| 2 ZLICE You should receive a reply (= You will be received a
reply) 3 E & 5: afew years later

D
a4 » 1 within a day FR= @t £/0] 2 in two days 0|E =0{ 3 a week
later 2 20

SA1 > 1 U SFRE oF slof 481 APS 1A B Ack 2 g}

olo] o} Fof. 3 A% Fof Aol

3 after 1

Vd
! A 11In/see
4 has long

2 are looking at
5 on the floor

3 is wearing !

B (In the picture,) There are three boys /
They are wearing jogging suits /
they are looking at a game machine

C 1 This picture shows a UFO
2 On the right side / a boy riding a bicycle
i 3 The girl has short hair and is wearing glasses. I

a4 » 1 In the picture, you can see: 1=/ALRI0| ~0] E2IC} 2 look at
~: ~& B} / each other (MZ): each other= TX|AL ate] 2H0{Z MOI
HAKS 0f720ICt 3 is wearing ~: ~2 211 QICt 4 has long hair: 2|7}
2ct 5 A cat is lying on the floor. (k0| &t Of2|7} Hi=tol| =9 QUCE):
lying2 lie(ELH2| SXHEALOICE on the floor HIEO]|

sl » 1 2ol] QI A7) BRlek 2 Rl A AR At
B Qeh 3 k0l Z2M S L Qlrh 4 v w4
ok 5 3%l g mpe|7t npRe] ¢ Tk

B

514 » What do you see ~?: ~7} H04? / There are ~: ~(ZS)0| UCt
4 » A2 1800 W7} Wof?

D (A”olls) FA o Eol Al Gl
CdE E YA glef?

D272 g g
DR SR gl 3 ol
AYRZIE B e A A2,

@WE®EE R
~D

C

A » 1 0] O ~2 ENHZECE this picture shows ~ / 5t=
=: flying in the sky 2 2ZZ20{|: on the right side / ~0| EQIC}: you can
see ~ 3 1 A= ME|7t WLk the girl has short hair / 4SS 7|2 U

Ck is wearing glasses

[
=AU

o

T R————— N\
I A 1 weighs 2 colorful 3 convenient !

4 allows

Answer key | 11



B enables you to sleep well

C 1 |t’s useful for keeping your bananas fresh.
2 Enjoy long-lasting charging power for your
cellphone.
3 It enables you to speak in English.

D » Example answers
1 9.5 inches tall and 7.31 inches wide
2 less than an inch deep
i 3 have to choose[select] the color and model I

S » 1 weight 27| / weigh 2AI7F ~ LIZICEH 2 rainbowzh= 20] /S
o2 oloj4t colorfulo] 25tCt 3 easy to carry(ZHK| CiL|7| £/2)0[2H=
20| Yoo 2 ojojA convenient(Ea|H7t LBICE / inconvenient SHSt
4 This allows you to ~: 0|2 ~&tA| slf &Lt / turn off ~: ~= TICt

4 > 1 RS FA7F 100gde] oF BUTh 2 DAL
12mmA2] ThFer AlAbe] SRU R4 F Zekae g
BolqlUt}, 3 e Welskn AT thi7] 45Ut 4 of
AL Aok el 4AS 7ol Ak & AL ¥XX 9 ) &

ek,
B

S » I'm looking for ~: L= ~& &1 JUELICEH / How about ~7: ~2
OH{E&L7I? / make too much noise LT 2 A2S WL HE Al112R
AZ|Z LHCt / enable ~5HA| ST

aiiAl » A: ZEtAE USB glaasdle 250 gledla,
B: oA oEHU7t?
A 7 g0l YR A 94te?
B: 2e)7t gAe GANE of 28l e, 1 ezt e
<2 A & &
Al Fola, OA AAle,

C

SHA » 1 FAIO| HILILIE AIMGHA| E2SICH: keep your banana fresh /21
A ~5te O RE36ICE It's useful for ~ 2 22 7h= SFE: long-
lasting charging power / ~& &7 EMIR: enjoy ~ 3 JA2 0| ~

& 4 Q7| 8l &L it enables you to ~

D

54 » 1 9.5 inches tall and 7.31 inches wide: %07} 9.521X|0|2 Z0|
7.31QIX|21 2 less than an inch 121X|7} OF Zl= 3 If you buy it: AFA|Z A
o

Al 7]

12 | Answer key

=0]: 950 Q1%
Z: 731 9%
Zlo]: 0.37 217
L) 144 vhes
A A Ao

2 gjojsto], efojato] + Hs}]

1 2 Al =07k 958170l 0] 7311X YY), 2 13l 7
o7} 11A7F ¢F HUth, 3 IAS ARAL Ao AT HEls
Agistaof gt

TEST 2 UNIT 10~18
- Im——— .
H A 1 about 2 despite 3 tohavealunch }

4 dueto 5 Afterafew days

B1d 2a 3e 4c 5b

C 1 He died from the car accident.
2 The garden looked like a jungle.
3 | heard about it through a friend.
4 How about staying with us?
5 My father works every day except Sunday.

D 1 Alike —Like 2 of —from
4 write — write with

3 at — for
5 as like — as

E 1 running shoes for girls
2 has various colors
3 wear them all seasons

F example answers
1 He is 10 years senior to me.
2 chat by sending texts
3 many things in common despite[in spite of] our
age difference
4 come to Korea next Friday, and we will meet a

week later
i 5 | think P’ll jump for joy that day. J
A

54 » 1 a book on ~ = a book about ~ ~0f Zst 2 2 in spite of ~

= despite ~ ~0= 7511, ~2 FAlot 3 for lunch Ta! Heel 4
because of ~ = due to ~ ~ MZ0 5 after= Fl0ll AlZt E30| 21,
latere= 0l A2+ ES0| 2Ct A few days later = After a few days HE £
ofl



a4 > 1 Lhe Boldlelrt A5l Bt AL gl 2 15 w
£ 9 A8 AL S0l ek 3 1L A4 sloet 7}
Sl ek 4 S uho] g vgr)h vlge] FAEUL, 5

M3 o 19 sk 71 o]uﬂO] o wur}

54 » 1 made of ~ (~2 2 THECL): ME7t =0l 20 & 4= US 0 L0k
made from ~2 27} =0l EO0|X| LS uf £t 2 work longer than ~
~HC} @2 Ysict 3 junior to me by six years LIECH 6441 4 of2iol 4
within ten minutes 102 2t 5 Rosie Miller from Stratford AESEZE

Eblo| 22x| Uy

st » 1 L 7] AERIEA Fo R ghsolinh 2 WAk ol
He e deith 3 = vk oA A ofFfoltt. 4 b
108% o Ho] =23}, 5 ~EHERZE F419] 294 L7t
CRisies

(@]

i

ol

A » 1 died from the car accident At Af2 =L} cf. died of cancer
foz =QICH 2 looked like ~ ~&& HCH 3 heard about ~ ~0f C{
E9ICt / through a friend IS E8AM 4 How about ~ing with us?
|3t ~St= Al off? 5 except Sunday LLYUS MIQlSt

2 0o

40
u

afid > 1 2 2 AR F9leh 2 1 % %_% WY Wtk 3
e 7S B9 5] s STk 4 SIS gl A ofuf?
o]"ﬂxll‘ el gele Xﬂﬂﬁ]—j’_ Ha‘ E]g]_ 1:]—

D

A » 1 alkes AMEZSZTH MOICE onjy XtHAZIR EXO| Z|2H
‘Like other people, ~" ‘1= CIE AMZEXME AMlES SAISICETL Zlo{oF
SICE 2 suffered from ~ ~2 IES YTt 3 be sorry for ~ ~ LH20]|
[Zo|ct 4 WS K| M= 20|22 write Tl ETFE LIEHE TRIAL
with7t S0{7t0} St} 5 work as an editor HEXIZ STt

Al » 1 Tl TR AFREEAY AMIEE SAIR 2 e AE
AR 23S Wekth 3 UE 7tk aliA vigkel, 4 U= ()
A1) & o] glol. 5 Tu= ETAbollA HARR gty

E

314 » 1 a pair of running shoes 253} &t Zi#|| / for girls A2 3
wear (2, Al, ot 52) i}, Alct ML}/ all seasons AP LHLY

S > 1 L AFS 48 LFI & Al 2 TR Az
B 3 A U A% A1E 4 e
F

si& » 1 senior to ~: ~EC} LI0|7} B+2 / LEECH 1040] E2: 10 years
senior to me 2 bys SH'S LIEHHCE 2XtE EHOZM: by sending

texts 3 despite[in spite of] ~: ~0|= 875t / R2/2| Lto| XI0|o= &
5111 despitefin spite of] our age difference / ZSH: things in common
4 Ct2 3 LYol next Friday / 23 FO0ll: a week later 5 7[i{A] &

EFITF: jump for joy

UNIT 19 [N

2 By—At 3 on—in 4 at—for !

B 1 The ambulance arrived almost at once.
2 He didn’t push her on purpose.
3 The boy became a star by chance.

C 1 There are instructions in five languages.
2 You’ll be in time if you hurry.
3 I must have deleted his email by mistake.

D » Example answers
1 was on fire from end to end
2 received a letter written in English

1A » 1 on business Z2A 2. at last OFEILY, ECI0, OX|22Z 3, in
the end OFEILH, Z=, OFX|2t0ll= 4. for ZHGHE against BCigh=

4> 1 oPHAl ARAO R 24 /T 2 Erlo] o] 1A
A a5e o Ugd 3 A7E o WRekd Aok (2% mE
Qo] T} e 7ok) 4 Vi 1 Al WAoo vitiop?

B

S » TERIA BALE HEMMCRE MXAMFEID SIXITE 25 HEMS
2E BAF2tD Stk 1. "R + SAH BAFLS olE&Q 2 SiCh The
ambulance (Z01) + arrived (SAH) + almost at once (A, at once SA|
o, ZAl 2 He (F0)+didn't push (A + her (2X{04) +on purpose (&
AR, on purpose 1O|2, Y22 3 The boy (F0) +became (SAH+a
star (204) + by chance (A, by chance 23]

aiA » 1 FEAE A9 Al =2 2 2 IHE 192 Y
A= Qkokrh 3 71 AWe $o3] AE} Edh
C

si1Ad » 1 57 HO{E =l in five languages / ~0| QICk There are ~ 2 4|
7b MS23: it you hurry / Azl %% 4 UE Z0ICk: You'll be in time 3
A2 by mistake / LH7F ~St Al EEIRICE | must have + THEA}

D

5HA » 1 was on fire 20| Ef JURUC} / from end to end Z0ilA Z7IX]
2 written in English J0o{2 MQ1

Answerkey | 13



atiAl > 1 Ll ZollA] B2 Eoll BlaL Qlqleh (T vl B
Eofl Bl QI8itt) 2 1= QGolE 291 HAE Wkt
EXERCISES
S N\
! A 1 Accordingto 2 Instead of 3 ahead of 1
4 thanks to

B 1 always arrives at school ahead of the school
bus
2 met a lot of nice people thanks to you
3 Why don’t you take a subway instead of a taxi?

C 1 always did everything according to the rules
2 a week ahead of schedule
3 was due to word-of-mouth

D » Example answers
1 the stairs instead of taking an elevator
2 was owing[due] to sleepy drivers

54 » 1 according to ~: ~0i =M, ~0f M2} owing to ~: ~ Z20]
2 ahead of ~: ~9| Y0ll, ~ Y2, ~HLt YA, ~EECt HX] instead of
~: ~ [210f| say nothing O} S X[ 2Lt 3 due to ~: ~ I 4
according to ~: ~0f =M, ~0f| w2} thanks to ~: ~ S0

a4t » 1 2HE] SfshA T 2 Fepuck dkg ofelolch 28
7Hg s w2t Al ob we sk vkt 3
Fruck o itk 4 U T ubt R A 32 4

xo O o

W o

& » 1 arrive at ~: ~0f| =Et5IC} ahead of the school bus &t HAE
Ct MX 2 a lot of nice people 2 £2 AIZIS thanks to you Ul EHE20f|
3 Why don't you ~7?: ~&tX| 22i?, ~5h= Al Ofif? take a subway X[t
ZZ Efct instead of ~: ~ CiAlof|

sAl > 1 T QAL Bh m2anct WA shame] E3 2 U
Yl o] 2L ARRES ol uhdrh 3 @A) thalel] A5

ERA] Z22?

tle rlr

(@)

mir

54 » 1 72l0]| W2k according to the rules 2 LFELCH AFAUS UM =
a week ahead of schedule 3 due to ~: ~ [20], ~2| 0|FZ / YUA

IH20|2ACk was due to word—of—mouth

HO

14 | Answerkey

D

ai1Ad » 1 instead of ~: ~ CHAIOf| instead of taking an elevator (Z2|tH|0|E
£ Ete tidlofl): MXIAL CHSolle FAFH0| 2f0F Sl22 of TS0 SHA
taking0| MLt instead of take an elevator (X) 2 owing to ~ (= due to

~): ~ WHEQL ~ofl 71215k

5141 » 1 L Aefilo]el S eh thalo] ARhe do] gekic). 2
O AbE B S BRolglet (1 Afark 2 AL E9b7] o

ol Yoltet)

=
S

I'd
|

A 1in 2 with 3 from

B 1 Heis bad at spelling words.
2 |t is important to look after your eyes.
3 Pay attention to the gap between the platform
and

C 1 laughs at his accent
2 can always depend on me
3 is full of energy

D » Example answers
1 waiting for the mail to arrive
i 2 isworried about his phone bill i

314 » 1 There has been ~ (~0| Q0| ACH: Szt F20ICt an
increase in ~: ~0|A2] &7} deaths from cancer 42 2 QI5t Al 2 be
=2 =

familiar with ~: ~0i| 2l=stct, ~0f| El=stct 3 graduate from ~: ~& &
ASICH in February 220l

aiA > 1 PO QIRE APgo] S7bsl itk 2 v vl 28] o
S| GFYITh 8 ofolg 2490l 2E8E SYTT

B

sH& » 1 be bad at ~: ~& HSIK| Rt 2 It ~ toFFAL 1t0] 74304,
to 0[53F7F X021 L20|Ct, look after ~& =ELCH 3 pay attention to ~:
~0f 2|2 7|20|C} the gap between ~: ~ Ato|o] 7+

SiA > 1 1k S 2K Bk (2 B ofslth) 2%
o ERE AL Fasith 3 57 e Atolo] 7o) ol
e,



C

ailA » 1 ~Z H|RLCE laugh at ~ / nobody= B4 £Z S22 laugholl
-2 0 laughs2 &ljo} stct, 2 ~2 L= EICE You can depend on
~ [ depend on ~: ~& 9|X|GIC}, ~O0f 2|&stCt 3 E7|7t EXICE be full

of energy

D

SH& » 1 wait for ~: ~& 7|Ct2|C} wait for ~
2 be worried about ~: ~0f CHaH ZIH™StCt

to — ~7} —51712 7|ct2|ct

i > 1 % T B BAS1E Jekeln i 2 4
23 HFAE B Agekn 9k

ik

rlo

UNIT 22 EXERCISES

'A1in 2o0n 3At !

B 1 The festival lasted a week.
2 | don’t want you to talk that way.
3 Ask me each time you have questions.

C 1 spends all her free time (in) painting
2 got here the day before yesterday
3 have a hard time (in) talking to my dad

D » Example answers
1 ate too much yesterday
i 2 has been sick three days i

si& » 1 be busy (in) —ing ~5H=2} HHHELC} at a crosswalk ZTHE Z0HA

2 2 Ao|M on=S M2t M= A7t Lt (on) Saturday afternoon E

U 2350 for lunch Hal HoB{ 3 all, every, next, last, this, one, each,

some, what CHZ0ll AlZH BAZH 2 Mol TXIALE MaFgh 4~ QUL

4 > 1 2l AlgEo] Pehd wollA] Auzheetn vpac ojel:
Aol vhi TR =2 Avria 9l 2 EQY 3o HA

Wog) o1 27 34 B A Bl 7lof st

SH& » 1 lasted a week (IR SOt AISE|UCH: a week= for a week0i|A
fors *HE*6}01 2 Aolct, 2 WHE LIEHE in2 M2k 2 QICE in that
wayOfl A in 2k5t04 £ Zdo|ct. 3 each CHSO AlZE HAPLE 2 wioll=

= AH
o=
HRIALS A %E* 4= I} in each time = at each timeOf|lA] in/atS Al2f

5104 £ Z0|C}, each time O, ~&t mjotct

S8 > 1 FAE 172 S AL 2 L vk 1)1 Ao
W) | Hheich 3 Wio] 9 wuich Uske] Bof vt

C

silA » 1 —5h= O ~2 AH|SICE spend ~ (in) —ing. 2 X7l (the day
before yesterday): the day before yesterday= TX|AF 20| FEATZ MOl
Ct 3 ~&t= 0] ECE have a hard time (in) ~ing

D

A » 1 yesterdayZ} BAMEOZ MU e MXIAE M2FSICEH eat too
much L2 0| Hot 2 7|7+2 LIEILE fors MEFsr 4 QUCt (for) three
days AFE S0t has been sick (11 QUCH): SXHRAZO| AIEX LO|CE A}

S|
= TRE XS7IK| 7% ¢x Aot Kolck

A > 1 T kel YR Bol wgrk 2 Tk ALS B9 g

olek,

UNIT 23 EXERCISES

B 1 The family visited the zoo.
2 The pilot made a slow approach to the airport
runway.
3 Lack of exercise makes people fat.

C 1 She resembles her father in appearance.
2 should do some exercise before you enter the
water
3 The national team lacks confidence.

D » Example answers
1 Will you contact me
i 2 Will you attend the graduation i

& » 1 discuss the matter (1 2A|ofl chal =2l5tct 1 2XE =2l
discuss= TRIAZ} HE Sl= EFSAO|CE “~0f CHs =2lstotatn shAfet
A7t LOtM about Z2 HX|AZE UofoF B A ZXITL EtSAIO|EZ
discuss about ~0[2t1 SFX| QH=Ct discuss about the matter (X) 2
join(~ofl 7tustet, ~oll BHFstch): 7‘1i|M7f e ¢l= EtsAtolch 3
marry(~2t Z25IChHe MRIAH 2R gl= EFSAIOIX|S SSEfZ A of
= XA ERSIC be married to ~: NEE} Assict

Answerkey | 15



atiAl > 1 U= |3] 7h5a) 1 ZAlo] tisf =) Hhel? 2 sfiwtol

deiste] AdE Bds) HAR! 3 I thE DEes vieet 2

=3,

B

SHA » 1 visite FXAP 2R Q= EFSAIOICE 2 approachs= MX|AG
ZQ gl= EFSAIOIX|Z, AL approach(BD)7t make St 20| A mi=

=
HME|AZF 25}t make an approach to ~: ~0i| H25iCt 3 lack(E =5t
CHE TRIAPZL 2R gl ESALOIXIZE BAL lack(RE, ZA0)2 MX[AZHE
35t lack of ~: ~9 BZ / lack of exerciseZ7t 0, makes7t SAf,
people2 FH0], fat2 =& Ho{2 Ml ZF0|CH

S4 > 1 T HES FRAS PEAT 2 2EAS 39 B
o US| Y2, 8 &5 o) A viskapA Wk
= wjo] AbgEel Hvslt

C

A » 1 ~E HL} (resemble): resemble TX|IAF EHR gl EHSALO]
Ct. 2 20 £0{717| Fof (before you enter water): enter= XA 2R
Ql= EFSALOICE enter into water2t K| &= Zdofl Folstct, / M=Z 5t
Ck: do some exercise / ~3&HOF STk You should ~ 3 ~0| £Zsict
(lack): lack ZXIAZHER gl= EFSALO|CE

D

54 » 1 have no vacancy gl 80| €iCt / on that day 11 2, 1 ofl
/ contact me (LISH| HZHSHCH): contact(H=HSICHE MXAE 2 g
SAOICL / if there's a cancellation A7t M7|MH 2 attend th
graduation(ZJAlof| ZHAISHCH: attend(~0i| ZAASICHE MX|APF Ze 21
EFSALOICE / I've been waiting for ~ (~& 7|Ct CH: Sixietz TS
20t 171 o= TR E SRR Al 7|k fES LE= #30ICt

mor

3

s> 1 AL e Hl o] gl
B: (GoF) 47} A7|H #3ke| ol2}s)
2 Al Y 1 H}lof I Aof?
B: E&0]%], 14 7|the] $tol.

FA R0l 2?

UNIT 24 EXERCISES

1 afterward 2 later 3 soon |

A
B See you later[soon]
C

1 Then, he fell in love with her.
2 The old men died not long after(ward).
3 The chance has come sooner than | expected.

D » Example answers
1 Two weeks later, he got the results.

16 | Answer key

2 had an operation afterward
i 3 he will get well soon

>

1 afterward (L& 0l|(=later), F{0il 2 o)) afterward= =22

A

M)

Qle EALO|EE 2 after (FOl|, LISOH): after= HE22E= £ 4 gla,
Al so

M A

=

T

on, not long, shortly S2| AL FOIATH 2L} 3 after= HE22
O'IEI- soon = rn Hlﬂ-El

irop o2

si4 > 1 el 9BhE B WA WxE wlod ugth 2 a%
& Ugo] 1 44e FH Aolth 3T AY Akbt EulE A

oF.
B

sil& » I'll say goodbye here, thenOlA then ‘1’| 20| OfL|1 ‘T,
J2{H'| S20]Ct, / See you later. (2H; LSO 2L): SI01Z! L] QIAtolC,

s > Al IR, o714 AATSHORRIE
B: 3. ygofl =

a4 » 1 2uh: then / ~2F A0l HHEXICE fall in love with ~ 2 Q2HX| 9
OF not long after EE= not long afterward 3 Li7} OlABHE! ZACE than |
expected / 2| 2L} come soon

D

Si& » m get the medical checkup 712 ZITHS Bt 1 two weeks later
2% 20| 2 have an operation &2 iCt / afterward (LIS0f|, Fofl 1
20fl): afterward= HE2 £ 4 Q= 2A0ICE 3 get well soon 2 3%
E ZdoIct, soon &2, W]

CIES I R
Fof Azt wotch 2 1
2] 3|8 =& v

ATe 1Y Nl A7 AT Wk 1 2k 25
Tol| T &S worth 3 T1vp W

U[|PTE  EXERCISES

' A1By 2untl 3in 4 at !

B How about having lunch before then?

C 1The airplane landed a half an hour ahead of
time.
2 Teens should go to bed by 12 o’clock.
3 It’s hard to get up on Monday morning.



D » Example answers
1 birthday is on July 7
2 decided to knit a scarf by her birthday

| 3willfinish the scarf a day ahead of time I

A » 1 by this time O|m{7}X|=, o|ZHofl= by this time tomorrow LY
olZtmioll= 2 until2 O HENZF ALKECT BEE= AIFEE 2o, by=
Offt SRVt A= El= AI™S YSITE 3 in time AIZHO =X| 227, AIZH 2tof|
on time MIAIZHOH|, A|ZHOl| = SE| 4 at2 ‘~0f'Q] SO = AlZE, AIE| M=
ZoIch in2 @, 2%, & AFE, Az, M7| S at2ct ZI AlZtof]l A1, on2
2, 2, EFE gl @, 220 £LCf

aiM > 1 WY ool = v dketolofl & Aok 2 11 ofolE
L olZ AR TVE & &= o], 3 $2] AFEx] ¢kod 7)a}
2 AIZE Qboll 3 4 Aok 4 oAl Ale|] Harrys Wid ], 4
Latkar o] Ze?

B

SHA » at two (F Alol): at2 “~0il'e| S22 2 A|Zf, AI™0| A= Zo|ch

B: How about ~ing: ~&H= A O{uf?, ~3IX} / have lunch HAIS 9L} /
before then (2 F0{): then2 AN L5t 1 AlZH = F AIZ 7t2/ZICh

A AL Y A= E?
B: 428 F-H ska glof.
ke Eﬁi ¥4},
7 F& Azkold|, 3t Al Agted)?
5 Aol
D7 Rl 4] A,

CU??_U}’D>

C

s » 1 302 YR a half an hour ahead of time 2 AIS2 ~af{of 5t
Ck: Teens should + SAHYS / 12A17HK[=: by 12 oclock. / ZAt2|ofl SCk:
go to bed 3 €2 OFEl0i: on Monday morning / YoiLt= 22 glsck
It's hard to get up

D

54! » 1 Drusilla’s birthday is on July 7. ZMoll= onS
to + SAFS: ~517|2 5iCt / by her birthday: 142 A4
ahead of time: 5}F Y™ SIF Fof|

2Lt 2 decide
Q77IX| 3 a day

541 » 1 Drusilla®] o] 79 7do|t}, 2 L= 49 Y A&
2 A7 E Y2 APt 3 U 9] AY o o A7)
z5 29 At

TEST 3 UNIT 19~25
pu _

I A1 by mistake
4 trouble in

2 Accordingto 3 apply for \H

5 contact with
B1d 2a 3e 4c 5b

C 1 This sample is not for sale.
2 He is ahead of his time.
3 What was her reaction to the news?
4 \We met one Thursday in November.
5 Let’s discuss ideas about the Korean wave.

D 1 by—on
2 thanks to — owing to / due to / because of
3 with — at
4 SR AU

5 with7} glofo} Sict.

E 1 Bythetime 2 untilthen 3 ahead of

i 4 from 5 by 6 on 7 afterward j

A

54 » 1 by mistake 242 / burned myself HIICH 2 according to ~:
~0f =M, ~0ofl 2I5tH 3 apply for ~: ~S AHSICE 4 have trouble in
~ing: ~ot= Ol 0282 ZiCt 5 The actor has had little contact with the
public: Stz FL20ICt ¢47|M contacts BAIO|2Z MR|AZF ZREtCt

have little contact with ~: ~2} 79| E=5X| LLC} / in recent years X2
23 3¢t

Sa > 1 U A5 mAe d2g A gtk 2 19 g
Ap] ofshe B o)A B %ol HEsla ek 3 Y vl
MR ARl 4 Jays ofebs we 47 8 Eeth 5 1
Wl 2 g ek Ao ohEt HEsix eRleh

B

54 » 1 at the same time SAl0l 2 is on the rise 0L Tt / in
China &=20AM 3 have trouble ~ing ~&t= O 022 Zi=Ct 4
instead of speaking (Ysh= CHAIO): MXIAL of CFSOl= HALE BARE of
T} LI2oF 5t2 2 instead of CHS0| SHAL speaking0| ALY, instead of
~: ~ot= iAol 5 lack (~0| ZEEICE ~0| 2E5IC ~0] ZXI=CH):
lackE FX|AF 80| A0|= EFSAtOICE

1 BA6) g% 4 S2E Hol 2 SR 4
el folk el 3 e AL Aot o oiee
Ak 4 ouleh FAAELS T S T A =k @
5 U BESAR gl g,

ol
.-E :lﬁ. ) =>=

Answerkey | 17



C

Si& » 1 for sale EHIHEQ!, THOKE ISt 2 ahead of his time 12| A|CH|
UMM, 19| AltHECH YA 3 reaction to ~: ~0f CHEH B2 4 in
November 1120f| 5 Let’s discuss ~ (~& =02Jall £X}): discuss= FIX|At
Ql0| HIZ C}S0ll SXE FI6h= EFSALO|CE / ideas about the Korean
wave St=20f chet Azt

s » 1 o] AR Hujgo] obdyrh 2 = 19 At Sk
Ak 3 7L ol tigh 19 9] vhg2 oHiY? 4 2= 1199
ol Qo] RiEt}, 6 gl gt BZb-S =2l HA)

D

54 » 1 ~ will it take to go there: it2 to go thereZ 7}2|ZICt / on foot

ZojM, EE2 2 thanks to ~= '~ H&0l'2t= 0|22 o|ojy EXtHA

22 20| =}, delay(XIH=ICHe| 0|RE LIEHH= because ofLt due to

£E= owing toZt E0{0F StCh 3 at the meeting 21 210l 4 hair

appointment M2|57|2 & 2% 5 marrye= TXIAF §10] HIZ CHSol| 2%
£ Flol= EFSALO|CE

a4l > 1 Aol A7 7he o B Bolltk ARk 2 At Al
A g0 Lok 8 71 melel 20030] A4k 4 W vjelst
712 3 o] AAoR? 5 1 &7 Al 73 oS0 AEgck

E

si& » 1 by the time (~& WZolls, ~& W7EXI=): by the time Folle &2
0| Lt2Ct 2 until then ZIH7EX| 3 ahead of time A|ZHECEH HX, A|ZHo]|
A, 7|BtHCH Xl 4 from 9 to 6 OFF AIRE| O AIK| 5 by the
middle of the week O|#1 Z& Z7IX| 6 on Thanksgiving Day (F4ZAE
ofl): E™et Holl= onS &Lt 7 afterward (I 0i|, LIS0||): afterwarde=

EEOZ 2 4l HAjolck

A » 1 AL W Alo]?
el =2kt Wi 77 B Eybelekar

B: oh, W7
2A: 5 3ok &7 ani7A W A S 2 E S Qlol?
B: T2, &gtol

3A: oA sk A (NS de 5 ST
B ]} 4 ofoFg sfjofAl.
4 Ar ERE T N ARE dof?
B: . 9AIFE 6AI7HA] Hoi,
5 A H| FubE AFolA A Fokeuf?
B: ol & Folli= Eok& 7ok
6 A | AFE2 Fegabde] B HA?
B: ddzx wof,

7 Ayl Aol that B werel?
B: oh, 1 it gl ) Biof

18 | Answer key

( )
'A1b 2a 3d 4c '
B 1 Since he didn’t have a pen, he typed it in his
phone.
2 She would never tell me what she was hiding
from me.
3 He slept until the alarm clock went off at 7 a.m.
C 1 Are you sure that he returned to his country last
week?
2 We walked, ran, and swam across the river.
3 | found the evidence but didn’t submit it to the
court.
D » Example answers
1 that his baby brother was missing
i 2 Joe found his brother i
— J
A

SHA » 1 SETAAL why?Zt 011 EOI why he left school so early= &
A2 M wondering?| SX0{ Hetg STt why he left school so early 1
7t 2 LR st E Mt 01] / 7t off 3 UM stwnE mgh=X| 2
SQTIEAL yet0] 0]11= HO! yet it works wonderfully= 42| & It's an old
camera®} CHSSH 212 O|2Lt yet it works wonderfully 12 X2t I
=2 0F 250| Eit 3 SATSAL that0] 011 HOI that | was talking
about2 HEAMEZA the funny music videoE F0O|= &2 SiCh the
funny music video that | was talking about Li7} Z5HE xHO|Qle 224 HI
Ll 4 STSAL so7t 0|11 EQl so she sat quiets 22| & She didn't
want any troublel} CHS8H ZAIE O|ZLt so she sat quiet Z12HA 1EH=

ZES| R0t AUUCE

si4 > 1 U 7b 9 a3 9% stms wiex gt
2 772 odfe shfetolnt, TRAR TS BY W 2ol
A gleh / 22 o Feletolut S uh AHFo] 2 Hrt
3 oA W7k wahel Auiol Sof ultieok 4 Tt ofd
A RISIEISEY LI U IEER Y
W UshA oot 283 oot glgich

B

54 » 1 since= REAMEE 0lTl= BLTSALOICE Since he didn't have a
pen, ~. J= HO| SiU7| Z0l| ~JUCt 2 SHTSAL what| 0]I=
AEE telle] EM0{Z HELE, tell me what she was hiding from me 214
7t LISt &7120 = AS Laith 3 until REAFES 0|11= S45TEAL0]
C}. until the alarm clock went off XIHEE A|AI7t 22! WH7EX|

i » 1 s wlo] QIl7] miel aZE Asprlel dHFch



2 Ju= Ut 713 Sl 2l A EEkA 9 Alolrh 3 1
Al AEE AAZE & 7] Sk

C

SHA » 1 that2 BAFEE 0|T1= TLALOICE be sure that ~ ~Z 2HAISHCH
2 and= STLEAIZAM walked, ran, swamO| CHSEH ZAUS LIEFHCY,
3 but2 SHTLEAIOICEL SHTEAR AZE %—i‘—"e@l 07t FHE| 01
2 ZE ER0lle B8 S4E| F0IE MEFSITE — | found the evidence

but (I) didn’t submit it to the court,

o

Si& » 1 founde| SHUZ thatEE THELL Joe found that ~. Joee= ~2
UUACEL 2 whenS 2 EAEE ZHECE When Joe found his brother, he
was eating ~. Joe7t 12| SMg UAMS mf, J= ~2 H1 JULCL

» 1 Joe= 719 op7] FAY0] glojzl A& Akt 2 Joe?) 1
AL WHRE W, I Ao 02 w45 9L 98l

,@Jgoz'-

e N\
F'A 1 (he was) quiet, and (he was) shy
2 (in) Daegu, or (in) Daejeon
3 but (Sally) had
4 an antique (chair) or modern chair

B 1 U7} ozl 7pIS 2
2 olsiY= fefsH, T2E / OltIUR SRt
3 77| 3AWIX| 74| erod
4 32 M| OfLfzt B0,

C 1 Wait and see what will happen tonight.
2 | have been there not once but several times.
3 Drink this tea, and it will keep you warm.

D » Example answers
1 or you’ll get lost
2 and she’ll call you back

i 3 orshe’ll wait for you in the rain i

[ — J
A
;H > 1 )ciE Z2= = I o} Z=0{9} Zrom

£70| Fop7h e
1|
2

| = 7 olgfel o7t 22

4n
=\=,_F

AZE|0] A 0 Bi=gl= O1TE M2FE 4~ QAT antique CH32| chairdt
Al

MEFE|A = 0{F5| chaire antiquel| $~AIS Hh=C}.

mr

B4 > 1 2 AL A9k 2gHom SEol, 2 1k A
ot | Ei Aol Gl B W Zoldk 3 sallyl o &
o 9L o] FARE SIrtel Wag wolof Ack 4 FEE %
oF def oj% % ol A2 o FolshR?

B

14 » 1 | want you to ~ L= |7} ~817|Z 5l / go and see 7t E
C}, 2otaf 7ict 2 HHUER CHSof and?t 2 ‘I12{H'9| o|n|Z $4Q|o| A
= LIEHCE 3 HHE CH30fl o7t 2 if not(TH oF T2, atel 7%
X| ¢tomH)o| ojn|= LH# Zutof chst Z1E LIEHHCE Be there by 3 p.m.
or ~. 3AITIX| 47| Qlof2t, oF 1=2{H ~. 4 not A but B A7} OFL|2t BO|C}

i > 1 A7) =7 QA Hi7E 7R B71E vty 2 TSl

oMU dztely wele el W 4 9l 7ok 3 A7) 347t
A 7K koW EAE B Aok 4 7L Ado] ofet
oF.
C

541 » 1 25 Hholl ofi 20| AZIX|: what will happen tonight / 7 |CHCH
7t EMR: Wait and see 2 not A but B A7} OfL|2} B / §t EH0| OfL|2t o
2] H: not once but several times 3 "HHAL, and ~.,— l2f, 22{H ~&t
Zolct,

S > 1 0] 2 wet shel, oF e AL §E Aol / o] 2
2 kel 71 gpowl 22 9 Zelth 2 el wAAE W]
A, e 17k A AskE Adla, 8 1ol HIx
£ dolAe, oF TejE I WolA GALE Tlche Ao,

o \
''A 1 both /and 2 either/or 3 neither/nor

B 1 The orchestra will perform in both Seoul and
Tokyo.
2 She told me neither her name nor her address.

C 1 Both Yellow Ostrich and Polica are going to play
2 Neither Allen Stone nor James McCartney will
i perform i

Answerkey | 19



54 » 1 both A and B (ARt OfL|2} B, A2 B £ Cf): HZEx= F 7HK|
b ?3* SiCt 2 either A or B (ALt B = LIS Z]): & 7IX| o|Ate] 7t
S¢d & olLtoll thgh Mels LIEHACE catch a cold Z7/0 Zz2|ct 3
neither A nor B (A= OfL|T BE OLICH: & 7He| BEXX sjEE HAst=
ol 20| both A and B2H= HitH 2|0j0|Ct, close to ~ ~O0fl 717t

I' HJIflI
o

si4 > 1 5 IS Sk A8sE Sk 24 1) AT
U SR BEZL FAE REF Sob 5. 3 of ohutEl shue] 7}
WA U, A A Gule, T oltEE B 4%

ok

5114 » 1 also7} A2EZ both A and B (A2t oLz} BE, A2t B & Cf)
£ AM2SICE 2 not either ~ or = neither ~ nor

s > 1 L AT AEoflM A5 Aot} A5 EaolA
% A Aol — 1 BUNRE 483w £ ToA o o
3 Zloltk, 2 1 A ol2E WA Ghekn FAE o
e}

3.

52 -{N

(@)

54 » 1 both A and B A0t OlL|2} BE, A2t B = Ct 2 neither A nor B
AT OfL|Z B= OfL|C}

sli41 » 1 Yellow Ostrich®} Polica & t} Bigfoot Fojjol A A58k
Zolt}, 2 Allen Stoner: James McCartney® Banana Shack
ool Al sk gk Zolt,

-

A 1sothat 2so 3 so/that

B 1 Because the soup was too salty, he added more
water. &= The soup was too salty, so he added
more water.

2 The lake was so deep that he couldn’t swim
across it.

3 | couldn’t take my eyes off of her, for[because]
she was so beautiful.

C 1 The debate was so heated that | had to settle it.
2 | left the door open so that anyone could get in.

D » Example answers
1 Because he forgot the password at the door
i 2 because it started to rain I

20 | Answerkey

A

A » 1 BE9| 50 that: ‘~SIEZ22| 2|0|2 so that 0] 0|I1= Hoi| ZEAt
will, can, may S0| MIC}, 2 ZO| so (=therefore): 2Hol| LI LIE0| CH
ot AutE LIEHHCE ‘T Zn) J2iAe| 20j0|ct. 3 so + HEAY/EAL + that
A YR ~oliA (Eade®) --sichel ojojo|H, olmf so Xf2lol= veryZt
2 4 9ICt She was watching TV very intently that she forgot to eat, (X)

B4 > 1 Lhz OFRE 27} dAishE A4S GEX RolEE &
Yot 2 U RA9N EolA el &
TVE YR AEste] Bha AAFsHE Aw olof Witk

B

sHE » 1 BEHO| because?t UM FHo|| so7t ZR QICt ORRIIXIZ

ZH0| so7t UCH ZLH0| because’t ZR UCh 2 so+ HBAWE

Ab+thatE: ‘S ~aiAl (BatXe ) --5ict so Xk2lofl veryZt & =~ QiCh
=2 MX| 23 otSCHR 20| otLi2t OFECHY| 2o =2 HX| &

ot Z0|Ct, 2tM soE OIFE LIEHH= forlt becauseZ HIHOF SiCL take

~ off of -+ - OllAf ~2 mCt

B4 1 S U ) T 6 P 2 8474 14¢ 9
olq 2 A 471 gdleh 3 b THTEA £ HK) 2
o oubshd 1t xg%r obgrhly] wpolch / T ik of
SThOIA L TURA e ) Rl

C

A » 1 42 ~3HA —8HoF RHCE: so ~ that — 2 ~&t 4= QA so that ~

D
ali& » 1 Because he forgot the password 1= HIZHSE 210 HZL7| ulf

20| 2 because it started to rain: HI7t 27| AIX3H7| W20 / ran for
shelter CHIL|AZ FE|O{ZtCH

4> 1 T TollA] HUNEE glof W] e cho 2 Sof
742 £k 2 w7k 27] AZY] g 252 tiujag ol
2t

e e N\
! A 1 before 2 When 3 While 1

B 1 While | was taking a test, | fell asleep.
2 After she heard the news, she passed out.
3 He took some time before he made a final
decision.

C 1 When | went outside, | saw the starlit sky.
2 After ten years (had) passed, he proved his



innocence.
3 Afan rushed the stage while the band was

playing.

D » Example answers
1 As he passed the finish line
i 2 when the bell rang i

A p 1 AZHe| H&AL before
2 AlZto] ™AL when (~&f f

(~at7] Fof): Loit Lol &=ME HojELt,
H): SA =
Ct 3 AlZHe] T&AL while (~aHe 59

[0 HO{Lt
2h): SAl0ll AlLEl= #IS LIEHHTE

341 » 1 Qofulel7] Ao aele] BE $74e 2R, 21
7} Zehae] thd w1 HuE AZEY] ZRIUS 47 A
A, 3 7k HFE SHE B U ) W Jagck

B

A » 1 AZES| FEAL while (~Ehs S SAl0 A& ElE S LIEHA
Ch 2 AlZte| &AL after (~8F S0f): Lojt o] &ME HOZLE pass
out 9JAIS it 7|E5tTt 3 AlZHe| H&AL before (~5H7| Fol): Loft
9o &ME EOZELL make a final decision /& ZA™S SICt

314 > 1 U A8 A ok ol STk 2 Mk 1 442
34 7128 Vgt 8 1 AE 238 o) Aol Ane &
7Hiet,

C

SiA » 1 Lie gholl LIZES mf: when | went outside 2 101H0] X[t S0j0f:
after ten years (had) passed 3 HHE7} HFSIT = =F0f: while the
band was playing

D

S » 1 AlZES] &AL as (ot US f, ~oHHA): S&El=

£ LIEMHCE As he passed the finish line, ~ 17} A&SME S5k, ~
2 when the bell rang 20| 22X uf

A8 Enieixl, BEe o 2 wo| £

sial > 1 27 BSAE B
2 grg 3 g9l

%
2w s ok B

O N\
F'A 1A

B 1 We all rose to applaud as the Korean team
scored.

2 untii 3 As !

2 By the time you read this letter, I’ll be at the
airport.
3 Until my mom called me, | stayed in bed.

C 1 As time goes by, he feels more and more lonely.
2 | couldn’t do anything until | analyzed the
situation.
3 By the time you get back, everything will be
back to normal.

D » Example answers
1 until she came back and made me something to
eat
i 2 | don’t start studying until | eat something i

a4 » 1 as you know |7} OF= HERE 20| 2 until (~Z7EX]): until® K=
AETK| ASEls WLt HElE LEHACE 3 07|A ase ~atn US of
9| Z=0]Ct, as | was driving Li7} 272 5t S

U7t ob= ek ol s R sl Aol gk
o] 14 w7k b kel Aok 8 Ut el
Sh 912 uf ;ao] B mhelr} f A ko ol ik

)
S J*
Ut v
o =
M =

B

ai1& » 1 as the Korean team scored $t= El0| S™MS 5HAL 8= El0| &
HFE S W 2 by the time (~& 7K, ~& I =5, ~& FE): by
the time2 Ol= A|EVIX| &2 &= Lt MEHE LStTE 3 until(~7tX]):
until o= AI-7EX| AlSEls 2Lt AEiE LIERATE

atiad » 1 3k o] 5L k), Sl BFE dojAA o % Z
ot 2 Y7t o] HAE ¢S WH v= Tl oS 74°F. Hutrt
5 w7k Uz Aol At

A » 1 AIZH0| 242 as time goes by 2 L= AEe 2AM8 i7iX|=:
until | analyzed the situation 3 U|7t S0} WHEO|H: by the time you get
back

D

A » 1 until2 o= AIRZIR| AlSEls SILE AES LIEFHCE 2 not ..
until ~ ~&l11 LEMOF HIZ2A | 5tCH

340 » 1 Lhz Qi) Sotel Ugte] Bl 2 8 24l
| X

i 7k+] ¢
S 7lohgeh 2 HE U= 1S Hal U 3R =

ol

i

|

Answer key | 21



Ve N\
I'A 1 Evenif 2 However 3 Although !
4 Nevertheless
B 1 Although | asked him not to, he bought a new
motorcycle. =1 asked him not to, but he
bought a new motorcycle.
2 The couple won’t buy a house even if they
regret it later.
3 I was at the top of my class. It wasn’t exciting,
though.
C 1 |t was a once-in-a-lifetime chance; however, |
missed it.
2 Even though it was too cold for skating, we had
a good time.
3 Nevertheless, he won the Nobel Prize in[for]
i literature. i
— J

541 » 1 even if (~O0[2tT SlE2tE, ~0|= £7610): even if= HEIX| &
2 AAO|LF MBS ATHBICE nonetheless 2 H2ME 2 even though(H|2
~UX|2tE): even thoughe althoughlt thoughE ZtZxsh ®H0|CE
however J1ZX[2t 3 O] H&AL although (HIS ~0[7] SHXI2E ~2X]|
2tE): 7|H5HR| 26t LoILt =22 AFAE AJHSHTE 4 though(HIS ~2X|
2tE): YO M&A} thoughs although?t Z+2 2|0|o|ct,

atial » 1 UI7F $71EEe O ] Ale AR Aotk 2 o3
bRt o7 Algolrh. AN hTol e = Qlk 3 1
Ue At w53 WA kAR 7P iRl vhol &Y A E Fo
ok Abol Hoith 4 1TV AlRjze v WA Wee Hard
A T-EE =8k A E 19917F 300

B
i » 1 S5F0 although7t AU2™ FFof buto| =R it OFEIXIZ
ZH0f| but0| ASH ZSEH0|| although?t L RICE 2 even if ~ ~0[2t
stHztz, ~ol= E75t2 3 thoughZt 20J0f M0|H HAIZAM
however(IZX|2H2| ojojo|c}, Z+2 2|02 althoughS 20/0f AX|= 2=
Cf.

a4 » 1 Y= T0IA 2ExbolE AR ekl AR = 4k
2 1 R Ul FeEAE e AR e Aol 3
Hholl A d-solleh, IFANE A= sk

C

SiA » 1 TMof 8t H 2712t k= 718]: a once-in-a-lifetime chance /

o

rir

22 | Answerkey

~QAX|Bt LH= 742 =HCE however, | missed it = |, however, missed
ito|2tT £ 4= QUCh 2 HIZ M7} T FRIX|ZE Even though it was too
cold 3 IZof|= 875t 1= ~3ICE Nevertheless, he ~.

UNIT 33 EXERCISES
S \
'"A 1 Becauseof 2 During 3 because '
4 While
B 1 After looking out the window, he grabbed an
umbrella.
2 Because of the actor’s sudden death, the role
went to another actor.
3 The prince played in a football match during his
visit to a local village.
C 1 Before ordering items online, please consult me
first.
2 Because of the late check-out, you have to [ce=
should] pay an extra charge.
3 During the Christmas season, this street will be
packed with people. I
— J
A

A » 1 0lF'2| TEAL becauses "F0] + SALL| S 0|11= T&AL0]
1, because of SHNE Flot= TX|AIOI|CE economic difficultiest
because of2] SX0{0|ct 0] 2&2| F0i= some employeesO|Ct. 2
while vs. during: & C} ‘~Z9Fo| o|n|0|X|2t while 0| + SALS| HS
0|l1= FHEAL0|L, during2 SX0IE Fsh= ZIXIAIOIC the interviews=
Zo| Ok|22 whieg #H ot ECt 3 a tree fell on the road= HO|22
Qt0l| becauseZt 2= 0| ATt 4 "during +—ing SEf2= MX| Q=L
‘While listening to the questions, ~. 0l while CFSOll he was7t A2k
C}. while0| 0|T1= Z&FO| 07t £EO| F0{Q ZOM while HO| "3
Ol + SALE Mt & Uk
aiM > 1 FAF olglgo g HY AYso] sjard Zojok 2 ¥
o o AR oA W A Aol s =3Itk 3

27} E2o el FER7} o, 4 ARG B Fok Ok
17]2 gt

B

sid » 1 HES UOE o A4S 20 FAc=2=2
"After +—ing 2AILE .22 SiCE AP 0|l S4%0| 250 L2
HE Z&™ Zof S0tE M=t 2 the actor's sudden death= Z0| OfL|
B2 because ofE MA Z&HHZ CHECL 3 XY 0t2S YEst= S¢t

TE S ZI0|2 2 his visit to a local vilage 0l duringE 20 &
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rr

BEEC} during his visit to a local vilage X[ 02S Y2st= SOt

oo tha HHTOM 2 3 %R
oF %7 A71E Qe

A » 1 SAEE Before +—ing AR .22 SiCL 22012 EE8
—,——.—of7| ol Before ordering items online 2 £ #M|3A0IR2 =2 Ql5H:
Because of the late check-out 3 FAZ|AOMA AlE Z0f=: During the
Christmas season

(

I'A 11tseems 2 Ifyou ask

4 | think/believe

3 Inmy

B | believe / It seems to me

C 1 If you ask me, she is afraid of
2 In my view, it is not fair
3 It seems to me (that) you sound

D » Example answers
1) It seems to me (that) the plot is not well-organized.
2) In my view, the characters in his books are very
i  charming. i

sH& » 1 It seems to me that ~: L7} E7[0l= ~Q1 Zd ZCt 2 If you ask
me: L 2|70 2=, LY JHQIXQI Mzto 2= 3 in my view / in my opinion:
L ZASH2= / W] 2742 2= 4 | think (that) ~ / | believe (that) ~: L= ~
2f0 MZEstCE; LY Aztof] ~21 28 Zot

a4 > 1 Ui 2] B o
7h 2R R e AR 231 9

9
U7k oA Asliok s, 4 2] A2 HIM a7 ot
B

sS4 » | believe (that) ~: LH= ~2t0 MZtsteh W Mzholls ~2 24 2t/
7

what John said JohnO| &t Zd / It seems to me that ~: ~Q1 Zd ZCt

A
1
Sy

T

8141 » A Johno] 2at Aol chs) ofA] 442812
B: 1= 1 o=g osle 2 2ol
A7 o) A e Bast e A Zob
B: gol

I~

AL » 1 L AZHHl ~Q1 24 ZHOF If you ask me, ~ / RE7} 2= Bk
something we don’t know 2 L Z4GH2=: in my view / ~5l= A2 2
SEX| 0L it is not fair to + SAHAEE 3 LiAl= ~5t= 2 ZOL It seems to
me (that) ~

D

A » 1 L7 E7(0fl= ~Ql A ZTE It seems to me that ~ / EX0|
R QUX| Z5iCk the plot is not weII-organlzed 2 Lf HslilzeE ~Q1 A 2

CkE In my view ~ / 12| # &0 LIe=

books / O} DHEHZXQL: very charming

PN
=

9IZ&: the characters in his

T \

A 1 find / exciting[interesting]
2 My /interest

3 find / exciting[interesting]

B interests me /find / exciting

C 1 | found your attitude to learning
2 My main interest is helpingfto help] patients
3 Nothing interests me more than

D » Example answers
Person 1: found Billy’s dancing exciting/interesting
Person 2: interested me most
i Person 3: My main interest was whether i

5il& » 1 find ~ exciting / find ~ interesting: ~0| E0|SCH= AMAS &
SHEHAl =T} / Tind it exciting/interesting + to2 & A}E2] FL20]Ct, it
find2| 7FHS&0{0|1 to participate7} TIEX0{0ICE. 2 My main interest is
~ LE9| FEl BAMAH= ~0|CH 3 Tfind ~ exciting/interesting,2| L20|C},
the new approach to mental illness7} find2| 2X0{0|1 exciting/
interesting0| SXE0{0|C},

41 » 1 L 2309) abel Folatis Zlo] FulFrh AL o
A gieh 2 he) S8 Bl T AN A3 o2 Lot
7He Zolet, 8 vhe AL Aol et 1 A= Aol FulE

ohe 2 QA Bl
B

514 » What interests me most is that ~: LIS 71& 0187 5t= HS ~
olct / find it exciting/interesting + o2 ™AL 2| F20ILt, it find2| 712X
0{0|11 to spendZ} ZI=H0{0|LCt,

Answerkey | 23



541 » A Skl HR=of] A3 0]-G7} o
B: £2)7} e Zots sttt A SRlEAE

AU I, AES B s A 0] el A 3

FE} AU A Aoigle],
B: the 2 Sokslel A WE A S vtk

C

s » 1 L= ~7t i
201 CHSH XEMJ: your attitude to learning 2 LIS| =2 2AIAH= ~0ICE M

main interest is ~ / EXIE0| L2 £ A E2FE= A to help patlents

get better EE= helping patients get better 3 L 02 02| Al&lGH= Z4:
planning ahead for my future / ~&t= ZELCH O Lto| E0|E s A2
Lk Nothing interests me more than ~

D

sl41 » Person 1: find ~ exciting E= find ~ interesting2| #5312 0|85t

ct. Person 2: his best friend®} Michael2 Szi0|ct, ~

X| Oft™X| / as a ballet dancer 42| HHAZ M

atial » Person 1 U= Billy9] Fo] nlEthe A& &7 Rk
Person 2: 2421 Michael¥} Billye] A7} U& 714+

Q1] oA s Folgiek

TEST 4 UNIT 26~35

[Ald 2b 3e 4a 5c

B 1 so he couldn’t play the guitar
2 While | stayed in L.A.
3 because of the awful smell
4 Even if you are tired of it
5 Before calling the police

C 1 Although
5 Neither

2 until 3 for 4 As

D 1 Save up money now, or you’ll feel sorry later.
2 Practice a lot, and you’ll speak German more
fluently.
3 They went on an expedition so that they could
climb Mount Everest.
4 After coming back to Korea, he appeared on lots
of TV shows.

E 1 1think 2 Inmyview 3 interests me

24 | Answerkey

S0|2KU0Y: | found ~ very interesting / 12| bl

g0

interested me:
~0| Lte] S0|[2Al]E Bict Person 3: My main interest was ~: Lt2|
FE A2 ~0|RUCt / whether he would be successful: 17t &gt ZdQ1

SHEA
ek Person 3: uo FH ¥Ale 27hdE HARA A3 A

4 My main interest

F 1) and | want to be[become] a film director

someday.
2) However, I’'m not sure
i 3) Since | made a film only once, J
\.
A

s » 1 so= ‘TJ2iA'2h= 2loje| FEALO|CE 2 either call a taxi or wait
for a bus B{AIE R27L} HAE 7|Ct2|ct 3 so ~ that we couldn't — 14
2 ~aliM L2l —5HK| Z3UCH 4 not ~ but — ~0| OfL|2t —0|Ct 5 While
they were ~ing, 150| ~&h= SOt

el » 1, OPE L 8l oS Uk 98 A Lol 7k st
S 7ol 2 L BAE REES} WAS Jicelot Wik 3
BE70] U Foh| el A R 4 v Mt oh
oo} elol. 5 5ol AlRksh Sl ulrk 07 XAk

B

s » 1 so= el Ho| Zutol| metd £XS JMCtkn & uf A= Zolck
HE ‘JgjM’etn sfAdstct, 2 During + 7, = "While+ &, 3
"because + &, = because of + 7, 4 Whether or not ~ ~0|E O}L|E
Ztoll / Even if ~ ~2l1 SIC2tE 5 Before + &, = Before + ~ing £At
T2,

141 » 1 Royl 7keto] ejzly] Wil 7lekg & 4 ¢gich —
Royt ¢7}eto] HejxiAl 71ehS & 4 giglch 2 the LAS] 9
BoF WS P HMiSES Bk 8 U WA A5
BAL7IE W AL, e L A5 W) vhol 2 §307]
WA B3 4 U7t o] Setell Aol WHE ohlE 7hof
ofiis] o] et AET Aolch, — Uk ol Betel Aol %
shelehe W o3 o] gobe Fa Aolth 5 Tt 4
w27) Ao 2AE 7

e oorle mlm 14 r|r
H
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1 90|14 Y| HLEATE USITE 2 by the time ~& I ZZ20il=,

oil= / until ~& W7EX] 3 el Zojl thet 0l/E HEsk= 20|

ICh. 4 Even though7t | S4HO| W80t FE2| LIE0| =2|H2

HAIEICE RtAAR 2 HZO| =2 FH| Lo thiEt 0IRE dst=

Ho| =lofof §th 047|M as= OIF'E UEIl= F&AOICEL 6 Neither
— ~E OfL|1 —&= OfL|CH
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ol -{EI v
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si41 » 1 Maggies 715 B3 AEJYAG o} ZHE Sejx) o
ofck 2 ZFo| ki shso] gobd wibx Selis yro
A Q9 3 e U e 0 45l el 29e) g
S7} Qlch 4 AREEel AH A1 Qo] whEe] $e 4
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sia » 1 TEHE ~, or —, ~allzt o 22 —& Zo|ct 2 "HHEZ ~, and
— ~ali2l, 22{H —&t Z{o|ct 3 to climb Mount Everest (OIHZAEAS
27| 2al): ‘BA'E LIEH= toRHAIOICE / so that they could climb
the Everest (2S50| OfHIZIAEZS 227| 2J5H): "so that 320 can[may] ~,
= FOt ~sb7| fleEle o2 ‘EX'E LIEHHD). 4 "After+ &, =
TAfter + ~ing AR,

S >

ol

M1 Y AF A3 grom vy T3k Aok 2 Y Ak
< Wol 3l ZUAE ¢S fAsH & Aok 8 25 ofHlx
EE 927] 5l ¥4 Zith 4 O e Bope g
TV Z 2o AT
E

b 1 | think ~ L= ~al MZESICH 2 in my view, L AiZtoll=, L7}
E7)0l= 3 interest me LIS E0|2A Stct, L A2 AL 4 My main
interest is ~ Lo| == ZAl2 ~0|C}H

31121 » 1 A oFo]EA oA FRE T A
alf?
B: U= 7HIoIA otolEoAl duA] S2E TA] HBHA
aljoF shrkar AJztsl,
2 A: 9 Ao ARQlaljof stotar A7) ?
B: Y AZtoll= 197} o453 ti 2 S AldYskA] ok

off thash oA At

o],
3 A: must A7 AREA 9 %A Auigls Ust?
B: 2t fA7] 2o AAL A B0l ESAER,
4 A: 1,}5 }/ﬂ }\]_cﬂoﬂ _L}.A]ol ul-o].

B: Z12l? W e v 224 Aysh= 7ok

F

54 » 1) AHMIH=: someday / ~0| E|11 A{L: want to be ~ 2) EHAI0|
MX| 220t2: I'm not sure 3) B3HE THSCE make a fim / 8t HEHOHl; only

once

&A1 » James Cameron 257,

AL Zeusstn 18hd AUt A AAlZbe giitEol
=L Ayt SN A7 253 AEo] H 42 QSR EHlo] A
A ok A= A3lE 3F Hulo) wbSo] HXA| 94k7] w o
B35 A5t ol gisl ok Aol flsytth ESF 2 A} o]
o] FAE alA] Uk EF3 JigtEe] Hew F sjok
U7 A=Y g 7ok syt

o7 27 s,

ol &35 &Y

I'd
|

A1c 2a 3b 4d
B 1 Now that my sister got married, I’ll use this
room all by myself.
2 Once he starts reading, it’ll be impossible to
stop him.
3 Since you cast a vote online, you can see the
results immediately.

C 1 Once she showed up, people turned their eyes
to her.
2 Now that you mention it, let’s go and eat
something.
3 Since they opened the store, it’s been three
years.

D » Example answers
1 Once you reach the top
i 2 Once you apply this ointment i

s » 1 once YTt ~a1H, ~SIXIOEKE 2 AlZHS| F&At since (~ OJZHZ,
~ 0|22) FHo| AlMl= 2230| =2 2Ct 3 now that (~O[L|7k ~2l
0]&2): M2 A&l st 0lRE HHE mf ALSSIC 4 0K TEAL
since (~ UHR0): becauseLt asX{E O|RE LIEtLH= FSAIR MQICtE &
= AHZ0] 0|0] Y11 U= 0|RY < sinceE £LL

atiAl > 1 U UI7E L oJobr|E EOW, U S YA E A
oltk, 2 U 1140 B 0|52 of AUAS el gisrel. 3 UE
oA 194Fo] EU7t T8 2HA0] glo]. (U&= oA 194to] =yt
=5700] 9lol) 4 U7k 12 P PO Uk AfsorA,

B

A » 1 now that (~OIL|77k ~Q1 O|&42): 2R AEto|l ChHEt 0|RE AHY
&t AFZSICE all by myself 25| Lt EXt 2 once (YT ~5HH, ~3IAt
Otx}) / it'll be impossible to stop him(2E& HEA| 5t AL 2745t 40|
Ch: it2 702N ZIZ0Q! to stop himE 7t2|ZICt 3 0|R2o H&At
since (~ IHE0]): becauseLt asXE O|RE LIEHE TEAR MQICE &
= AIZ0] 0[0] &1 U= 0|RY &S sinceE 2Lk

a4l » 1 oA FUF AEF oYt U o] WS &ds] o £4
£ Aotk 2 7 A 5AE AFehE 5 HEA e A2
E7FsE Aotk 3 2eRle® BERE st/ 2 AuatE o

O
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C

SiA » 1 247} LIELERE (Once she showed up,): once= ‘Y& ~GlH,
~oIxFel £olctk 2 ~5t7t Zeld| (Now that ~,): Now that2 F&AL0|
B2 that ChS0l= Ho| 2ct. 3 250 7HAIe] 22 ¢ 0|F2 (Since they
opened the store): A7 T&A} since (~ O]ZHZ, ~ 0|E2)7} S4HQI
20| FHO| AlMl= 2AZH0| F2 20t / 30| ZQUCt (it has been
three years): it has been2 it's been@ 2 E0{ £ 4= QIC}

D

Si& » 1~3 onces ‘YTt ~&1H, ~5IXFQ| S20|Ct,

s141 » 1 Qe Bej7lo] Lebbe & SA7} & ofd B golck
2 ok o] AwE whEw Tk 7|io] old Aol

c N\

| _
A 1 E0=2 D= 2N SHZE £ ks A

3 W7t 88 = Uth= 7Hsd

B 1 That he had lost his job was a great shock.
2 |t is my belief that we have to do something
about the environment.
3 He replied that he wasn’t seriously injured in
the crash.

C 1 She was sorry that she backed down
2 The point is that you need to be more cautious.
3 Itis true that Lucy is going back to Somalia.

D » Example answers
1) that | will agree with you
2) The problem is that

i 3) worries me a lot i

SHA » 1 AES 0|1E that2 2 that®0| E0{o|ct 2 S8AF Hofl 2=
thatZ0ICt be delighted that® ~aHAl 7|8t 3 HAL FoA M0l 54
9| that™o|C}. thatd2 | HAL possibility2t S22 O|2L}. a possibility
that | could be wrong L7t £ = UCH= 7tsd

da > 1 X)L EoR BE BAS 3Y 4
Aol L &S W 71812 FHAcks 2 ooy
U 48 T 78] A s, 3 g7t 5 S 9
£ 7R A AL gtk

26 | Answerkey

o]

A » 1 He had lost his jobO| F0{7} Z|2{H LAl that® 201 thatE2
E0{0F BiCt 2 belief2t we have to do ~ ALO[0f| that 20| 52 27|
BLECE belief that ~: ~&lCt= 2E 3 reply?] =X0{7t Hestd| he
wasn't seriously injured in the crashZ} reply2| 207} Z[2{H thatZe| &
EN7t =lofof BiCt.

iy r2 é’.':'

si41 > 1 27k URHE)E Yoldel 2e 2 FZolglh 2 et 8
A2 984 B7h sk Sheh o] W Aldolch 3 T et Ab
TojlA] ZA| A ghekeha gk

C

A » 1 2= ~0| QEMIIRLE She was sorry that ~ / 1A S{AE
Z4: that she backed down 2 EE ~0[0k The point is that ~ / W7t &
O ME3SH0F SHoh= 2 that you need to be more cautious 3 750 ZIF
O L2 It ~ that —= AF2TICE ~2 AMAOIOF: It is true that ~ / LucyZt &
U202 ZiCHE A that Lucy is going back to SomaliA

D

sH& » 1) be sure that ~: ~& EAIGICEH 2G| ~atT MZI5ICt / agree
with ~: ~@} SO|5iCt ~0f| S2l5iCt 2) the problem is that ~ 2XlE ~
olct. 3) EX2 BAMs EH, M| 2&9| F0= the fact0| worries7}t S
ALOICE the fact that ~OllA] the factt that Olot= &2 20|H, who?t 0]
e ZAHBEAL Bwho ~ side effects)0] a persong 4=AltT QUCt the
fact that ~ worries me a lot ~2H= AHAO| LIS ZH5H| Stct

841 » AT LHE fothEe] ouix] ERjas anlshs Zlo] s2e 2
o] ohujeti Az,
B: U= Ust Alzto] & et ofulx) Rt ge o

o] Faelo] Sof ek Aol BACk LejA oux] =

W B8] 97 22 10t FEA] 9 & X,
T ofujx] R0 FEE AGe HAgow nE W

S % gk A LS AsH o,

T N\
A 1 | heard that the book was written for teen
audiences.
2 You can go fishing provided that you finish your
homework.
3 He was sorry that he got angry for nothing.

B 1 we should ride on the Ferris Wheel
2 | should invite Fred to the dinner
3 I could see his smile again

C 1 Provided | save $20 a month



2 | felt he was not concentrating on the lecture.
3 Are you sure we’re going the right way?

D » Example answers
1 afraid she might fall behind
i 2 pleased she did well i

S » 1 SHNZ MOl thatElo| that2 AaFst £ QICt the book was
written for teen audiences= heard2| SX0{0|Ct, | heard (that) the book
was written for teen audiences. 2 go ~ing ~3&l2] 7}t go fishing HAISH
2| 7IC} / provided (that) ~&t= 7122 3 be sorry (that) ~: ~5t0 &
3lstct, ~siA FZ0ICt / for nothing 715 810|

o 1 o] U 18 atn Bl 2t 4
AE R GAE 2 4 gt / A2 Bl 2o P 7}
2 Sestul 8 i ob e glo] SR AL iﬂi‘lﬁk

ol-

A
B
a4 » 1 | suggest ~ing = | suggest (that) 0 should SAHH

2 | insist on ~ing = | insist (that) 0| should SAI¥E 3 | was glad to
see ~ = was glad (that) | could see ~

s > 1 Uhs SEls BRAE B AR, 2 opwhs Fred
=AY AAte] ZoisiAlar AT 8 U 119 L8 thA]
2 % gloj 7]Meh

C

SHA » 1 LH7F BHeF st 2ol 20H2E XESICHH (provided | save $20 a
month): provided CIZ0l| thatS 42¥5t HFHOICE provided (that) 2H2F ~0]
™, ~EHE ZZACE 2 LiE ~atm ALk | felt (thal) ~ / ~0il ZSsick
concentrate on ~ 3 ~0| &HAISIL|?: Are you sure (that) ~? / go the
right way #efS MICH2 7ICt

ml

D

54 » 1 be afraid (that) ~: ~& F2HYSICH / fall behind ~: ~0f FX|Ct
2 be pleased that ~0{|A] thats 22F5H0] & 4~ RUCE be pleased that ~!
~aliA] 7|tSICE / did well on the test AI&IS 2 BTt

84 » 1 Kellyl= T} RS04 Ha7k8 A9, 2 17t
A 2 whA 2] ot 7]wisl A,

) ~N
''A 1 whether 2 why 3 how !

B 1 How the pyramids were built

2 if my relationship with Terry
3 when the rocket is going to be launched

C 1 | can see why she calls you Mr. Right.
2 Whether he agreed on it remains unknown.

D » Example answers
i 1x 20 30 i

| J
A
sl 1 whether the vote was faire= F&AF whether(~QIX| OFHX[)7t O

H

A
= BAER A discuss?| SH00[CE 2 "O|EA+F0 + SAL &2 7t
o|22 o HALMEZ MOIC} why a certain species suddenly disappeared
= wonder?| SZX0{E2 M0l HAFHO|CE | wonder why ~ L= ~&t 0|77+
=otCt 3 how much longer he had to waits SEAL Fofl =Q1 HAE

=

0|t He was uncertain ~: 1= ~2 SHAIG| & £
longer he had to wait 17} GOt G 7|CH2{0F SH=X|

[e]

ARACH / how much

B4 > 1 SRS BRI TAY=A] el =ofale 2 Ui
o) ol F& A7) AbehAleA] BFsiTt / e ofd Fol 2%}
7] AR olg7t EelT, 3 1 dnhu o sickiof ahA]

48] o 4= g1t

B

S » 1 TO|2At+ O+ SAL 2| ZFHOIZE2 BAEEM F0f, =5
0f, H0{2 M2IC}. 07| M= FOE MOl ZHHOIZ R BAMES Tie= 2X(0]
L} How the pyramids were built7} 2%t2| F0{0|1 remains?t SAO|CH,
2 if my relationship with Terry will last longer= sayl| SH0{Z M1 HA}
Holch. 3 TOI2At+ 30+ AL el LECEE2 FAEE Molrt o7
Mz SX0E 401 ZFHQIZ2E HAES == EX0|C when the rocket
is going to be launched?} decide2| 2X0{2 MOl HAFHO|CH,

A » 1 Tt =7) ojEA RojAHE=A =
2 Terry9t 1o} #A7} o 2<%
20| AA| WAEA] A

 CEREL S
AL B ot 3 15

(@]

H& » 1 047|M see= "'YZUCHe| Qlojo|ct / 47t of Hblg H=slr| A
st Al2tol2tm 22=X| (why she calls you Mr. Right): why she calls
u Mr. Right2 "Q|EAt+ 301 + SAL &2| ZHHQI2E HAMEo|Ict 2 1
} J740f| SCIH=X| (Whether he agreed on it): Whether he agreed on it
2 HAEEAM 0] IS it

o o

D

51 » 1 Whether they have volunteers (KFREEAIXIZE QU=X]): Whether
they have volunteers7t BAPEZ A F0{ G2 §HL 2 We don't know if
buses will run until late at night: if buses will run until late at night0| ZAt
HZM know?| 2X0| H&S Sich. 3 where we can buy the tickets (0
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CIM Z2HES A & QI=X]): where we can buy the tickets7t ZH9]

HAEZ M be certain| SX0| Hetg st
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P'A 1 Unless 2 If

B 1 You can’t apply for an exchange program
2 he doesn’t stop crying
3 you tell me what you want

C 1 As long as you are happy
2 On condition that he would use his pen name
3 Unless | go to sleep before 11

D » Example answers
1 As long as you are under
2 Provided (that) you can work a maximum of /
i provided (that) you can work up to i

| 4
A

SiA » 1 R BAMAE 0|11= =& Al unless (K| 4= St = if ~ not)
2 R EAMES 0|11 B&ALif (242 ~5HH) / Id like ~: L= ~2 &
SiCh 3 Z7Q| BAMEE o|11= AL unless (V61K = Bt = if ~ not)
/ right after ~: ~5f0 LEM HIZ, 3t Z0il= HIZ, ~3IXHOERt

s > 1 5 ol Aol glom o]lN nhAEUT, 2 15t
e 9 el 3 W dofbiubg & ub orom Az
2 sk & 4 gl

B

S » 1-3 T2 EAEE 0|11= TEAL unless= ‘~olX| fd= $H0l2t=

SO 2 if ~ notat HHY £ 4 Ct

314 » 1 GPAZ} 3.00] dolofgl wdt Y =& Jlo]] AAE 4=
ity — GPA7} 3.00] YA &om w3l a4y 2 o) Alxeh
S gl 2 27h $88 A stk e FnblE sjof o

Zolth. 8 U sk AL Uhe W) Fofopat 7k Fole

1k

ih
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3 Unless !

ApoF BX| AT 47t ek, — dI7F Yake RS U] W) 74
ororm L= 1Lo18 xfof x| A3 427} Qick

A » 1 U7t =312t SHCHH (as long as you are happy): as long as
~ NE}E Sk=on condition that) / WI7} 3t 41 24 220|=: whatever
you want to do 2 ~0|2h= ZZI2Z: On condition that ~ 3 11A| of| X}

2 71X 22™: unless | go to sleep before 11 (= if | don't go to sleep
before 11)
D

a4 » 1 as long as ~: ~ah= & 2 provided (that) ~O|L} providing
(that)= "Bkt ~0|H; ~Z X710 5l0{2ts £ 2 X710 FAMEE olELCt

S ESHS

Hel: 154 i
& ATk 3 59, 51 i) 4400

ﬁ
Ol
o)
rlr
offt
o
_|01:
Bl
=2
o] 1
jﬁ
2
39
_i
o
gtd

AR BolE o] helo] @ 4= glre
1154 vlgrolul 2 35 o) 4417k &

Ve

|

A 1 ARIELS TAELS EXIOIX}
2 x|t 0] F0|2E HAUS
3 U7 EHAJOlIN LhEl= &2t

4 0= 0| 2iE S2 motct

B 1 Each[Every] time | eat ciabatta
2 as soon as you see this guy
3 The moment | looked up

C 1 Next time you take a trip
2 Each time/Every time | blink, | feel something
3 As soon as the door closed, he turned off the
light.

D » Example answers
1 As soon as[The moment] he touched the kettle,
he got a burn
2 The moment[As soon as] she woke up, she
i realized i

54 » 1 as soon as ~: ~&XIOFK} (no sooner A than B: A SIXIOFRL B,



ABH7 |7t 2N B) 2 last time ~: X|HHO| ~3HS 1 3 the moment ~
~Gte a7t (: as soon as ~) 4 every time ~: ~&t W{O}C} (=whenever)

SA > 1 ARFES T AEHE wAel, 159 HSbIE B
o 2 Adue] Ut of AolaE gt o, IR AW 2e
ol stef, 3 7k BAleIA Wl £k U T dolg
o 473 7 e 5 voich 2 Az A

5H& » 1 Whenever ~ = Each/Every time ~ 2 immediately when ~ =
as soon as ~ 3 as soon as ~ = the moment ~

5141 » 1 U= ciabatta® WL wjulch o] Ao Zlo] o] Hi=c}
2 o] JAE Wi vie o] Alus] FAL. 3 U= E &

&7, 5498 Wk

(@]

sl » 1 CH20l Od&liEt mi=: Next time you take a trip / ~& 7IX|2 7k
bring ~ with you 2 =& 72 mjoick Each time[Every time] | blink 3
20| =H5|XI0K} (As soon as the door closed): 22 £EX 02 h|= L
H0|22 39| L2 LIEt= IHRAL closed7t A01 Zdof| 2|5,

D

UNIT 42

P
|

EXERCISES

A 1 also — either
2 she as well is teaching it — she is teaching it as
well
3 too pottery making — also pottery making

B 1 also sad to leave there
2 as well as meet him

C 1 not only fame but also fortune &= fortune as
well as fame
2 my sister hasn’t (seen it) either
3 generous and trustworthy as well

D » Example answers
1 doesn’t enjoy / doesn’t (enjoy it) either
2 building plastic model cars / also dof[love it]
3 My sister as well as my Mom / My Mom as well

i as my sister i
——e J
A

A gggoﬂﬁ ‘TESE HA| (~RUCHEHE o2& eitherE #Lf

HAI'2H= 520 EAIZ A O|0] SiEEt AMMo| 2
|Ct, as wellt too= 20[0| FZ M0|2T also=
l. 3 not only A but also B: A2t OL|2} B

2 also, as well, too= "HESE
QIS F7tE mf M= HSH0
=2 ALt & 250 2C

A > 1 WSl 0% Uaky) Astelr erort Uw Ushy) Astet
A QRFEE 2 b DL B SR 9w, ER kA7) E
Btk 3 Iut fetel] S et ohjel wA] Aol Sl
B

SHA » 1 also= T2 SAlet &8 2F

OfL|2} BE) = not only A but also B

off 2Lt 2 B as well as A (ARt

b1 2 Zo] 7Hs Aol BEFIE P 2R wuks
Rpas 1= Stk 2 ths 22 gk e okt a9t 4
ol = 4tk

alAd » 1 HM80F oL|2} B5: not only fame but also fortune 2 Lb= Of
HXAM 2AlE 72 &2 X0| 2iCk | haven't seen my dad cry / 2| 2L
= J™Ck my sister hasn't (seen it) either 3 AS HICt7t EESH BSHCE A
and B as well

D

A » 1 BE™EROIM ESH HA| (~C) e SO 2= eitherE £2LF
2 also= T2 SAR &7 250 2Ct 3 B as well as A (AT OtLZ} B
) =not only A but also B

B4 1 obulAlE RE B A FololAA e duke 13
E]—_ 2 q.] LFIE AN O _—E_ﬂ-/\E] Eaﬂ 1} u]—l:“: = Z_o]-o].htﬂ 1,]_

= o o

= Itk 3 ekt ohet FUkE dolu® Ut

Id

LA 1its necessary
2 if anyone will come to Ellen’s party
3 he won’t like

B 1 Although he won’t like it
2 As soon as we find the truth
3 If he comes tomorrow
4 when he will give a speech

Answerkey | 29



C 1 Until we see ared flag
2 Unless you are careful, you’ll suffer from
frostbite
3 After we finish/have finished the project

D » Example answers
1) If you go straight
2) until you find a heart

i 3)youwllseeaclover I

5HfA » 1 if, unless, on condition thatat Z2 HEAZL 0|11 19| BAL
HolM= S8 AXIZt 028 AMIE chalstch 2 FEo| AlX|7L OjzH7t obd
AR0l= =9 2APHO2ID Stezt= SIX) AMZE Oj2H AMIE CHAlg &~
Qict =HQI | doubte] AIX|7F Ol2i7t o2 2 ZZA| RARER! if ZHoilA O]
2f AIMIZ MoF SHCE comes — will come 3 when, as soon as, until,
after, before@t Z2 HEAD} 0|Ti= AlZHe| 2APHAl= X AlXIZt Oj2H
AMIE chAlstch 2Lt H9| ARl Ol2f ARJof SHCh

siiAl » 1 FRsH] o Jus o] Ao "k ¥ 7ok
2 Y Ellen®] ufejo] =7} 4] QF 24] v= 2270dh 3 Z17}
A = H)7F 3 e FolsA] §FE 7ok

i » 1 AJZHOJLE 2240 O Lol EAREOIM= 24X AIKIZ} Of2f Alx|
£ idlg & 8lch. 2 as soon as?t 0|T1= AlZHe| 2ARHOIM= SR ALK
7t Of2 AIMIE cHAISHEE 3 it7} Ol Z74e] EAME|AE= Six] A7} Of
2 AIRIE ChilBich 4 FHEo| AMZE oj27t ofd dRolls S£E0| Alzt
o EAFEO[t StEat= R AM|ZH 02 AIRIS S 4~ gich el
wonder®| A7t Oj2i7} OH-|22 AJZte| EAPER! when ZOflA Oz Alx|
£ MoOF BT

341 » 1 17} FolalA] QFEjehE bz AlEo] 219] o] s u]H
3 olth. 2 $el AAS AR RS YFolA LY A
oltt, 8 WY 17} ofl Lol s A2 el & Aol
4 e 17t AR A8 SR e,

C

A » 1 22 20| HY m7kK] (Until we see a red flag): =&| AIX|I7t
Of2H AIMIO|H untio] OlT1E AlZte] EAFEOIAE SIRH AIRIS 0t 2 =4
SHX| 222 (Unless you are careful): 2| A7+ Ol2f AIMOIH unless
7t ol =S| BAHO|ME A AIRIS £cCh 3 FH0| oj2f AlM[0|Z
ZEH0| after7t 0|11 AlIZHe| 2AFE0|22 02 AIMIE MX| =Lt

30 | Answerkey

D
sii& » 1) EH| AlMIZH 02 AlX0|=2 7} 0|T= Z74Q| RARHM=
Djzhe] Y= FHA AIMIE WA LIEFHTE 2) AlZte] SARE0M= BIRHAIKIZ
oj2He] g Easich 3) FHO| LHE0| O[2H0[2 Dj2f AIXIS MA LIEHH
ct.

s > ARSHA 8 2707k BY AUk AZIH SIS LA
AR, SES WHY ] wFolutt A% 8L 5
AR, SHEZL Gl TolA] S3AS Adshd FRoE 2 A
o 71Tkl SRS s T EA7F Bl R,

O N\
"A1b 2d 3a 4c

B Inspite of being only 14 years old,

C 1 Though you’re leaving tomorrow
2 |n spite of/Despite her injury, Jenny didn’t seem
3 Even if you hate to do[doing] this

D » Example answers
1 Although he was very poor, he always pursued
his dream.
2 Despite his illness, he is one of the greatest
i physicists i

5141 » 1 in spite of + WAL (~O|= £75L1): in spite of= Foll S
& 2 glth 2 although + 3201 + SAL (HIZE ~0|X|2H: ofH Zdoi| sl ofl&f
SHX| 9i2 AntE AFE M £ & U= ESoICE 3 whether or (not) + 3
O + SAE ~0|E OIL|E Zto| 4 despite + AR (~0|l= EF3l0):

despite= in spite of & Foi| B F|&t 4 gict

siA1» 1 719 BE wgloE et AR 2HE GolA o
oftk, 2 the 11 oA iehRitls Basia wesiA oot
3 of7|4 eetE el A7) 2 Zolth, 4 2 AR B3}
3o O meAEd BAE Ak

B

5l » despite the fact that + 30| + SAE ~2H= ARMOIE E76H (= in
spite of the fact that + 3201 + SAD

a2 » A Jackie Ryudt o}olof| tfsf] Sof ro]?
B: ofy glo], 1 ofo] {yl?

A: $ Jackiel TV wej3aralel RE A4 5 @

o

]



olof,
B: Ae? 73l ol 1A 88 Aok?
Al Z19] 3 mito|x], 1 144kl e Bk s &
ol R AHAL,
C
S » 1 U7 HRE2E MLHE (whether you stay or you go): whether or
(not) + 301 + SAL ~0|E OfLIE Zhol 2 BEAo|= S5t (in spite of
her injury / despite her injury): in spite of + At (~0l= E+5t1) =
despite + BAF / ~38ll E0ICE seem to ~ 3 U7} 0|ZHE GH= Z0] 44
2= (even if you hate to do this / even if you hate doing this): even
if + 301 + SAL HIE ~0[2t1 SlE2tE / ~&F 4 U= WHE glo: there's

no way to ~

D

514! » 1 although + 30 + SAE HIZ ~0|X|2t 2 despite + HAFTE ~0f
° 255t

Ve

F'A 1 Therefore, | caught a cold.

2 So | added more flour to it.
3 Thus, | couldn't recognize him.

B As aresult, your eyes don’t get enough oxygen

C 1 he was suspended
2 Consequently, she feels healthier.

D » Example answers
1 people use public transportation
2 50 we can’t use tap water
i 3 As a result, streets are covered i

SiA » 1 therefore 12122 2. so (22 M): therefore/thus2| FLOIXIIZ EH
OICct add A to B: AZ BOll F7FstCt / it2 doughE 7t2IZICt 3. thus 12
8= / He'se He has?| £Z0ICE He's changed a lot. (= He has
changed a lot.): Sixi&t=Z ol ‘ZAf'S LIEE= F20]|Ct,

5H& » which makes ~0IA whiche ZHACHHEAIZAN 2| LHE, & As a

result, your eyes don't get enough oxygen from the air2 7}2|ZIC}, which

ol SoPF ASEZ BAUBEALL| ALH SEolck

si41 > Az L= 5K B A9] WYl FEERE AHEE) gtol, &
gEglZ s} e 58] glo] H?

B: @ 4 9X, EEEAAL ol P 29 Aho]

BEAA, T A ] 8 32N FHA A4S T

A 8l A W e $EATIE 710k

C

A » 1 2t SE™XIE G3UCH (Accordingly, he was suspended):
accordingly 2t 2 work out every day Di 25 SiCt / O 4ASICt

1 77|11 UCE feel healthier 21 Z1} consequently

D

ai1A » 1 use public transportation LHIEXES 0[23ICtH / consequently
1 A1} / more often o A 2 Pipes are clogged. 20| 2¥3iC} / thus
JefM, 22{22 3 It'sE It hase EYUZOICE It's snowed = It has
snowed =0| YLt / as a result 1 A1} A2 / be covered in ~:
~0f Folc}, ~2&Z Fo|ct / 70cm of snow 70cme| &=

4> 1 715 grol Wol 23tk 1 A3 ARIELS HFuES o
A% olg el 2 wol gtk TN S o 4EE A
A Rk 3 AFS 9t ol Stk 1 A3k, AR T0cme] 0
2 gof glrk

1o

TEST 5 UNIT 36~45

, N
lA1d 2e 3a &4c 5b i

B 1 Every time | read this poem
2 |f you’re not too tired
3 his personal life as well as his job
4 unless it is the first time
5 As soon as they were on the road

C 1 give
2 will successfully settle down
3 come back
4 is released
5 will still be living

D 1 Nowthat 2 The moment
4 how 5 aswellas

3 Once

E 1 In spite of being famous
2 Although she was old and weak
3 Consequently, | know how to survive
4 Despite your effort
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{ 5 As a result, she became a millionaire. i

A

a4 » 1 Now that ~ (~O|L|77k; ~©l O|A2): M2 A&l ChEt 0|8
Ayt o ASICE 2 so(T2iM)E ™&AtoICE 3 the rumor that Jack
went broke (JackO| THMRHCH= AR): that2 52 27IS LIEHE H&At
olct BE ‘~2t=0l2t SiAMSICE ex. the fact that ~: ~2t= AHA 4 as
long as ~: ~Gt= Bt (: 0 long as ~ / on condition that ~) 5 be
aware who—Z&: 7t ~QIX| &1 QICt cf. be aware that=Z: ~& L1 U
ct

8141 » 1 BolA Rt Uiz gE] A ghgtel. 2 o] 7ol
@ 58 4 oA W E WA o 2AR. 3 TUE Jacko]
StHe AR WA otk 4 Ut S Wi @ s o
A= FoE A glol. 5 S 7k AR of 5 o] 9]
) o glr

54 » 1 Whenever & (~& miotCh = every time & 2 unless (~akX| &
O ~5IX| 9H= B = if ~ not 3 not only A but also (ATt OfL|2} B

Z):Bas wellas A 4 unless= if ~ not2| S=0|C}, You can't take the test
again unless it is the first time. = You can't take the test again if it is not
the first time. 5 as soon as ~ (~&tXIOX}): no sooner A than B (A SEXt
OFKH B, ASH2 |7} 2447 B)

A » 1 U= o] A5 9 tuit} o] HES) ek 2 w3l
orow o] WAL 2oL A & wolx 3 1= oA 19
2ol opet AR disiME Bk 4 Holehd ohA] Al

R G o]/\qq, — Z&o| olletd thA] AIFES E 4 ¢S5
o 5 15 w2 SolAdjubt 4y Y2 Sk

C

sl » 1 2 29| before= FEAL R HO| before= FX|AOICE / give a

speech ._E% SICt / it2 speechZ 7t2|ZICt 2 I'm not sure if+ &
Ol + Ak Lz ~QIX| 2410] MX| =Lt / settle down Xt2| ECt 3-4
AlZte] A M=
Lt =Z40] o

X AIMZ Oj2He] ool LIEFd 4~ ATk 5 AlZHo]
UHERI ZAPEOI M= Dj2He] Y2 Oj2ff AIRIZ MoF Btk

B> 1 L Q8E ] Aol 7S old 1AS dud
o, 2 i AAlo] LAGIH 4EHom A He AIA Bl
27 5 gk, 3 5] thgo] B & 7] o] §XZ
28 ol 4 19] ke ujEAui) AE 1918 A
Stk 5 U 108 FOIE ofds] of7] & AUzt 34 o)A b

g 2 5 9% Aok

o]

Jﬂ po

% flo mlo

i

D

SH& » 1 Now that ~: ~O|L|7k ~2Ql O|A / it's time to SAFRE: ~&F A
Ztolct ~&t mi7b =QICt 2 The moment ~: ~&IXIOKE, ~&t= &7t

32 | Answerkey

3 Once ~: Y&t ~51H 4 how ~: 07| ~&F ZQIX| ~&t g / deal
with ~: ~& X2I5ICt 5 issues on international politics =& &X|of| Chst
2| / A as well as B: B0 ofL|2t AE

i > 1 oA &sfe] de & FWourt FAS HE molth
2 U= ol Aes 2 <3 et gE7] AR 3 A
o] ofg Hom HHl Aol F& o8, 4 U= 17t o] ofEe
L& oA Aefsh=A L2t 5 %2le =l SAREE oY
2 =] Aol gt A =Rk

E

5141 » 1 ~0ll= 2751 (in spite of): in spite of CFROl= AL 077t 9
Of 3122 SHAIR! being0| MACt 2 Although/though/even though/
even if + 01 + SAL HIE ~0|X|2t 3 AWEOZ: consequently / L=
~5t= BHHS Otk | know how ~ 4 4| 20|z £75k1 (despite your
effort): despite CH20ll= BAF 077+ 2Cf 5 1 23k as a result

SiA > 1 T FUTelE RIS AL Adsxen di
2 M2 Ut vo] B3t oA U] 7Pg £ AT F & gl
Th 8 Ubs Aol Ak Ao R b ofelo) 4 Aok
HPES otk 4 ) welelE B AL Aol BTk AREE
of WA goreh. 5 el e AAHoR A FES Fk 1
23} 2 Wbt s,

Ve

A 1it 2her 3them 4she !

B 1 which | admire
2 who is now on a concert tour
3 which you showed us

C 1 which requires your attention
2 The lady whom we asked
3 which we have been waiting for

D » Example answers
1 who is sitting next to Emma
i 2 whom Eric is talking to i

s » 1 2ACHEALE 2AIEL] F0iLt SX0IE CHAISICE chosel| F%{04
2 ZACHEAL which7} MFO D2 itg & £ Tt QICh 2 heard of?] =
o2 ZAICHHAL whomO| MHPO B2 herE £ £ LRIt iCt 3 took<)
S22 ZAHHAL which7Zt 0]0] Moo 2 themS £ ZU} giCt
4 wrote2| 0|2 who?} 0|0] MO D2 shelE & TR}



S8 > 1 U 7k U S Bek E A FolekA ekt
2 U Wk o] 2 ol ghi= ofisict, 3 U7k At

o

° ANES U Hold, 4 e o] 1S & 7148 whtn
A,
B

34 » 1 themO| AHZO| OFL meritsE 71217 |22 thems CHAISHE ZHAIH
AL whichE 20 & 2&2 HZAIZICL ojmf ZAIHHAL whiche| MEIAL
£ meritsOICt 2 heZt AFQ! violinistE 72|17 |22 heZ CHAIGHE ZHAICH
A who& €0 & EXE HZAIZICL ZAHHAL whoo MEAt=
violinistO|Ct. 3 themO| AF2HO| Of:l dance movesE 7}2|7|22 dance
movesZE CHAIGHE BAILHHEAL whichE 20 & XS SZAZICH 2|cH
HAF which2| ME§AH= dance movesO|Ct,

o> 1 U DL B s 3kl sl 2 43 &3
AT 3 7k SelEE B

=
T
=
pun

ol
o]

s » 1 gilol Fo|E 25t= Al a problem which requires your
attention 2 2|7t 22 SO{EE 1 Ot £

for direction / ZHIHHAFE whom we asked for direction2 the ladyE 4=
AlBHD, the lady= 229 07t EICt. 3 27F 7|k 2 HIZ 1 &2t
the moment which we have been waiting for the moment= ZACHEA}
which®| MaHALO|H Z7|& which we have been waiting for| £=AlS Bh=
ch

. the lady whom we asked

D

54 » 1 The person who is sitting next to Emma (Emma &0l 2ot Q=
AR the person2 wholl MalALO|H, BAIE who is sitting next to
Emmall A B QI 29| F0{0lct 2 the person whom Eric is
talking to (EricO| CHEISIT Q= AK): the personS whom| AMSHALO|H,
EAIE whom Eric is talking to2] A1 gtn QI 2%k Hofolct,

5141 » 1 Emma o ¢ro}

o] o3l Ql= AfFolth

9= Aol Sueoltt, 2 Karen Eric

e

A 1who 2 that 3 which 4 that !

B 1 The giraffe which/that had escaped from a zoo
was captured today.
2 Yi So-yeon is the first Korean who/that flew in
space.
3 The building which/that was built in 1900 is
closed for restoration.

C 1 which/that is popular with Chinese tourists
2 which/that were made in this city
3 whoythat is in charge of the project

D » Example answers
1 which/that made me realize the power of music
2 which/that made me think about true friendship
i 3 who/that made me mimic his dance moves i

SHA » 1 MEHAZE AFZEO! a teacher0|22 who?| HC F2oz MOl
AtHEAtoICE, 2 M3HAZE AHEQl an external hard driveO|22 whoZE A
™ ot ZIC} which THA! thatS £ 4= I} thate MAH TO{x| 10| =Ict
3 MEATE AF22Q! a sculpture0|22 whoE MH Ot ZIC} which CHAI that
S £ 4k 4 MSAP} AFREQ! the person0|22 whichE MAH OF =Ct
who il thatS & 4= QICE 07| M thate FZHBAICHBALR MSCH

8141 » 1 Jakels 4:8H2 71231 WAfole 2 Wh= 1 HlehulE7}
RSN A

A ARG = Sl o sfEEgto|ny) dasith 3 92l 1Y
ok Eeinte] 224ES Bk 4 A5k 2 AR Ninao] ¢utgl
o},
B

54 » 1 it0] the giraffeE 7I2I7|122 the giraffe2 CHAIGHS ZAICHHAL
whichLt thatg 20 & 22 SZAIZICEL ZAICHEAL whichLt thate] 413
AH= the giraffeO|Ct, the giraffe= had escaped?| Z0{7} | which/that
2 FHAZAUNYAL ECh 2 BACHEAL whichLt thate] MEALS the first
Korean2Z st 5 2% HZAAZICE ZAHEARE who/that flew in
space?| the first Koreang $4lot1l, the first Korean2 22| E0o{7t &
Ct 3 ZACHEAL whichLt thate] MSHALE the builldingR 2 5l &= 2&=
HAZAN|ZICE BAICHEAIE which/that was built in 19007} the buildingS 4=
Al the building® 2%2| F0{7t Elct 2%0| EAH= is closedO|C}.

H > 1 FEUS GET /IR0] 05 WA, 202 $72
Hoph 22 <lolet, 3 19004l Aol 1 AEL A% 1
8 918 o= et

C

SHA » 1 2O TZMOA 27| Q= JHA: the shop which/that is
popular with Chinese tourists 2 0| =A[0fAl 2HEO{ZI Hst: films which/
that were made in this city 3 0] ZE2MEQ| Tl Anna: Anna who/that

is in charge of the project

D

54 » 1 a film which/that made me realize the power of music: ZI&
which/that made me realize the power of musicO| a flm2 $£AISHCE 2 a
book which/that made me think about true friendship: 2t which/that
made me think about true friendshipO| a book& £=AlStCE 3 a singer
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who/that made me mimic his dance moves: Z74& who/that made me
mimic his dance movesZ}t a singer= $AlGtCE

34 » 1 August Rushi= UollA] S¢t9] 31& w717 off & %3to]
t}. 2 The Kite runner= U2 2H5 A o|| tijsf) Aztal 2 A 3t
Ao}, 3 Psy= W7t 19 & T3S U WEE e 7kl
=3

I R—————— N\
IAlgo—»goes 2 have —has 3 is—are

B 1 which have helipads in this area
2 that were closed for holidays
3 drivers who pay tolls

C 1 aroom which[that] has two beds
2 who[that] has studied here for one year
3 who[that] are interested in local culture

D » Example answers
1 that[which] is selling like hot cakes
i 2 thatfwho] use 3D smartphones i

>

SHA » 1 EACHBEAL L pAlGHE M3 PEI 00| w2t EAE SAte] 27t ™
SHEICE ZARO| AGH= MADE H40l a little sister0|22 ZAIE SAt
'F_ ZALOl goes7} EIC} 2 B0 4AISHS MEHALZ} BH40I the car

2 AE SAH=E T4 SARR! has7t Eich. 3 EAIE0| A5k MEiAt

%—’.‘—O_' the assignmentsO|22 A SAt= S SAIR! are7t EICh

ol

rr

N
_.__

1A » 1 1= 820 ths o] o5 Ado] 9tk 2 §lF Y
FAfEe] Q)= A A7t QAAHTE 3 U= 257 WIR | &
AE A Z3E

B

SHA » 1 BAHEAD} ASHE MEALS) | 0f wet 2AE SA| a7t ™

SHEICE BEAIAO| fAlsH= MEAZL 24501 three hospitalsO| 22 ZHAIE =

AtE 84 SAIRl havet EICh whiche 24 BAICHFALOICE, 2 2A|ZO|
A

SAGHE MEAPTE 24901 The shopsO|22 ZAE SAts 24 SAR!
wereZt EIC} that2 24 ZAHHALOICL 3 EAIRO| fAlets MAADL S
201 driversO|2 2 2 SAl= 84 SAIR payZt ECh whiche 2 2
AcHHAtO|C,

3141 » 1 o] Aol W7lae] gl gelol Al A Glek 2 F7k o)

2ord Sl A7e Aotk 8 B9 AT W Aeksy o
2% A4 4 9l

34 | Answerkey

C
sHA » 1 ZCH7F S 7H2I BE: a room which/that has two beds 2 O47]A
22E S22 wEst: The exchange student who/that has studied here

3 X 23tof 20| = HEZHE: the tourists who/that are interested in
local culture

D

A 1 AR which/that is selling like hot cakesZ| this phoneS 44l
?_Hih 2 2IE who/that use smartphones?} peopleS 4=AlGHC}

a4l » 1 AL ol RS FH8k= AR?
B: BE[W Zel= o] Aslr]a.
2A1 F §HY E AREAL T ol= Zofl KUY
B: A= 3DAHIEES AHESh= 40HAIES] AltEo] &

Q.
UNIT 49 EXERCISES
-———————— N\
! A 1 whom 2 that 3 which !

B 1 It’s a movie which/that teens would love to
watch.
2 Taylor Lautner appeared in Twilight which/that
was filmed in 2008.
3 The film is based on a novel which/that
Stephenie Meyer wrote.

C 1 Things which/that we discussed
2 who(m)/that this prize will be awarded to
3 the claims which/that the newspaper made

D » Example answers
1 which/that I’ve seen recently
2 whoythat is misunderstood as an evil witch
i 3 who(m)/that Elphaba wanted to save i

5HA » 1 whom ARZCI PerryE MEHALZ St mete| S2X0 Hets sh=
E2XZ mAtiEALOICE, 2 that2 AMEQ! symptomE M3ALZ Gt
suffered from| SH0| H&E otz S&Z HACHHALOICE 3 whiche A
=2¢! thingsE MEAIZ 5112 remember?| =X0| A st= S 2|
CHHALOICE

A » 1 j_L:]‘_ )L
2 v Yt g 2

7198k ks deel ¥

Zob v BHE PerryE 9918 gkt
ro ZAE zk gk 3 T AAY Yb
Haf olopr|Ritt,



A » 1 ZACHEAL whichLt thate] MYALE movieZ ot & 2&E ¢d
AlZICt ACHHEAE which/that teens would love to watch7t a movieS
A5, a movies 2X2| Ho{7t ECh 2 BACHHAL whichLt thate] A
HAE Twilight2 5t F 2EE HZAIZICE ZACHEARE which/that was
filmed in 20087} TwilightS 4=AIStCE 3 ZHALHHEAL whichLt thatQ] MEHAL
£ novel2 5t F 2 HZAZICH ZAHHEAFE which/that Stephenie
Meyer wrote7} a novel2 $AISICE

il » 1 232 AdiEo] B dof 3 gstolct 2 Taylor
Lautner= 2008¢ef &3t Twilighto] &43itt, 3 1 43}=
Stephenie Meyer7} & A~Aof 7]2gt Ao},

C

» 1 22|17} =25t Abgl: things which/that we discussed 2 0| A=
25| = AlZh the one who(m)/that this prize will be awarded to 3 AI20|

M HM|7[8t =& the claims which/that the newspaper made

D

s » 1 the musical® MIAIRZ = ZAICHEAL whichLt thatS MA 2
ZS Ok=C} the musical which/that I've seen recently: LH7F 220 £ &
X|Z 2 ElphabaZS MIMAIZ St= ZACHEAL wholt} thatE MA] 222 ot
=Lt Elphaba who/that is misunderstood as an evil witch: AFISH OHAZ
QEH2 Elphaba 3 Fiyero who(m)/that Elphaba wanted to save:
ElphabaZt T*5t1l 4404 Bt Fiyero

SHAY
aHAd » HE ZA}

SRCRPN
1 o) 2L 24l Ho| A, ek AL
Botolgigut?
— o], o] Wickedis5Uth
2 A2 F9lof Tk Aoliuka?
~ 241 522 7}2] Elphaba o]
U Aetat uhd 2 SapE,
3 7HF 3| Sl A Feloldlsuynt?
— Fiyero7} slrotd|2 #H3h wfglo] Q. Elphabat:
25 Tk o] Bz,

g Aolofa. 1

1 Wicked= W7} Z2of] & FA]Zolct, 2 Abetel up & Qe
2 Elphabat 97} Aot} 3 Elphaba7z} £s}ar Alo] fid
Fiyero= 8]4=olH] 2 W}

(
I'A 1 the teeth — teeth '
2 the parents of which — whose parents

3 Ealzge
=21—= A HAO

B 1 whose wife is an excellent cook
2 the legs of which[of which the legs/whose legs]
are uneven
3 whose personality | found interesting

C 1 whose hands became rough
2 whose attitude is always favorable
3 whose opinion | respect

D » Example answers
1 whose tires are flat

i 2 whosenose is red i

silE » 1 whose= a man2 MAAIZ ot= ARZA BACHAOICE AR

BAUEA whose CHS0ll= BALS £ 4= SiCh 2 AF2HQ! a friendE MEAL
2 5tz AR ZACHHEALE Mof AE2Q! a questions MABALE
Sle AQZ BAILHHAIS MOF Stot ‘the HAF+ of which’= ‘of

which +the Al SENZ bHE 4
which doesn't exist. = | have a question of which the answer doesn't

r9.E
oo
w

QICt. | have a question the answer of

exist. = | have a question whose answer doesn't exist.

St » 1 284 o1k IS Sk WA} oloblsha 9 21
wado] furte] Al W77k QIeh 8 U gl £4J51A)
e 5 80] sitt ol

|r

52 1

B

SHA » 1 ZACHEAL whoseQ| MEHALE Mr. LmSZ 5t & 282 HZA|
ZIC} 2AICHEAFE whose wife is an excellent cookZ} Mr. LimS $=AIGHD,
Mr. LimO| 22| F0{7t EC. 2 2AHHA} whose?| MAHALE chairz 5t
o & 2&S HZAANZICH BAHHEAFE whose legs are uneven0| the chair
£ A5t the chaire fixQ] SX0{7}t EICt whose legs are uneven
the legs of which are uneven = of which the legs are uneven2 2 &
S ATk 3 ZACHEAL whose?| MEALE a man2 2 5t & 2&S A
ZAIZICt ZAICHEARE whose personality | found interesting0| a mang
A5, a man2 married?| SX0{7} EIct,

A > 1 oRZE Hold RelAel o Ade] Selg Zosick
2 el REREU 1 G4E 23, 3 i Wk wlel
sgzjo) Aplglt WAet e

C

sHA » 1 TIotAZ 20| 7ZZEI Dorothy: Dorothy whose hands became
rough 2 EHE7} g S2|HQ1 Jenny: Jenny whose attitude is always
favorable 3 X7t 718 ASSH dzst= HAiE 71X 22 the one

whose opinion | respect the most
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14 » 1 whose= ARZ ZAHHEAIZA] a bikeS MALZ S} a bike
whose tires are flat: Et0|047 b "®3H X7 2 whosee A9 BAILHE

A2 the reindeerg MIALZ StCY the reindeer whose nose is red: 2
7t w7t &2 / x| 289| SAH= Rudolph 29| isO|Ch ZAI™ £9| isE2

SN2 A2t5i7] QU2 it

34> 1 2 24 Elolo} Yad AR 7T ek 2 37
W7} 2| REIo}

O N\
A 1that 2 Mzr27p 3 whichwas

B 1 to which our parents were invited
2 An architect with whom
3 on which birds feed has been reduced

C 1 for whom you’re waiting
2 of which we were unaware
3 with whom she had a fight

D » Example answers
1 (which/that) students like most
2 (which) you have to pass through = through

i which you have to pass i

S > 1 O7IA that S8 EACIZAIO|DE MR & It 2 K|
Ab+ 252 EOIHRALOIA 252 KNS M2FE 4 8ich 3 which
)

=== e

was="F2 BAtHEAHwho, which, that) + beSA}S| AR0|=2 Makst

4 QuCt
atiA » 1 252 7} AElo|=olA B R&Eoltt 2 Y7t
A Qe Hobg Aldslel 3 oz yew 1 o7t Js)

A » 1 BACHHAL 2ol to7t Yoo 2 B T & to= MX|= U=Ct
2 "HX|AF+ who, 2t TEX|AL+that, 2 2= MX| &=Lt 3 MA insects
0|D§ EAHHARE which7F ZC} on2 feed 0ff S1ZEl= onO|Ck feed on
~Z H0|Z 3ICl, the insects on which birds feed: {E0| HO|Z 5t=

I'I'JZ

==
S=

HEggo] Ze

rlr
)

i

S AgsiaL ik 2

rr

i > 1 -2

ol

36 | Answer key

= AR 3 AlEel

1A » 1 GA0| 7|Ch2| T = AR (the person for whom you're waiting):
the person for whom you're waiting the person whom you're waiting
for EE= the person youre waiting for2 HFY £ 4= QICh oAM= the
person youre waiting for2 0| £Ct 2 K27} X 23HH HS| (the
changes of which we were unaware): the changes of which we were
unaware2 the changes which we were unaware of == the changes
we were unaware of2 HHIJ 2 4 ULk F0{0 M= the changes we were
KHATE M2 Mary (Mary with whom she had
a fight): Mary with whom she had a fight= Mary whom she had a fight
with EE= Mary she had a fight with2 HHH £ 4~ QJCH

unaware of2 0| £2Ct

D

silA » 1 the sport (which/that) students like most (SH4S0| 7+& Z0l5}
£ 28): the sport which students like most L= the sport that students
like mostOllA] B&Z4 ZACHEAL which/thate Af2kst 4= QIC} 2 the city
(which) you have to pass through (X|L}Z}0F 3= EAl): which= the city
£ MIAIZ 5t= S ZAIHHALOICE the city through which you have
to pass2tl = & 4~ RUCt FO{E S 2= the city you have to pass through
2fo Sk

S141 » 1 UHz SHIS0] 7P Folshe £%50] Z7ekn Az,

2 e Aol A FARS R ZHE AU7tok Sk Alolth

( N\
''A 1 team, which 2 =opgx|ee !
3 Life of Pi, which
B 1 The police found a clue that pointed to a new
suspect.
2 He published a new album, which will be
released worldwide.
3 My auntie, whom | like the most, is getting
married.
C 1 which is the capital of the UK
2 which | want to learn
3 who(m) I’ve kept in touch with
D » Example answers
1 which has Klimt’s ‘Kiss.’
i 2 which is a breaded cutlet dish made from veal. |
| J



A

A » PSE=

= 2¥el oot S8
sloz 74|¢X gYHozr &
ot 3¢

Home & 4 it

atfal » 1 I 2] B

Hired), A714 s

o 2 AdEelA g Rt AL opALR?

PiZ 233, 17 WA

off &

el

2t

AIGH

2 5t

a new album0|2 2 71|4—7i1

o

e

AICHEAL 2ol S0tE

=
whoml 2 F 238 oA

ol 80|22 ALX Y

Al » 1 AR N2E

< A s Wed s d

W2 o7

1> 1 clueE MYAIZ S HACHBA} that2 2 F &
HAICHEA} thatO| 0|11 ZHAIE that pointed to a new suspect7} aclueE
C}. BACHHAL that2 AlEX 8HOZ £ 4 Qict
BACHBEAL whichZ F 288 HZEsHT h A

1 ASE 20| ZAUHAIEE commaz 22|51 #A1Z0| 3o
©| o|o| stct, of "*QI He left the rugby team2te 2 ojo|7} &
4

g E} 2 that2 A I’*’H YR £ 31

201195 E H
3 U= Life of

2 albums MEHAL
an albumoO| OfL|2t

HoRE & 4 Ut ALH BYe= stH

=} 3 My auntieE MEiA
fCt | like her the mo

t2 Sh= ZAICHEAL

st= My auntieES 2 A
o HAHBAER F=Ch

$oIAE Tl TS wasle 2

olwe Wk 7Hd Foshed] A& Bttt

C

AAM L2 Pl Zlojtt. 3 U

A » 1 F2o| 2221 21E: London, which is the capital of the UK

2 L& HiRD AChE A

o
X SOl HAHEAIEZ EH

)

1 Z7tol| oiet £ Aol sigsiez AlS= el

D
s » 1 4= Zoll Zapt

museums MR St=

A A0 ChEt RH 2ol sigsiez 7%

- T 2o

ot 3 ‘U= 7% Jof MEGH irhets 22

== oe—

PAHEAIEZ Bict,

ACBZ JI&E YOl BAHYAL 2FO|CE

ZABANHA= whichO|CH,

2 ofE 20l S0t

JtAeBz A& S| BACHFAL 2FHOIC SchnitzelS MAALZ Sh=
Z2 AIiE A= whicho|Ck.

Ly

A »

ol

27

Hjeluy, 33 a7

«Belvedere ¥H=-7k: Klimt2] Kiss 2%
«Schnitzel:F0HA] 17|15 §FA AW W7FEE ¢l

1 $2]%= Belvedere 2HE

B2 WrEEY 3o Klimte] Kiss
7} 24=0] 9tk 2 $8l SchnitzelE HY=
1712 QFA| A Wl = 93] aajo|ch

g A Sk

O N\
'"A1c 2d 3b 4a !

In addition, it offers a wide range of after school
activities.

C 1 Besides, you don’t speak Spanish.
2 In addition to writing songs

D » Example answers
1 Moreover, they are eco-friendly.
2 |n addition, you have life-long friends

5H4 » 1-4 In addition / Furthermore / Moreover, 01 + SAL ‘E£8t / 7|
Ci7t / Bi=0| ~O[ct o|o| SFSH Agtol| F7HHe 2 FHLE =28 HEY
I £2Ct,

4> 1 71 SEoIA R R Qe H4S @ 4 gtk

£ ol AREE 253 gtk 2 1 GolE S 5
e, Arh} wEE A e, 3 Uk ok 24 g, A
A deAE o5 A B &8 T 4 A ol
o Bugle eso] 1t Al

B

ailAd » It's my cousin who convinced me.: It's ~ that(who) — ZZ& 20|
Ct ZZ chAlo] Afl HAL0= that CHAO| whoE £ 4= QUCt / ESE in

addition / CISE a wide range of / 81t & &= after school activities

=
5

5140 » A: 9 1S uol?
B: U8 AEAIZ AREE v ARolo,
A Jake Zrolof? 1= Dalton 1158two] thyx] gkof?
B: gol, 219} ol oJstH A7] WA Kent 5-stuit
F 0Pt i), Ea TReIAE teke Wit ¥ BES
AFIAE,
A: 224 U7} Kent 5] A Q3T

C
34 » 1 Besides, 01 + SAk o] 2ol of st 0|RE HEY ujf #ct
2 In addition to+ HAF 07 to CHEQ| LHE| s F7H&Q! HEE st

uf £2Ct,

atiad » 1 | 22 A7) of3isk ok W, AT | AHleje 3S

aol.

D
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moreover CI20]| / eco—friendly 2IEHEZ21 2 You feel less lonely 2|22
S & L7ICH / if you have siblings &A| XtOH7F AU2™ / in addition AICk7 T,
L}, EESH / as soon as you are born EHO{LEXIOEX}

s > 1 H7k U5k whEe) AES 0 v 4 et o

S0 AASE WA, 2 FAA} A7 me e @
LRI}, g eofubaub WS A7} Al

I\[| YW  EXERCISES
o \

'A1d 2a 3b 4¢ !

B In fact, they wanted to celebrate their son’s
birthday

C 1 |tistrue that my phone cost a lot
2 Of course, the musical had already started.

D » Example answers
In fact, she was born and raised in Korea. /

A » 1 In fact, 0| + SAE AFAE2[AMZE] ~o|ct oo| HZE Zof gt
El= eS8 ZZE uf A0k 2 In reality, 0|+ SAE AM2= ~O0lCh,
olo| YT U= ArdT} CHE LHES 2 mf £0t 3 Of course, T+
Al 28 ~O0|ch X|Z stz Zo| AFHO|7L 2Ch= WS ZXE o 0t 4
As a matter of fact, 0 + SAL AHE2 ~O0[Ct ST 7t gz SF 2ofl Chal
SUSHK| L7{Lt CHE 274 ' mff £Cf

i » 1 L S27b8t o] sk AP 9 AR 9 a3te]
A3t 2 ek BE A BF AN Pk AfEE T
ArelE Goirh 8 I TVOIH AL Yok BE ARES
o ol T8 WA gtk 4 A AL glof Mol AHE
w2 3,

SHA » Isn't it true that ~? (~2H= Z0| AFAIRIZIR?): it 71304, that 0|5t
71 FIF0{Ql 20|t / besides AL 1 2lo|l= / doubt if their
intentions were sincere (152] =7t ZIMOIUEXIE MBI if their
intentions were sincere= FAFEZ A doubtl] 2H0{0ICt, / in fact AHAM2

/ by -ing ~: ~&tSZM / make a donation 7|£E STt

atiAl > Al LT QIARR] FET7L wink gl Aol 7153t
L 7o) ApARIZER?
B: o, Azt 1A Aol ofdel g,
A: o' AFEL 1E50] oy} Aol E AR,

38 | Answerkey

As a matter of fact, she always feels lonely I

B APNE 5 duict 7|9E fozK obEe 4Ug
Falsta 4lof ol .

54 » 1 ~Ql Z42 AHAlO[oF: It is true that ~ / it is worth ~: ~2| 7IX|7¢
ct 2 Z&: of course / arrive at ~0f =2SICH / the musical had
already started (FXIZ2 0[0] A|RZ|UX]): =25 T{ECH QA FXIZ0| Al
RS S LEE 1i{tE FZ0Ich

a4 > 1 0 HBPI7h HRE R ARdolok SR 1 Foyuke 71
7hglel. 2 9ell B el mAel, BE RALE ofn] A
Aol

Falizl WS E0fst=

514 » When asked if she enjoyed being famous (&
= = When (she was) asked if ~ / I've heard that

L= AES Qs o) =
US SACt / In fact AHE / since everybody loves her Z2&
Af0| LS Z0t5k7| t20] /as a matter of fact AMA2 / feel lonely 2|
E2E L7}, =Ystct

3141 » Amy Kuramoto+= 3t=tofA] Ul A5t} 57424 A
el “Ltﬂi S8k, v 7hSe] i o] el = =

AR, SN S Folohrp RS WAS ), 1ol o
A1 AAe Sorelo] 53 A8 Boleka shelsc

Al Y7 A3 EAlojgal E4lol.

B: AP Sl ] var Algted,

Al W= Abo] U E Fofsly] wiZel Iu= FEd A o,
B: AR2 7ho] o] Q7] fiEo] v 5 L=,

TEST 6 UNIT 46~54

( Y
HAle 2¢c 3a 4d 5b 1

B 1 The Pakistani girl who/that had campaigned for

women’s education survived a gunshot.

2 One of the people who(m)/that | had seen before
came to visit Mary.

3 We enjoy spending time with the couple whose
house is in a suburban area.

4 My mom bought me this jacket the color of
which[of which the color] | didn’t like.

5 Mr. Hall organized the jazz festival in which we
participated[(which/that) we participated in].

C 1 makes 2 is 3 were 4 were 5 are

D 1 | have a friend that wants to work for the UN
someday.



2 The theme park, which once was abandoned by ek
visitors, is full of people. C
3 She likes movies which deal with fantasy and
adventure. s » 1 %ﬁltH%?APg_Ql 207} whose acting0|=2 2 Tt40l makes7} £
4 Every month, my family visit this ranch, which | o 2 Whogl_ HBAPY OrTe of the passengers0|=2.2 2l is7t %:r
3 which2| MAZ} some fimsO|22 2401 wereZ}t 2L 4 who2| A3l
grew Up on. o AP} the inventorsO|2 2 2401 were7t SCt 5 EAICHHARRS| Zo{7}
5 My friend played More Than Words, which is my whose children0| 2.2 2491 are7} S
favorite song.
E 1 Infact, she is the oldest (one). st > 1 = A7PE RS Rl &) ehe eSS £ JE}
2 Of course, I’'m not (interested in it) anymore. 2 A9l A B Apo] 1 A SR ‘%lE} 3 ofAlrell |
. g EEE0l itk 4 9= S AT o] 7IAY WS
3 Besides, | don’t have any money now. o gt § ASo] BE ARRRATS An|A olit Se] ol
. =2 A = T o—-IT= —"— T o
4 Also, you can help people in need S0 = o]
iy R Sh= waL Aot
i 5 In addition to paying tuition i
\. 7/
S » 1 thatS F2 ZAIEAIZ 5t & XS AZsk, BAHHEAE
A 0| MEARRI a friendS ~AlGHA| SICE that2 &N 8oz £ £ glea
a2 » 1 which= childhoodE MAIZ sh= =X ZACHEAO|CE 2 S0t g2 # 8tk 2 whichg 2 ZALHEAIR 5t & 28 o
2 The person wrongly accused as thief: The person who was wrongly St EAICHHAREO| MEHAIRl The theme parkQ 7} HEE Ls =
accused as thie(EEC 2 HR J7|AE AFZNOIAM who wasE AM2Fsto] 2 Al = Jl&X -o| 2ROE Mr} 3 whichE 32 ZANHALR 504
20| 23te| F0f HEZ st Uct 3 The room into which | looked= 5 2SS Hotm, BAHBEAIEO| M-AIRI moviesE sAlsHA| iCt,
cgrcqgr 20{#|0|H, FO{FMZ= The room | looked into 2 ZHH&1A| T3S whiche AI&E 8HOZ £ £ JUX[TH MHAIR! moviese THIZRI FotE
QUCE 4 that has just opened: 24 ZAICHHAL thatO] 0|T= ZAICHE AUst= Z40| OIL|EZ B Moo|Lt 27 HEE MZE Z40| QCt [t
APSOIEH the restaurantS 4+AIBtCL 5 whose face she didn’'t remember: AER HBCH= SHE 2o 2R0| XIHARLCEL 4 whichS 257 o
AR TAUNBEAL whose?} 0|Ti= AICHHAIEO|H MomE $AlStCt, ACHHALR 5tod & 22e HA5tD, EAHAREO| M@“AFOI this ranchS
HAMHS St 5 whichS 2 ZAEAIR 5lof & 238 oiZstn,
Al 1 = Z2 B o7l AES AL, 2 o w A ZIAIHHAFRO| MBHAL! More Than Words2| H7t I*E% 5l e FA
7148 Abo] x| AollA] FEyity 3 W7t Eoivh £ R s = Jlax RYo| 2oz Mrt
S2 7tS Ak 4 AFEES e e O AR Solske A
Zskel 5 ¥ dak 7198k St dnkE & LRl A » 1 Lol A= AAIZF UNoj|A dsla g 3l 227} 9k
2 1 Hrptae i eAseiE oW wolet oAl Al
B =& 7hSsith 3 v 34T B EP%% B3HE Folglieh
514 » 1 The Pakistani gire MBHAIR st= =24 T CIHAIR & 2A2 4 tjg 28] 71E2 o] BAS =g, o] HA2 Y7t Zek o]
HZ5L0, ZACHHALEO| The Pakistani gitS 4A5HA| 3tk 2 One of o 5 Y 297k More Than WordsE AF=d, 2512 W7t
the peopleS MEAIZ Bl BXZ AR £ 2uE etzsio | T8 ToroheE =l
CHHAFEO| One of the peopleg s~AloHA| SHCE 3 the coupleE MA-AIE
Ste AR BAYAIZ = 2T HZSI0, BACHZAIEO| the couple E
S AAISHA| BIT} 4 this jacketS MBAIR SHe ASZ TAIEAIR = 2 34 » 1 AHaL in fact 2 mistook me for someone else: LIS CIE Al
A2 AZ5I0], BAHZAREO| the coupleg 4AlBHA Bick 5 the Jazz £ R LUCH/ 28 of course / H OS2 OHLIXI: not anymore 3 A[C
festival® ABHAIR 8H= 2XZ4 TALHHAIR & SRS HZi510], THlCH 7t besides / =t =0| 5| €l04: | don't have any money 4 EESE also /
APHO| the Jazz festivale $~Al5HA| St} the Jazz festival in which we Ol ARl people in need 5 ~6h= 22 E&: in addition to ~, to Tt
participated = the Jazz festival which[that] we participated in S0l= YA {727} Lietof it
i s 1 o TS SES 3 mhy| A A7) FAFoA] Aobdgr i e 1 ALA Aol AdE Al " F L ol7E 7 ofRl A
ot 2 U7k Aol B AEE F § Aol MaryE Folgit) 3¢ e
etz o] melol gl 2 %9k il AR mibs 2 Fohick B: APE 277 el ok,
4 Auprt velA o] AL A Ve ARY AZo] mhs 2 Al W ofglof?
o 4] 9kt 5 Mr, Hallo] a7} 43t o] A= 415 A ] o]l At Fol. Al Ide UE ohE A
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2ko g 25 o)t 7)
Ar el ok 1 AkEjefl a9l 71ok? (LA ol 1 A}
2ol gl §lolel?)
B: £& o o4 ohjx)
3 1 A mt AJubg b Folall, Atk Alw =] A glol,
4 92 St W=l AFHE S8, EI B AP ole AS

EE g ol 5 = 3HE e A 58 AgHE AT

S

(

A 1 whom 2 which 3 none of which

4 which

B 1 They can still agree to our conditions, in which

case the attack will stop.

2 (California has a lot of visitors, most of whom
come to see Disneyland.

3 He was devoted to his children, all of whom
loved him dearly.

4 The automaker exports a lot of cars, some of
whose brands are popular in the US.

C 1 On my trip, there were forty people, most of
whom were from China.
2 She played the piano, which instrument |
wanted to learn to play.
3 | like listening to Madonna, most of whose
i songs have been hits. i

i » 1 AlSE SO ZAHEAIEUA, some, all, both, none, any,
many § £ LIEHLE SFYAL CHSOf| of whichLt of who(m)S &5l &
2 UEE 2 whichZt EAARE ol BAH A0l fIXloh= SPIAIR MY 4
QUCh ASE - TAANENIM £ 5 U= FA0|H, ofuf whiche| ol
TRADE 2= Z7t Bl 3 ALX el ZAHEAFEIM, none of
whiche IHE = OFR[{H] A= ~ ofL|che] % 2 MOICt 4 whichZ}
4-*71|AW QHOlM AL ol YXIets SHHAIR M 4 QUCE ALEX 889
AR M £ 5 U= FAolch

°

ailAl » 1 729] W2 Aol 30%%IY] 15 M) Zhdet ek &4
ofct, 2 i wFo] W 4= loyrt fEle UH wHik= Ao

3 Al A ol 99 2 5 o A 2 5l
UG} 4 TS EEEZolR WPtdl Ui A5 1 2S¢
EA) Fe

40 | Answerkey

o]

1 » £ Yol TAAE
FECL 2 most of themZ most of whome 2 Hetst Al&H E 9
Hg o=t 3 all of themS all of whome 2 Tetsto] AlSH 29

F=C}. 4 some of its brandsE some of whose brands2

= |
SYo| BAAES L=

1 in that caseZ in which caseZ &SI A

ol
=

|'III r|.|>

I

e mo
-3
>

i

10
i
-3

A

Al

k=1
=
E-S
=

r
rht
on
2

% 1] g A5l

2 oz 92 2o Fojgt
ksl 7ot} 2 Californiaofl= &

L3Ae % 2o o) 15
ool f=URES el 2ok 8 1k 4| ofolSelA dAlY

o)
Qv IF mEZL 38 RA AN 4 1 AFA Ak

o|%

AFAE ol £EWY T F ofd HASEL n)3elA] el7]o]
t},
C
3 1 05 & HEE2'S most of whom2Z 5t0] AH&H 9| i’.;ml)\f

hich instrument | wanted to learn to play. 3 ‘Z142| =2HE

My
g gkECh 2 whichE SHYARZ 50 Al 89 4".:*71|)\Pé*%
Wi
'S most of whose songsZ 50 Al&H EHo| BAAES THECE

=
~,
=
-

e AY
! A 1what 2 What 3 What 4 whatmoney !
B 1 What he said
2 what you want
3 The thing which/that annoys me
4 what | ordered
C 1 What | need is a long vacation. = A long
vacation is what | need.
2 Nicole always does her best, and that’s what |
like about her.
3 He spends what time he has with his family.
4 Nobody can tell what will happen tomorrow.
D » Example answers
1 Haeil is always optimistic, and that’s what | like
about him.
2 Mina is always modest, and that’s what | like
about her.
3 Changmin always smiles, and that’s what | like
I about him. I
S J



A

S » 1-3 HACHEAL what2 MEALE ZEFet AHEALZ A, the thing
which[that] EE= all thatzt 75*8 gho|Ct ZHAICHEAL what2 ‘~at= oz
SHAISICE 4 whatO] 0|11= EAICHEAFENIA what| Flol AP 2 =

U}, 'what + BAL= "all the + HA}, what money = all the money

OOI‘

a4 » 1 o7lo] ¥i= W7t sh= Aotk 2 Y7t 3 AL &
th 3 1 ofo|7t R R FHi= AL ofFolt) 4 U= Yk 7 &
& o J1oA =3k

SH& » 1 the thing that2 ZAICHEAL what2 2 HHH £ £ Ut 2 the
thing you want= the thing which you wantOfl A 2&124 ZH{ICHEAL which
7F M2k=l 740|122 what you wantZ HHY & £~ QUCH  3-4 ZcHEAL
what2 the thing which fE+= the thing that@ 2 HHY & 4= QUCt

=

a4 » 1 717 2t Alo] U HebA| Ak (b avb g el
BEh) 2 A 3 U7k Ut Aok? 3 UhE AZMIA s A
& o] HlEek 4 olZ U7k F2at Alo] offok

C

S » 1-4 ZACHHAL whatS AESHCE 1 WA 228t 24 what | need
2 %|MZ OS5I do one’s best / LHZE L0l CHaH Z0t5H= &: what | like
about her 3 127t 71l BE AlZE: what time he has / X}7| 7t&at &4
with his family. 4 Li £& 0| MZX]: what will happen tomorrow / Ot
2 kst & ¢iCk nobody can tell

D
siA » 1-3 AICHHEAL what2 AFZSICH 1740| HER ~O0|CE that's what
~ [ L7t ~0f| tis Z£0t5H=s &: what | like about ~

UNIT 57 EXERCISES
T \
''A 1who 2 Iknowshehates 3 with which !

B 1 with which to buy food
2 to talk to
3 in which to live

C 1 I’ll show you something | think you’ll like.
2 That’s the woman (who) | wish I’d married.
3 She needs a chair on which to sit.
4 After a long trip, home is the place to which to
return gladly. &= After a long trip, home is the
place which to return to gladly.

D » Example answers
1 That’s the man (who) | hear reads ten books a

month.
2 That’s the boy (who) | hear has gotten perfect
scores on all the English tests.
3 That’s the woman (who) | hear gets up at 3
i every morning. i

> 1 ZAEARE £0f ZFHSHHO| 'R0+ SALE MYE 5
ACHHEALR! AR, MUH Flo| &AL that2 BHEA| Af2Ez|ofof St 0f
Zro| BAUNHAPE £9] | hear= MAR0|1, whoes 2 B MEH

is2| Z=0{0|C}. 2 That's the man who(m) | know she hatesOllAl 22Xz £
AICHEAIR! who(m)O| Af2kel Zio|Ch EAICHEARE £9] | knows A IEO|
1, the man2 M2F=l who(m)2| MEHAO|H hates2| Z2X0{0|CE 3 AMSHA}
7h BACHHAPE oto| FR|ALS SHUY o, 1 HXIAE BAHHALS] o]
S0 BACHEALS| Fofl toR™AIE £ 4 QUCL 0] 282 20H0|H, 25
2 MoB™AL+ MXIALZ 2L} | need a pen with which to write, (204) =
need a pen which to write with. =1 need a pen to write with. (7£01)

oIt =

My 4 A o2} Yt E7|2E Jim3 AFFIL Quks ARolof
11 HAF W7h d718e 297E Hdolets ARolok 3 U= &
lo] 1 a5t

[‘i N o

314 » 1 to buy food with= with which to buy foodOflA 24 ZA|CHYH
At whichZt A42Fz|0 MX|A with7t FI2 ZF A0IC} 2 to whom to talk0lA]
2X74 Z|CHEAF whomS A2F5T MX|AF oZ talk Flofl ==Cf 3 TXX|
Ab+ BACHEAL + = S THX|AL+ ZACHEAL+ o2 HALE HHY 20

4> 1 92 S A Eol gtk 2 Lt B Aol B
asith 3 152 A Fo| Wasit)

C

s » 1 1 thinkE HUEZ ISt U7t Z0te 72fn H42tst= &7k
something | think you'll like / LS| ~& E0FX[: Il show you ~
2 | wishE MUEZ 0|8stCt Ligh ZEAUCIH ZUACH 22 oXE: the
woman (who) | wish I'd married 3 FO{Zl THo{0]] which7} QB2 a
chair on which to sit &= a chair which to sit on2| #31Z 0|Estct 18
Lt 0|42 20{#| EJ0|H, FO{X|Z= a chair to sit onO|2t SiCE 4 0
Zl Etofol| which7t I B2 2 the place to which to return gladly E&= the
place which to return to gladly2| ES1S 0|2siC} 0|42 20| E310|H,
TOH|ZE the place to return to gladly2ta? StCt,

D
S » 1-3 BAAE &2 ME TES 0I8SICE 1 | hears MYEHZ
olgsict L7t £712 §t 2ol &S 103 eChs YAE the man (who) |
hear reads ten books a month 2 I hearE HUEZ 0|&SiCt L7t E7|12

E JoARoIA SHEE Hho

_l?_
rr

A the boy (who) | hear has
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gotten perfect scores on all the English tests 3 | hearE &UEZ 0|28t
Ch LH7H £712 oHY AR 3AJol| 7|&bSteh= 6IXE the woman (who) | hear
gets up at 3 every morning

(

A 1that 2 that 3 that !

B 1 | believe that she is still alive.
2 The details are in the e-mail that | sent you
yesterday.
3 They ignore the fact that he told lies.

C 1 | never said that | was afraid.
2 |t is possible that he has not received the
package.
3 Apartments that overlook the river cost more.

D » Example answers
1 |t is true that generally women live longer than
men.
2 |t is a fact that Holocaust occurred.
3 We can’t ignore the fact that most deaths from
i lung cancer are caused by smoking. I

S » 1 HAMES 0|1 ™AL thatOlCh thatE0] said2| SX0Z ML
2 the people2 MAIZ SH= Z=24 BACHHEA} thatO|Ct 24 ZEAICHHALO|
O Z conducted?| FHZE theyE £ MH OF =} 3 saide| SM0{EE 0]
1= ™A} thatOlCh It is said that ~. AFZHS0| ~2t 2tk

341 1 7= 1 olobr|7} Abdlojetm it 2 1 ATLE 4
AL ARFEeIT 3 ARES T gz £9)
chin Wk (s A4k Selckn siet)

sl » 1 | believe that ~ (Lts ~2 =D that2 FARS olns T4
A0, thatEE believel| SHOOICL 2 that2 the e-mailg MEAIZ 5t
= 27 ZAHYA} thatO|Ct the e-mail0| sent?] SX0{0|C}, 3 the fact
that he told lies (17} HAIZS Slict= AMAl): S240| HS 0T thatO|Ct,
"the fact that ~,2 CH7H ‘~2h= AHY B ~Q1 AHAOl2E SHAISHC,

41 » 1 Lh= 1) obx) Ao} qirkm Witk 2 4HE gL
oAl 7t B ol|ele] Qlet. 3 TEE Tk AL o AL
BAgIY,

42 | Answerkey

C

Al p {1 L= ~Bt= 22 2 SHK| LU (| never said that ~): that2
said2| SHNES 0|11 ™LA} thatolch 2 ~Y 7H540| Qck: (it is
possible that ~): that2 HAFEZ 0|T1= &AL thatO|Ch 047|A that®e
TIF00|1 it2 FOIES ChAlsto] M1 7EF00ICE EE ZIF0{2l thatE2
F2 2D, B ol 7] itg £0t 3 1 ZS LisciEE olES
(apartments that overlook the river): that2 apartmentsZ MAIR st= 3=
Z4 ZACHHALOICE O] 2E9| 0= apartmentsO|1l that0| 0|11= ZHA|CH
HAPHO| 012! apartmentsE $=AI5HTt 222| SAt= costO|Lt,

D

SHA » 1 ~SIChHE 242 AFAOICE (It is true that ~): that2 HAIEE 0|T1=
TSAL thatO[Ch thatE2 ZIF00|1 it2 FOES thilsto] M1 7H50{0]
O} HE ZIZ0{Q) thatR H2 HLHD, 28 ool 7130 ite &0t 2 ~at
= 42 AAOICE (it is a fact that ~): 242 A 0|I1= thato|Ch. 3 22|
= ~2te AMME 2AIE 4 gict (We can't ignore the fact that ~): SZ42|
EE 0|1E thatO|Ch the fact that ~: ~2H= AL ~O1 AMA

e N\
! A 1 when 2where 3why !
B 1 There is no reason why | should do it.
2 This is the house where Beethoven was born.
3 That’s how | solve the problem.
C 1 The day may come when our air becomes too
polluted to breathe.
2 There are many delicious ways you can prepare
chicken.
3 There is no reason why we shouldn’t succeed.
D » Example answers
1 | look forward to the day when North and South
Korea will be reunited.
2 | look forward to the day when college entrance
exams will be abolished.
3 I look forward to the day when nuclear weapons
i will no longer exist. i
[ — J

SHA » 1 Z4EAL whenO|Ct, BAIEAL when2 the time, the day S AlZt
ofl shEste MAIE Al5H0 “~& moll'e| 2|0|§ LIEHACE 2 EAIFAL
where2 the place S ZA0| siiEdHe MEAIS L£AIGH0] ‘~SH= ZOA!

9| o|0|E LIEFHCE 3 BAFAL whyOlLh BAIRAL why= O|RE UEL=



MEA} the reasong 4=AIGHY] ‘~5t= 01R'2| 2J0|S LIEHALCE the reason

Q0| H=o 2 why B2 £ £& QUCh | don't understand the reason why

she fell in love with Jim. = | don't understand why she fell in love with
Jim,
AL > 1 Aok 2 FEAL Y

£ As it de S o
= 1

47} Jimah Abeol] Wizl o] -5 of

s » 1 There is no reason why ~ (~5{{of & 0|R= SICH: EARA}
whyZt O|RE LIEHHE M3lA} reasonS 44151 ot 2 This is the
house where ~ (0|20 ~&t TOICH): where2 ZAISAO|C) EASAL
where0| M3HAt the houseZS A5t Tt 3 That's how ~ (A ~&t
BHHOICH: hows ZAIRALOICEL EAEAL how?t O|T1= HO| HAEEM 2
Zo| Hoj Hgtg st ot

a4 » 1 W7F 23S sfoF & ol §lof. 2 of Fo] H=HIo]
oft Holtt. 3 1A w7k 1 fxﬂe )2k Wrgolof,

C

s » 1 ~3h= 0| K| B2C} (the day may come when): when2
ZARAOICE, / HR 2HE &8 S0/ £ 8l (too polluted to
breathe): Moo + A +1to + SAMYE . L2 ~5t0] —&F 24 Q= 2 ~5t
= BHIE0| 20| RUC} (There are many ways ~): 047 |A way= ‘20| Ot
izt ghedel s£olch 3 ~o5tH ¢t € 0|R= X& Qitt (There is no reason

why ~): whyE= BAEALO|CY,

D

54 » 1-3 L= ~& 2 STt (| look forward to the day when ~):
when2 HAEAtO|Ct,

e

A 1that 2 that 3 why = the reason

B 1 | have hidden the money where nobody will find
it.
2 | don’t like the way he laughs.
3 The reason these hats are expensive is that
they are made by hand.

C 1 That was the year | entered elementary school.
2 | hated the way he stared at me.
3 The reason so many people caught the disease
is not clear.
4 Let’s go somewhere we can talk in private.

D » Example answers
1 | like the way he considers the feelings of
others.
2 | don’t like the way she gossips about her

i neighbors. I

SHA » 1 MEAPT} the way = ZHAEAL howlt the way & GiLIE &t
EA| ‘42k5t0d £2L} &, the way ~, E= Thow ~,2t11 SHX], the way how
~ 2t SHK| Y=Lt the way that2 £ 4= QUL 2 anywhere that= E|X|
ot anywhereZt M= Z40| O 2HIHO|CE You can sit anywhere you like,
(YEEXOl 754) 3 | want to know the reason why ~ (4|7} ~& §t 0|RE
ot ML} the reason why ~ELCH= the reason that ~ EE= why $10| the
reason ~0[2t1 H0| £Ct ' the reason §10] why ~2t11 &= BLO| #4Ct

S41 > 1 LHe T2k & Qe WAL Foldith 2 hge) Bi 2
oFRLt gokE . 3 Uk TR % olfE U Atk

B

514 » 1 where2 ZHAIRAIOICE 2 the way ~: ~&t= HHAl 3 the
reason these hats are expensive (0] 2XFS0| HI# 0[L): the reason that
these hatsOllA] thatS A2kst HSOICE the reason0| 29| FO, is= =
Al that they are made by hand= is2| E0{0|C},

» 1 U obFE 3] 5 3ol T =2 stk 2 s vt
HOW & Hofgtth. 3 o] mAEO] v olfy= £02 wHES

_I

ailAd » 1 27t ~3HH SHFCH (That was the year ~): the year whenOi|A{
BAIEAL whenO| MEEEl Zd0|Ct 2 ~&H= BHAL the way ~ / stare at ~
~Z 5| KHCHECEH 3 the reason ~: ~Ql 018 4 O{ZI7I2: somewhere
(EAD

D
A » 1 ~5he AL the way / CH2 AMEC| XS HIZ{SICE consider

the feelings of others 2 ~0i| CHsll KO|0F7|E StCF: gossip about ~

e

A 1 whenever 2 Whatever 3 how

B 1 Whatever you want is yours.
2 No matter how hard she tried, she couldn’t
persuade him.
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3 Bodyguards follow the singer wherever she
goes.

C 1 Call me when you get there, no matter what the
time is. te= No matter what the time is, call me
when you get there.

2 She told my secrets to who(m)ever she met.
3 Whatever you cook will be delicious.

D » Example answers

1 However hard it is, | try it at least twice.
try it at least twice however hard it is.

2 No matter how mad | am, | don’t swear. &=
don’t swear no matter how mad | am.

3 No matter what time | come back home, |
memorize forty English words a day. == 1
memorize forty English words a day no matter

tA
rr

i what time | come back home. i

54 » 1 whenever = every time YIMIEX| 2 whatever the hour A|Zt0]
2 AIE 3 ~0|E HH3lo['Q] 5221 TO|2AL+ ever= o matter + 2/ A

2 HFRO| £ £ 2Lk No matter how = However

=

atfal » 1 AAIE H7E ¥ o de}E . 2 ARke] H AlE d=
wollAl ZetE gtk 3 of A oS REdhE e dFE T
ok

Ny

¢

sH& » 1 whatever you want: W7} &5ts A2 HE 2 no matter how
hard she tried: 147+ OF22| OHM= 3 wherever she goes: 147} O{C|
=

4 > 1 7k U5 2L HE oo Aok 2 offe] o 1
£ 08 454 S gt 31 7kt olog e sl

T9E ujet hyt,

C

A 1 AIZH0| 2 Al 240l no matter what the time is 2 147} TR
AZHS OFRSHE|LE to who(m)ever she met 3 U7t Q2l6H= A RIEX]:
whatever you cook

D

sH& » 1 OFR2| ElE YU0|H2LE: however hard it is 2 L= OFR2| si7t
LIEEEE: no matter how mad | am 3 Zlofl & Aloll SHL.EX]: no matter
what time | come back home

44 | Answerkey

Ve N\
''"A 1 where 2 who 3 which !
B 1 when 2 that 3 where
C 1 There is a reason (why / that) people don’t want
to talk to him.
2 2001 was the year in which the new century
began.
3 The lake in which we swam was clean and clear.
4 The machine isn’t working the way in which it’s
supposed to.
D » Example answers
1 Monday is the day on which | must get to school
by 7.
2 Friday is the day when | go to the math institute.
i 3 Sunday is the day on which | go to church. i
[ — J

Sl » 1 where the stateS MYAIZ Sl BAIRAOICE 2 whoe a
valetsS MAIZ Gt= ZAILHALOICE, 3 whichE three monthsS MSHA}
2 5H= BACHZALO|H FR|A} aftere] 2X0{2 MQ1 ZI0|C, after which =
after three months 37112 Sofl=

3141 » 1 California= Y7} Ahar A8 Folt} 2 valet= Z o[k
Aol makst FAHE 8l £ ditolty, 3 1 = 3Y
B G, 1 Fols o2 EAE i

B

A » 1 ZARAL = HX|AL+ BACHHAL the time at which = the time
when 2 the way in which = the way that 3 the place in which = the
place where

A > 1 A2 AL HHHE AlRteld 2 Us I 71AVE 2
Bl HPALS otolix] Lgich 3 parking lot B7F W7} ket 2
ot

C

A » 1 ~2l 0|27} UL There is a reason why ~ 2 22 M|7|7} Al
Zt=| 5l the year in which the new century began 3 217} &R 1
52 the lake in which we swam 4 ~&h= ZAILHZ: the way in which ~

D

5H& » 1-3 ~3&l0f Sh= & the day on which ~ = the day when ~



Ve
A 1 because 2Just 3of

B 1 mainly because
2 accident was caused by
3 for some reason

C 1 was caused by
2 for the simple reason that
3 Just because I’m lending / doesn’t mean you
can borrow

D » Example answers
1 Just because he’s rich doesn’t mean he’s better
than me.
2 Just because | failed the exam last year doesn’t
mean | will fail this year.
3 Just because my friends play the game doesn’t

i mean | should do it, too. i

341 » 1 partly because of ~: ~2] EEXMo| 0|2= ~9| 0|2 & BiLt=
2 Just because (X ~3iCt= 0|RDIOZ): Just becauses E3| “(it)
doesn’t mean"at B4l A04 "X ~5ICED SHA BEEA] | BH A2 OtL|CH2t
= H3o=Z MICt 3 because of ~(~ MH20|): because of CH20ll= H
Ated 0j 77t 2Lt because CHS 0= =o| 2cf,

s8> 1 1 ARIe BRHORL A4 BE o] s

2 o] Hl7 S 4] 9% ik oAt gketh 3 ] e
2o et

B

54 » 1 chiefly because = mainly because £2 ~ 20| 2 Ais
caused by B: A= BOl| oJs RLUEICt A= B IiR0]| M7Ict B= A2| #¢!
o|ct 3 for some reason O 0|RZ

3 > 1 U7k 27 o
o 2 72 Afae) gl
el ofd olgw we §

ol ol £4 gp] WEolg)
[e]

A ol 3 = Wit
o

o
=

S
=

C

s » 1 2 3e
2 ~2t= Ehest O] IE: for the simple reason that ~ 3 Just because

(aX ~slchs 0|R8te ) Just because= 3| “(it) doesn't mean”nt &

T M0 “OX ~oCt sHA BHEA] -8 A2 OfLICH 2= Ko 2 MQICt

~OF OI3l BM3HCE The fire was caused by ~

D

A » 1 27} EX2t sHA: Just because he's rich / Just because=
5| “(it) doesn't mean™} &7 MO| “IX ~SICID SHA HIEA| B 22
LCPets Sfe 2 MQITE 2 LH7F ZHA0| 1 Aol HO{RCk siAf ~&t
2 OL|Ck Just because | failed the exam last year doesn't mean
3 W 27E0| O AYUS st sHAL: Just because my friends play the
game doesn't mean ~

N2 rloh

2

o R——— N\
P particularly = especially 2 cannot / can’t
3in
B 1 cannot be emphasized too much
2 |t is important to remember
3 especially

C 1 Above all
2 the last song in particular.
3 You cannot emphasize too much
4 It should be noted that

D » Example answers
1 An important point to remember is that | am a
student wherever | am.
2 |t is important to remember that bystanders
make bullies stronger.
3 It is important to remember that North and
i South Korea are in a state of armistice. i

5]) = especially 2 stress (Z=3iCh =
emphasize, highlight 3 in particular (E3]) =

1A » 1 particularly (&
particularly, especially

B4 > 1 T A|=E o], 53 2914 X=E Folai,
2 FHAHQ $FO) FAHL ofFe AEIE AUKA ok
3 595 3 o] YHUN?

B

514 » 1 must be emphasized again and again (2 0|1 ZZX=|0{0f St
ChH = cannot be emphasized too much (OFR2| ZZXsi= X|LEX|X| SLCh
2 an important point to remember (7|243H0F & S5t X): E&2| F0{0]
o, is7t SAL, that™o| E0{0|Ct, / It is important to remember that ~: ~&
7|25t Z0l ZR5ICH 3 particularly (£3]) = especially

aiA e 1 o ARl Ake] F8A4de B wolal FxEofof it /
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9 23 AR Fa48 offel ZxE AUAA gt 2 7]

ofslof g FRI WL WS wFol o] Aol EYEeirte Hol
B o] Apelell EelEgleks A2 Flelshe Aol %
=

sHA » 1 PAUECHE: above all / OLOISOH|A| 20| Z[MRIX]: what is best
for the children 2 £3| OFX|2} =2: he last song in particular 3 OFF2|
LR = K|LEX|X| T You cannot emphasize too much ~ 4 ~atm Q!
Ch= Z0fl F==3H0F STk It should be noted that ~

D
S » 1 7|d6HoF & 28t 2 ~0[2k= AO|Ck An important point to
remember is that ~ 2-3 ~§ICh=[~0[2t=] AE 7[2l6k= 20| ZRsick

It is important to remember that ~

O N\
"' A 1with 2for 3for !

B 1 lodge a complaint
2 owe him an apology
3 say sorry
4 My apologies.

C 1 owe me an apology
2 [f you say (you’re) sorry
3 accept my sincere apologies
4 complained of intimidation

D » Example answers
1 I’m sorry for calling you names.
2 I’m sorry that | raised my voice to you.
3 | apologize for using your computer without
i your permission. I

Sha 5=

54 » 1 make a complaint with ~: ~0{|A| €22t XM|7|SICH 2 be sorry
for ~: ~0f| CHaH O|QtSHA| A2tstCt 3 apologize to + AtZ for + Afateh &
~0j|A -2 Alztsict

ol
=

stiAl » 1 s WEjRbollAl s wekeal T 2 O I 4l
w2 vk 3 the 2oflA &3 A& ARG

fllo

54 » 1 make a complaint = lodge a complaint 2 have to apologize to

46 | Answer key

him = owe him an apology / owe someone an apology F=T0iIA| Atatst
2lo| ICt 3 apologize = say sorry ARSI 4 My apologies. = Please
accept my apologies. = A| AftE 2o =AML,

S41 > 1 71 &80 thal B AZsk AgU 2 U a0
A Aok gk 3 U ulelAl At Zo] Ett 4 ol
S, / W A ol 4,

(@]

52 » 1 owe someone an apology L0l Afztet o] Ut 2 1|7+ 0]
otsICt SHH: if you say (youre) sorry 3 A ZXIAO| EZI Afzk my
ETaE=}

sincere apologies 4 g2 2Tt 282 M7IRICE complained of
intimidation

D

sH4 » 1 I'm sorry for+ @AF 047 ~o0f CHal O|etStEt 2 I'm sorry

that + &: ~0il CH3H OIQt5tCt 3 | apologize for + BHAF 472 ~0fl CHal Azt
St

TEST 7 UNIT 55~65

’ N\
H A 1onwhich 2 where 3 someone | think 1
4 what

B 1 neither of who(m)
2 No matter how
3 in which case
4 whenever
5 with who(m) to talk / whom to talk with

C 1 whom 3 that

4 in which

2 when == the day

D 1 which — on which &= when
2 that — what
3 them — which
4 SRR

5 where — which = ing Aty

E 1 |think (that) | owe her an apology.

2 |t should be noted that the rapid growth of the
suburbs has created many problems.

3 Just because you’re poor (it) doesn’t mean you
can’t learn English.

4 You cannot stress too much the danger of
stress.

5 I’'m glad | did it, partly because it was worth it,
but mainly because | will never have to do it



again.

F 1 Tom Cruise gives outstanding performances,
and that’s what | like about him.

2 The politician won’t regret his wrongdoings, and
that’s why | hate him.

3 The company often makes unreasonable
demands for patents, and that’s what | hate
about it.

4 Psy has a style which is both Korean and
universal, and that’s why | like him.

5 Lady Gaga is unconventional, and that’s why |

i like her. i
\ J
A

SHA » 1 ZHAEAL = THX[AL+ BACHHEALOICE the day on which = the
day when 2 the river where they were born (ZE0| EfO{t Z): where=
the riverg MEIAIZ Sh= ALALOICE 3 someone adore?| SX0{0]
H | thinke &20{0ICE | think A0l S&Z LUACHEALT A=fzEl Zo|C
4 believe?| EX0{7} what she told me(ZLH7} Lt 28t Zd)olck

a4 > 1 HRY2 ZEAPL 71 FA =7l golth 2 dofe 1
S0l "ol Zo= FoRitt. 3 W Azolls vk A Fotd
ARkl Qlof. 4 t= 7t oAl LpollAl Tt e EARto] |
<tk

4 » 1 neither of who(m)2.2 HIE 4 QIOH, who(m)& Jack and Jake
MHAZ Sle 22 BACHZAOICE 2 However hard | try = No
matter how hard | try (L§7} OFR2| =2&1E) 3 and in that case = in
which case (121 Z0l=) 4 every time + & = whenever + & (~&l iijf
atch) 6 peopledt to talk with ALOIOfl S2324 EAICHHAL who(m)O| Af2HE!
Zdo|ct, &, people who(m) to talk withOllA FXIAL withS ZHAICHEAL ol
=2H people with who(m) to talk7} =ICt,

ol

e

o4 > 1 Jaks} Jakel: W5olelel & of Aol gk 2
£ obre] mefRE AES A W 4
,0_ KX

)7} 22E dol Qx| oS Ao} Q1S Aotk Ur% 1% 751%01]
= A= mhd 74011:} 4 Kevine 22 2 wjujc} B2 229
LAY 5 252 gistelr]7t 9Het AlgSoltt,

C

& » 1 the lady (whom) | mentioned (LH7} &St £21): whomE the lady
7t MEAR!I SXA HACHHAIO|CE =XZ ZAHBEAL: Mafet o~ Qloh
2 the day (when) the final exams begin (7|ZTAP}E A|RE| = Y): the day
whenOlA ZAEAL whens Af2Fst 4 QIC} 3 the way (that) he teaches

English (17} HOE 7I2X|= EHE): the way that2 the way = howZ2

HIE 4 QICh 2Lt the way howaf &HKl= =l 4 the place (in
which) | can forget my worries (Lif ZAIS A2 4= U= ZA): the place in
whiche (the place) where EE= the place2t 2t = EICE

a1 » 1 0]20] Yt E41e] WA Felolet, 2 b Hae) 7]
LA} A Itk 3 L ) 9ol kR gl
ubgol oF Btk 4 7L s Wk 2AS Gojid 4 gt Ak
olet,

D

2 » 1 the dayE MAHAIZ Sl= A2 BARAOICL 2 what2 B2l M
°”Af Ql0| XtMI2 MEALL| LS He= BACHHALOICE 3 neither of them 2F
o andLt but 82| F&EAPL 1282 neither of whichZt E[0{0F StCt
4 E21 20| gl= 2Z0|ct He had a rich father, all of whose money was
left to him. = He had a rich father, and all of his money was left to him.
5 TASARE TEX|IAL+ BACHALOIZZ ZASALO] £ HXIAME MH OF
Elct

0> 1 L 7} LoDl 268 & 28 o ok solek 2%
%ﬁl £ Aol (e g ATE dbn) 3 = Aude
HE T o T b, B o ehare] ofch 4 1k n
olulx|E okt opixe] Eo| mE o7 YA 5 o] &
A7 W7k Aebd Ao,

E

sHA » 1 L= JEolA Alzter 2o QUCt: | owe her an apology. 2 ~at
Ch= A4S F23H0f Stttk It should be noted that ~ 3 ~3iCta A 5t
= Z2 ofL|ck Just because ~ (it) doesnt mean — 4 ~2 OtRz2| AX

i XILEX|X| Q4CF You cannot stress too much ~ 5 0|8 & 5iLt=
0[7] mh2: partly because ~ / FE 0|F= ~0[7| I4E: mainly because

~

F
ailA » 1 2740| L7} 20i| CHal Z0t5H= FO|C} (that's what | like about
him): that2 2 Zo| &S 7I2|7l= XIACHYALO|EE, 2 JZd0| W7t 28
4l0{5H= 0]R0ICk: that's why | hate him 3 Z1740] L7} 21 S|Atoi| CHaH 4L
0f5t= FOICE that's what | hate about it. it2 the companyZ 7}2|ZICt
4-5 1740 LH7t ~5H= O|R0[CE that's why | ~

T N\
A 1 angry 2 washed the dishes 3 is
4 found

B 1 You might do it, but | won’t do it.
2 The boys played soccer and the girl played
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dodge ball.
3 The man sang better than he used to sing.

C 1 Some people like spring best, and others
falllautumny.
2 He speaks English as well as you.
3 My older sister does more chores than I.

D » Example answers
1 is taller than he by ten centimeters

| 2isasslender as a matchstick i

silE » 1 Y2f6le oIn|E mefst= ol XIFo| gle

SiCt angry7t HHEEIE 2 Juliet was CHS0l angryE AMEfSiCt 2 SITS

g
rz
1

m
rr
2
-4
i
0x
iU

=
Aband, but, o7t = ZHOIM HELl= o17E M2t 4 ot 22 SAL
ofFtol = JHel FOi7b Za U2W A9l FA OfFE HEfstrt

3 Hlw 22| as FOIM === O{7E H2IEICE 4 W 722 than F
OlM El=El= o7 E M2FIT)

41 » 1 Romeo'= 317k L) kgkA)ut Julietd 8b7h sk 2 o
o U AAXE Yok 8 Ao 09Xy st o
T ofF opsbmhEct 4 5L Seluch 32 o wol Wy
o,

B

SlA > 1 HIREIS SAL OfF do itS ARt Zl0IC 2 HHEEls SAL
playedS A2rat Z0Ick 3 CI2 SEZ MOl SAate sh=|n ARrst &
otk 0| SA sing®l B74E0! sangOIXIEL, used to TS0l SAY
% sing0| M¢El Z0Ict,

BA1 > 1 Ui RS BAE mEAT Ui 51 9ol 2 UR
olol5& %75 Y ofx} ool BT S Gtk 3 1 Haw
o S o 2,

C

sie » 1 Z0teichs 2ol BhEEl= 2ol Fefeict &, F HollM HExl=
SA like2t A bestE stLte| Hoflgt A1 CH2 HollM= Marstct /
some people ~, others — O ARRE2 ~5t1 OH[CIZ] AFES -6
L ~sh= ARE U —5h= ARIE Tt 2 H2HE (as well as you): Hld
TE2| as FoIA BHER= TS MaFSiCh 22 22 He speaks
English as well as you speak English.0|X|Zt F{0|A BH=2E[= 072 speak
EnglishE A2FStch 3 LIEL (than I): Bl 722 than FloA HHEE=
O{TLE M2FsiC} Rz 22X My older sister does more chores than | do
chores.O|X|2F FollM HH=E %= 07 do choresE ‘42F5iCt

D

SiA » 1 2l 2F2 She is taller than he is by ten centimeters.0|X|2t &

48 | Answer key

oM BHEE|= OfF isE Af2F5I0] 20t &, She is taller than he by ten
centimeters.7} XtHA B2 2F0ICE FO{0Al= than Foll SXHZH2=E EO|
2L} ~ than him by ten centimaters 2 22 2&2 His body is as
slender as a matchstick is slender.O|X|2t Fo|A HH=2E[= 07 is slender
£ MEFSiC} = His body is as slender as a matchstick 0| XIHAZR 2
Zolct,

a4 » 1 U= 2T 717F 10em B Ak 2 18] F2 AN
BIAE 7hg e (T v ERTh)

Ve

A 1 Although v told 2 wanttov. 3 if vany

B 1 You may go out if you want to.
2 Though young, he has much gray hair.
3 Use this wrapping paper if necessary.

C 1 I'll help you whenever you want me to.
2 I’d like to see you tomorrow morning, if possible
3 They were good friends when in school.

D » Example answers
1 | tried to, but there weren’t any left
| 2 fastenit butl forgot i

s » 1 2EI F07F 22 ), AlZh 22, YEO| EAFHOIM ‘50 +be
SAFZ MEFSICE when, while, if, unless, though, although 50| 0|2 EA}
Hg 0|ZLC} Although (she was) told to stop, she kept on working. 2 &
2 STt BEElE AS TI61| floiAl toR ™AL SALE M2tstn toft £
CHEXALOICYE, | asked her to sing, but she did not want to (sing). 3 At
HollA there is, there are= ZEXMOZ MEFSICE There are few mistakes,
if (there are) any.

a2 57| oM toRFAt SAE M=k
311 tolt M= THREYALZ BiTt 2 FEuE F0{7F ZoH, Lol 2ARE

M 301 + beSALE H2BICE 3 RAEOIM itisE HEHoZ Mafsict,

41> 1 U7k 15t Uk B, 2 Tk AR ekl B
Foht, 3 WashA o TYAZ A,



e » 1 ERtECHE 20| BEElE Aol
SAt helpE oLt ZoflZt A1 CHE Hoj A= to
help you whenever you want me to (help). 2

°|5H:h Z 5 HoM H=xl=

ME CHE™ALZ ST I
'=')\} 0] it isE HEXS
2 MEFSICE I'd like to see you tomorrow morning, if (it is) possible, 3 3
Hup FOP7F 2o, AZHO| 2APHOIM T3R0{ + beSALE MEFSICL They
were good friends when (they were) in school.

D

5HA » 1 No, | tried to: to CHS0I| get a ticketO| A42F= CHEHALOIC, 2
Oh, | was going to fasten it but | forgot.: o2 =AZF QI 2l0|7t Edt=
SAt FolM= to= Mzket mi7t QICE &, Oh, | was going to fasten but |

forgot to.0ll Al forgot /2] to7X| Ab2kSHE 2|O| At to fastenO| A2tEl Zi2le
o 2 Qlot,
ULk

siA > 1AL Y 3 410]?
B: ofY, AR{aL o=t T2 Al & A ¢lole].
2 A1 Ao grof AA = QBAWE wiAof Fuct
B: of, mjz]al g=t)] YofHglola,

c N\
| |

A 1do 2 did 3 not
B 1 She runs much faster than he runs.

2 Now you know as much as | know.
3 | hope I'll be back before dark.

C 1 | like Chinese food, but my sister doesn’t.
2 He didn’t call me and she didn’t either.
3 She has a beautiful voice, and her sister does
too.

D » Example answers

i 1 I’'m afraid so. 21 hope not. i

D — 4
A

SHE » 1 ol L2 SAPEEIEE= WS Tlst7| 2fch tiSAt dog 20t ¢
0O Lt2 SAt travel0| HIHHOI2Z THSAE XY do7t EEt 2 ol Lt

2 SAt played?Zt EE2El= AS 57| {sH CHSAL didS 22Ct played7t
IHEHO0|2 2 HSAE AT did7t 2ot 3 220 e o= &2 U
= o7 E BH=EstR| o= 227t Hot tiES Im afraid ~2 & 22 I'm
afraid CH20l 2= SXE2 solt not 2 T

afraid there is not any left.

AlSICE I'm afraid not. = I'm

8iA1 > 1 T Lhabaolut ol thix) gheth

2 752 19 Axc) A7)= o 23k
3A: D% ﬁ  o1?
B: 312 A Zo}.

B

SiA » 1 doese= runsE CHAIGHO] £ CHSAO|CE runs7t 3
CHSAtE 3213 Et21 doesE

QIF Heol22

£2C}, 2 do= knowE CHAIGH £ CHSALO|

C}. know?} HHO0|E2 CHSAE 2! doE 0 3 thiEe o 2o U
= 075 BH=ESIX| d= BRIt Bk o47|A | hope so.= | hope Il be

back before dark.2| S=0|C},

M » 1 1= TR o ] gk
2 oA Y& UkE Qi
3A: OJFJR|7] Ao Fobg AHoF?
B: Z1EfokA],

Ay EEA} likedll SH= CHEALE F=0{01 HAH| ALS
W= tHSAHE F00f S| ALSSICE oA LR 2R E
Lckatm % e 2% 20| eitherg
Z0{oll 2 M

= 20] tooS 2Lt

0

HO W @ 2 o

o

s » 1 220l thEE mi= 220 U= o7 E =SR]
Ct CHEFS I'm afraid ~2 & 2L Im afraid CH20| 2= =
O 2 CHAISIC} 47| I'm afraid so. (22| Aztsl.) =
(FAPZE OF= 72tz MZHH) 2 | hope not.&= ACHEE 2o

C s
b= ZhEfet H

=0

1A » 1 AL 1A oF=7kR?
B: 28 A 22

2A: ) AZtell ] & A o
B: 9t 7] ule},

e

!'A 1did 2 hadshe spoken

4 were you

3 neither

B 1 did | dream that | would win the race

St 2 EEAt call

O "~ A

2o 3 ESAt hastll St= HSA
SITE AN Li2 SEZ0 '~ FAl -

crefu o m=

o= 2ot B

HMHE2 solt not

I'm afraid it will hurt.

Oi71E H=ESHK

SIHO|CE | hope not. = | hope it will not rain.

2 sooner had we sat down than the curtain rose

3 did |

C 1 asingle word did he say
2 do they look into my eyes
3 have | played an online game like this

Ans
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D » Example answers
1 had she got home beforefwhen] her phone rang

A » 1 EHO(FHE ZXRstHe =X| L20[CE not, no, never, little,
seldom, hardly, rarelyZ2 SH0(T)E ZZs7| 2lehM 22| W fof 4
H, F0{2t SAPE EXIECL 2X0 ZSAE YUoH TEH(T) + =S
4+ 2301 + SAL &=A7t ECl 07 |Me before2t= 24 AIEE LIEHE
0] Qe B2 MAHH didZt S | never saw him laugh or smile before,

>

ne

s
re
bl
e
Bl
02
Ao
=
[9)
<
o}
of
o
w
[0
[0]
=)
3
5]
C
Q
>
Q
w
3
o
o
o}
o}
@
=)
2
o}
i
oy

i
Hod
Ral
il

2 hardly A when B (ASHKIOFRF BSICH: A0l a2t B
IS £2C} She had hardly spoken when she regretted it. (gt
g

K
X
=

Bfoad i B
ro

i
4

F2) Hardly had she spoken when she regretted it. (hardlyS
X2) 3 neithers Z=5t =X L20|C} ‘~F ESH IZX| QPO
275t HH20I0 Meither + beSAYESAL+ F01,0] SEf2 Mol

Ll They couldn't find it, and we couldn't neither, (ZEFEQI BXZ) They

10
i=)
T
0.

couldn’t find it, and neither could we. (neitherE Zxst EX|2) 4 only S
o] Z=&tEl BTt 2% XHzlol 2 = F0eb SAPH =XIECE You
were not only late, but you didn’t even have a good excuse, (YOI &
) Not only were you late, but you didn’t even have a good excuse.
(not onlyE X8t =X|2)

S4 > 1 U 7k AU WAS Al 2 23 8 Ho gtk
2 U W shui wek 2 FaY 8 IEE a5 %
Aok 2P SeE T 4 U A2E ek ohe) ey
3 W 1) Eck

B

sie » 1 2H0i7 litleS ZAsh= EXITZ0ICL SAZH LEHSAO[H &
HO{(F) + doSAt+ 30 + AL, &=A17L EIC} | litle dreamed that | would
win the race, (YHIEQI X)) Little did | dream that | would win the
race. (itleS Zxst =X|2) 2 no sooner A than B: ASHAIIX} BSICH /
We had no sooner sat down than the curtain rose. (Y91 2X3) No
sooner had we sat down than the curtain rose. (no sooner® 24Xt £X|
2) 3 Sodd .= ‘~& E5 32CF| onj2 2R H o M= Tso+beE
A/ZZSAH+ 304, T-20]Ck

a4 » 1 W7h BFE ol7lelEtale HE A 3t
2 2|7} Ap2]of| gAhuRA} who] &3,
A U= A 1 9E S S7l01.
B: = Tgo],

C

1A » 1 280 notez AlRste 20|22 =X|720| Fch 23N
(F) + doSAt+ 30 + SAt, &=A{7t ElCt He didn't say a single word. (Y

50 | Answer key

2 are you allowed to disturb the pilots I

>
1
N

Hixol 2ME2) Not a single word did he say. (not2 ZXst =
0| seldom@Z AlEfsH= 2E0|22 TX|F20| Siot "RE
A+ 0| + EAL, M7F EICE They seldom look into my eyes.
BX8) Seldom do they look into my eyes. (seldome ZZX:
20| ZSAPE oW TEHN(T) + ZSAH+ T+ SAL &M

have never played an online game like this. (ZEXQI EX2

e

M fo re
A

4

+
iul o)
T w0 0h o

e
1N H
mxg,
z
@
<
d

have | played an online game like this. (neverg Zxst =X|2)

D

a4 » 1 scarcely A when[before] B (ASHXHIEXF BSICH: no sooner A than
B (ASIXIOERF Botohet 22 2lo|o|ch Adle otARIZ, Bole oA AIME
2L} IAYZ Az Thad + F0{ + IARALL| FEIZ =X|ECE 2 2™
under no circumstances?t 2501 LI EX|7120| ECh under no
circumstances O{Het AZ0ME ~ 4=, F& 0| U ~ 2=

8141 » 1 157} Zlo] @A) 1) Aspl7h e 2 ofw 4
sl £AHE Washe ot B

T N\
|"A 1 humorous 2 You can join either 3 fishing !

B 1 Public transit such as buses or trains helps
reduce air pollution.
2 | designed, built and painted this doll’s house.
3 He likes it because, first, it is simple; second, it
is unique.

C 1 Heis not only my best friend but (@lso) a strong
rival.
2 My allowance is smaller than yours.
3 The trip to the city is neither long nor
expensive.

D » Example answers
1 is as dangerous as driving too fast
2 use solar energy for cooking, heating, and
i lighting i

si& » 1 and, but, or S2 SYUTHAIR AZEl= OFS2 EHER! JH
7t Z0tof BtCh= 0| HHRAOICEL wase| HOZE 22 FEARR! kind2t
smart7t HAE=0 humoriste HAIGA HZ A7t 7HRICE WM2tA a
humoristE ®EAt humorousZ HHHOF 22 ZF0| ECh 2 HEESAL
either A or B (A OL|H B): A, B EHZEQI HEl7} Z2 HHEAI7F =|ofof
SIC}. [H2tA either the army or the navyZ} 2Ct 3 H| CHA7El= 28



xo| 5
T

EN7F Zotof BTt like2| SH0IZ
fish= 22 SBAZ} =|0{0F Bt

HAF swimming0| MHOM H|m

I'E oo

s8> 1 I AU, EEsh, friessit 2 Ui 20
U o2l Sl 4 alrk 3 Uh WAINERE ool o o
B

i » 1 and, but, or 52 SHTESAR AAE= OS2
7+ Zolof B} such as buses or ~0|A buses?| 242
201l traink S7t Z|0{0F A7t O|R0ZICL 2 EFe| g||3||
SAISE HEE 0|1F= A0l |Ch 3 22 becauseli| HAL
2 HEIAE 0|2 = 0| 2Lt %{9 it is CHZ0il At simple0
2 5ol itis CH20ll= BAZL OfL2t EAITH A00F BiCt

|; Ao

sl > 1 WA AR e e So] f7] 29g Fof
2 Ut of 2ls] 4% sk, Aok, 28 ATk 3 1t
Ae zolsit) mﬁit a7l0] geshy] wiZolal, sHRe 1
o] H53P7] ol

C

SHA » 1 ~ & ofL|2} —0|7|= St (hot only ~ but also —): not only A
but (also) B (A 83t OfL|2t BE)OIM A, BE X1 SEWZ} ZH0toF St
but alsoOllA also= A2FsH7|= SHCE 2 H|m CHA7IE[= 2EQ1 SEf7t
Zotof stk ‘L =9 H|w thel2 Ul 20|22 Ul A'of siEst= o2
S740F BICL My allowance is smaller than yours. (0) My allowance is
smaller than you. (X) 3 ZX|= H|IMWX|= QLUC} (neither long nor
expensive): neither A nor B (AT OFL|TL BE OF-)oflA A, BE 20| &
EN7t Zotof sict.

0]

D

SiA » 1as ~ as FES A 2HE0I SER7E Zot
OF 8l2 & driving too slowly@| H|m CHAF A | 22 SHALEZL ZlofoF §F
Ch 2 Z2 XA 2X0Z2 Hdrls US2 2HEO| eyt 22 EH

#AE 0|F0{0F Bt

A v 1 YR e SHdske s 22 URE mEA X8
st AN 9Fsith 2 «8], Wik 2Hol B oluAE AMg
g 4 %E}

UI@ZW  EXERCISES
R - - - - - - - - - N\

''A 1 third —thirds 2 seventy five — seven five

3 billion — million 4 three — the third/3rd
5 thousands — thousand

B two o one eight eight[double eight] o four
C 1 Korea’s population topped fifty million.

2 This sweater is made of a/one hundred percent
cotton.

3 The ratio of students to teachers is thirty-five to
one in my school.

D » Example answers
1 was born in nineteen fifty-eight and died in two
thousand nine
2 calling one eight double o two o one seven five

i seven five i
| J
A

S » 1 24000 EXH 714, 22 M2 Yt 24Pt 20140/H &2
20| s 20Ict. 2 A5 ¢S 1] A4H 0[SHE RAIS SILHY Y=Lt
3 billion 10, milion EHTt 4 U= M2 =Lt 5 s Hae2 Qs
ch

a2 » 4 29 38 5 200249

> be interested in ~: ~0f| 2&lg 7IXICt / HetHS = XIS S

sl » Al A oF7HR feof?
B U ARzolof,
Do) Hepie ooy vt ZidollA #al glef.
: 201-8804°F,
D ko], 201-8804, TX]?

B2 o,

C

SiA » 1 89| Q17 Korea's population / @F3t: fifty milion 2 100 mAl
E M™: g/one hundred percent cotton 3 The ratio of students to teachers
/ 35 [H 1: thirty—five to one

ai& » 1 in nineteen fifty-eight: 1958301 / in two thousand nine: 2009
0l 2 order books 22 FZsIC} / over the phone TEE / by calling
one eight double o two o one seven five seven five: 1-800—201-75752
Hateto 2 M

541 » 1 Michael Jackson 19581e]l fjo]uba] 2009 0] APL

o} 2 1-800-201-75752 Hz}sto 24 A FESH 4= Q%
.
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I ~\
'A1a quarter[twenty five cents]
2 seven dollars twenty-five cents
3 twenty-four dollars sixty-eight cents
4 three hundred fifty-seven dollars ninety-one
cents
B How much are you willing to spend?
C 1 I'd like to withdraw g£500 from my account.
2 |’ve been saving money to buy a new
smartphone.
3 How much do | have to pay for dinner?
D » Example answers
1 The average allowance (of the five) is thirty-nine
dollars.
2 C earns the highest allowances.
3 The gap between the highest and the lowest is
i fifty dollars. i
— J

s » 1-4 KX = Bk 231, KA Foll S HRIE Ao Z=CL

sS4 » I'd like to ~: ~&k1 4IC} / more than thirty dollars: A 2] 04} /
take a look at ~: ~& HLC}

atfAl > Al HAFS S AR A2t e
DRSS YA a?

DAoL BlAlo| g

D 7HAL oL xR WY E et a?
A g dorkd S |

COIAES T W BAIR,

@WE®EE R

C

SH& » 1 L AIZOIAL: from my account / 500L2EES Q&6 A0{R: I'd
like to withdraw £500 2 A AOIEES At3{1: to buy a new
smartphone / LHe =& 20+ 211 QICk 've been saving money 3 ~2
Z L7t LotE LHoF 5t2E?: How much do | have to pay for ~7?

D

514 » 1 average allowance: W &= / thirty—nine dollars 39=&
2 the highest allowances 712 22 = 3 the gap between ~: ~ Al0|
of X0|

52 | Answer key

ot
£l
oo

= 30geelr. 2 C7F 7MY W &=

=& deth
T} 71 o A Abolo] 2poli= s0ekE]o|T)

(4]
N

S 4
%y
i
rlo
pas

T ER——,—————————————————— ~
A1 improve 2 steadily 3 rose 4 fell

B went down rapidly from there

C 1 The price went up three times.
2 He is gradually recovering his health.
3 Traffic accidents fell from 46 in April to 36
in October.

D » Example answers
1 The number rose steadily
2 the number went down to 530 and at 19, went
up to 643.
i 3 the number rose most sharply. i

siE » 1-4 7} E= HAE LIEH=E SAtel 20| & M0l= RAto|Ct

aiiAd » 1 Ao] Yobd slgo] Qlty 2 Byt E & B L3
223 9ty 3 A&9] MA Q0] 900YofA] 1,050¢ e 2 &5k
T} 4 087 <=7} SARS W&ol HojRlch

B

514 » go down rapidly 2451 LH247tct

A > A A7 FhE T mof?
B: 7Fgel 9l Wt =A] kol
Ar A
B: tjf8e] shIEL 15208 & 7ML lEd 2 7t
AZVA T8 We7kaL Q).

w3k Aok,

C

Sl » 1 Al HiLE SRECE went up three times 2 Xk gradually / S22
L} recover 3 ~OlA —=2 EICK fell from ~ to —

D

54 » 1 The number rose steadily: <A7t &3] S2FZICH / from 13 to
17 years old: 13—-17MI7kX| 2 At 18: 18MI0IlME / the number went down
to 530: A7t 53071X| LHEAZICEH 3 most sharply: 7t 27 1E7

sl » 1 13-17M17HA] s2A47F 23] Eeizieh 2 18AlolA= <24t
7} 5307H] WeZkaL, 19A1ellAl= 64371A] &ehzket 3 16-174]0]



A 7V F2SPA 54t et

N

lA1a 2d 3e 4¢c 5b i

B 1 She studied fashion in Paris and studied music

in San Francisco.

2 We can answer another phone call while talking
on the phone.

3 He cannot speak Chinese, and neither can I.

4 No sooner had | sat down than there was a loud
knock on the door.

5 | don’t think so.

C 1 and the drinks are ready.
2 He likes to look but not
3 does she get invited to parties.
4 The car is neither fast nor

D 1Eazg2
2 him — him to
3 base stealing — steal bases
4 year — year’s
5 so — not

E [1-3]
1 September first to[until] September thirtieth,
two thousand twelve.
2 two-fifths
3 infout of]

[4-6]

4 spending

5 two hundred dollars

6 four thousand five hundred dollars i

-
\.

>

54 » 1 She looks much healthier than she did (= O|MECH 2M
24251 E2I0h: look XHSARRA ‘~3lf HOICFo| E20[ct muche HlZZS
UZxsH= 2ALOICE dids lookedS CHAISIO] £ CHEAMOICEL 2 and so
should we (22|= J&7| 5ok Sth: Afekat =X|7h Lofit FL20|ct 2zH
SXtS 21} ZC You should get more sleep, and we should get more
sleep. (USIE2 Zg O Xfof $iCh J2(1 2= &2 o Xiof siot)
3 he used to a lot: to= dancett= LS BEZSEK| Q47| QsH 242kt 26t
Zdo|ct, 22 2XL2 CrSut ZTh he used to dance a lot (I &2 %0|

3icH 4 Little did | dream: £
b

d o7 E 250 =0tM 39| o0|E
Ofo|ct oluf =0 SAt= =XIECE 5 stopped2t went| 304
2 10|22 gtg A2 mleh7| flsh F2| wentOll A TS A2tst

Ny
5

N M 0
(o]
Ofm

o
i)

3

ol
10 rr

s4 > 1 TUE o dRct 9K o A% Rel, 2 HISe Be
o Ao 8, Sew Teof o, 3 1= AFE HG wol o =
Ak d ol go] Frk 4 U 1 ooz re BAzh & Agt
T Bolw AZFSHA B3k 5 U HuA et A
sl o} el 7,

av

B
siE » 1 SiLte] SAtoll Z2l= SX07 S oY 8= = ._HH—‘?'— Ble &
AE Z=H0] 2ol M FX| L0t= Eot SAt studiedol| Z2l= =Z0{7t

-
gl

fashiont musicO|0{A 5 I SZ0{21 music A0l studiedE g@é Al
olct 2 FHO| 07t BLHHL| ot ZoH ZLHH0| 0+ SALE M
2kt 4= QI FHOI We can answer another phone callzt Z4&0! while
we are talking on the phone.2| =07t Z2 weO|2 2 ZS&HO| TR0+
ALR! we areE Makst 4 QI 3 not ~ either = neither / neither can |
(L}= ZSiCH: | cannot ~ eitherE® 2ttts| T=X[6H0 st Zdolct

4 2 ojLE 250 =0t 2| 20| ZAEY E? TX| FEQE £r0h

5 | don't think so. (Lk= A A2+ ot &)

A1 TUE gEjolld s SR, A

SHA D} 2 8= A= Fokehe w4t E}% Asts t‘ée
ek 3 e FFOE T & RN U T & BEH 4 1
Ape]of] OWHW £ 37 FEgl 2gvt Yo 5 AL A
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A » 1 the food2} the drinksE arel| 25 FOZ 5t readyE E0HZ
StCt 2 He likes to look but not to listen. = He likes to look but he does
not like to listen. 3 BEHOT seldome 2 AlEtSH= 282 =X|720] &
Ct 4 neither fast nor safe: W2 X|= &1 QIXMGIK| = L2

140 1 A7) U 2 30 e A g
< FolslA] et 8 Y& THEof o=
1A= PEZ]E Far QPSR = gkt

ol
Jol 79l gick

ol
o oify

o

sl » 1 EO| 017t if Ho| 02 ZOLM if Ho| 'R0 + SALE Ai=Fet
2X0Ict &, if it is put in the refrigeratorOllA it is7} AM=k=l Zd0|Ct,
2 when | told him to cleanOliAf cleang BHE5HX| 22i™ to= H7{0f §
Ct. 3 how to C}S0 SALEEO0| 0|0{X|= HE A7l ERstr.
4 This year's sales®}t 22 H|u CHAH0] Z[2{H This year's sales@t 2

& SEH7L =lofof STt wtM last year= last year's7t E|0{0f &t
year's = last year's sales 5 24 2™l MztS LIEHHOF S22 so7t
OtL|2t not0| =|o{oF Stk

Answerkey | §3



a4 > 1 0] 7)1

. =
o 27 Uk A4S sl THe
!
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E
S > 1 UME N2 S, 2 248 92 0 BXE T B2 A

22 9=} 3 One infout of] ten: 1022] 1, 10ME

s » 1 o)A 20121 99 195E] 99 30U7HA] ofj&of ohgh A
ot} 2 oftjriag} zl=o] ujzel sie| 22 AAFT, 3 107
HES 7|6k el S5ttt

514 » 4-6 life expectancy B 7|t £ / while ~2IH|= / while (they
are) spending little on health care ZAZZ2[0]| Q] =2 MX| =0z /
The cost difference between the US and Cuba O|=1t 42| H|E Xt0|

8141 » ol U2t S-S Aol 7o) £ %) oiedE B 4
ol st ks wR g Swo] Ao) 2 ks 191g
200925 A4pelo] A2eh 02 45002215 AZd), b
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A 1togain 2 toset 3 feel !

B 1 Fear led him to tell lies.
2 An injury stopped her from competing in the
final race.
3 The Internet allows us to transfer information
around the world.

C 1 This medicine will make you feel better.
2 What brought[brings, has brought] you here?
3 The map says to turn left.

D » Example answers
1 caused her to feel dizzy
i 2 kept him from going out i

S » 1 cause A to+ SAHE™: ~ H20] 0| M7|Ct 2 enable AR
to+ SAIEE: ~ W20f & 4 At 3 make AL+ SAHRE: ~ W20
5| ECk

B4 | Answer key

SA > 1 3 2d AEdA B BEAZ St 2 BL 7t
AW BEE A9A B 3 1 SE o} v T 2H53

o
B

S » 1 lead AHE to + SAHREE: ~ ME0] --0] M7|Ct 2 stop AFE from

1A » 1 make AR+ SAMEE 2 o7l of® olof|2? (What brought

of
[orings, has brought] you here?): &= ES10|Ct 3 say 2-EX| S0i| ~
2t £|of[&&] Ut

D

SHA » 1 cause AE to + SAHEE: ~ TH20] -0 M7ICt 2 keep/stop/

prevent AF2t from —ing ~ IH20]| ---S5tCH

S5 > 1 9] wEe] TUE @715 LA 2 Tk ol oy
oz sk 23l

o N\
P'Adhas 2is 3 strong

B 1 Mom is a very careful driver.
2 There are 52 weeks in a year.
3 The list has my name on it.

C 1 Seoul has a population of over 10 million.
2 How many people are there in your family?
3 I had a heavy lunch.

D » Example answers
1 are slow walkers
i 2 took a bite of the apple i

S » ZXf RFE LSh= there is/are CHAMO have SAFS MA| LIEHS 4
= QIC} The house has ~: 1 Zlofl= ~7t QCt 2 There is ~: ~7} QICt
3 St LIEtd o Zo{olMs "E8AL+ BAFR st Z<7t Bt
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SHA » 1 BAL+ RAFS| S A+ FAFR HHEE £ QUCL 2 7K
AQFoiCHetE 7|2 20|29 have SAH= there is/are2 HiE £ QUCL

3 there is/are CHAIO| have SASE MA| LIEHE 4= QICH

a4 > 1 o ofF 2AUAYA S 2 198 52t
3 550 Y o5l gk

C

SH& » 1 there is/are CHAOH have SAIE WAl LIEFS = QICE 2 £2f
£ 2= HEJ0ICL How many ~ are there -7 (-+-0fl) ~7} Lok} USLITI?
3 have a heavy lunch ZAl2 Bro| Hot

D

SHA » 1 slow walkers: =2|7i| Z= AFEE 2 take a bite of ~: ~2
o] Het

a1 252 =2A 2
o

Bk 2 JuE AkE gl el Bl

7

PA1sh4 2= 3 9n !

B 1 They did research on the effects of stress on
health.
2 |t’s quite common to have a dream that you’re
falling.
3 Why don’t we have/take a break now and meet
again tomorrow?

C 1 I’m always nervous whenever | make a speech.
2 We’re doing a survey.
3 The whole family took a trip to Hawaii.

D » Example answers
1 made a mess of the room
i 2 is doing the cleaning i

A » 1 FoolME BATE SAIE M0z ZR7t ZLL water 22 FLF 2
book Of|2F5ICt / in advance O/2] 3 49| sail2 SAIZ ‘Eafisict2ts =
0|z, F9| sail2 HAIZ ‘E0[2t= S0|ct,

sidd e 1 U7E fls B Ul AlEe] & & 9?2 1 fEolde
{1717} QlolAl w2 dofst= Aol Ald £t} 3 HEV & SE
aaf|st uff o) vjghe Hk=c}

B

aiiE » 1-3 Hol= AL SES UEE SAPHIZ U0 have, take,
make, do S2| 7|2 SAtet AIZ 0|F0I1T SATE Tl 20t £35], 7104
Aol o[ Zefo| Zsict.

M > 1 252 AEEﬂ’V} 27l A= el disf A+
2 BoAlE W& e A2 BE Sl Lotk 3 %2 A d|ofA

I Y B B A ofr?
C

si& » 1 make a speech HME siCt 2 do a survey ME ZALE SiCh
3 take a trip to ~: ~2 O3S 7ICt

D

54 » 1 make a mess of ~: ~2 {EIECE 2 do the cleaning HA S
st

B4 > 1 dAtolZE e ol gelEskel. 2 1 Ak H4E s

At

co \

'A1came 2to study 3 buying

B 1 it’s time to plan the next step.
2 |t’s time you started on your homework.
3 It’s about time for spring clothes.

C 1 It’s time for lunch.
2 It’s time to take medicine.
3 It’s time for saying goodbye.

D » Example answers
1 It’s time for a bath.
| 2 It’stimeto eat. i

1A » 1 It's time + 0] + IS SAE O|H| ~& A|Zto|Ct 2 It's time tos:
AL ~gt AlZtolCh 3 It's time for + AR ~& A|Zto|Ct

5l » 1 oA 8A] HA7} & ARtolok 2 TVE 7, &4
of. 3 A Al 4F w7} Hlol,

& AlZko]
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B

SHA » 1 It's time o ™AL ~&t A|ZH0|CE 2 It's time + F0] + TIHE SAE
O|X| ~&t AlZto|Ct 3 time RA0il aboutO|Lt high7t @™ ‘~&F A|ZFO| it
SH2S LIEHHACE

sia » 1 oA ohS TAE
oF 3 &% U w7} 5o,

C
54 » 1 It's time for + BAE ~&F A|ZHOICH 2 It's time to2 &AL ~&F A7t

olct 3 It's time for CkS0ll= BAF 0177} LiRIOF StE2 SHA} sayingS
2o

AR T 2 £A] A2 Azl

D

SiA » 1 It's time for + EAE ~& AJZHOICH 2 It's time toS ™AL ~8t Azt
olct

8141 » 1 5.8 Abolok. 2 A4} AJzbolok

U1z EXERCISES

A 1 do not —don’t /you are — you’re
2 There is — There’s / he is — he’s
3 we will - we’ll

B 1 Want a coffee? —

coffee?
Great. — That’s great.

2 Cold today, isn’t it? — It’s cold today, isn’t it?
Yes, very cold. — Yes, it’s very cold.

3 Heard about Ron lately? — Have you heard
about Ron lately?
No, haven’t. — No, | haven’t.

Do you want (to have) a

C 1 People like that | just can’t stand.
2 You live with your parents?
3 Who did you play with?

D » Example answers
i 1 Coming 2 Don’tyou i

sl » 1-3 FLojollM=
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B

siE » 1-3 Z0IXl= 2TE EY2 2 0|R0{X|2 tHeke = shs A
S0| 00| ABIS U Qo T2 MEFSH A QI 4D AESHI A

A1 » 1 A 73] upAlF]?
B: €A,
2A: 2= FA| gop?
B: & F3 F4.

3 A: o Ron &4 £%10]?
B: ofY, ¥ %101,

C

e » 1 FoiolAE SX0{(047 1A= people like tha) S =% /o]
=OH ZZsh= 0{Z7t ECh I3 AES: people like that / L= &2 £
7t °*Ef I just can't stand 2 FO{UIME ZSAIE d2foto] Let mh7t Lt

22| doE MEfefo2M HME0| AZ2XZ M2l Zolck. 3 ool
= x"XIMOI 22Xz 2 M2l whom= whoZ st= 0| Uk Whom did
you play with? (201) Who did you play with? (7204)

5o o

D

SHA » 1 FO{OIME CHEAL: A2kt th7t BTt Comingl2 I'm comingl(Lt
X2 7t UM CHEAL 12 beSALS 42510 LSH Z0ICE Tl be with
you in a minute.2 AH5IH ‘2 {85t Z0| U E 7ok o|XIgH 2Oy
=2 ==& Jor’2tn sHASi= =ct. 2 Don't you?= Don't you
understand?& E0{A| 2t Z0|ck

atA > 1AL AEe], 2] BE UE 7okl Qlo,
B: 7} 9lo]! & =2K3F Aok
2A: Uh o]a) Sai7le],
B: Zal? foldl.

N\
' 1] 2 CEO 3 Dutch, French, and German

B 1 June, July, and August.
2 May | help you?

C 1 Seoul had a population of 10,528,774 people.
2 We, who are fond of swimming, go to the beach
every summer.
3 When you get off the subway, find exit No. 1.

D » Example answers
1 is carrying the big, heavy box on her back
i 2 was born on October 19th, 2012 i
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1A » 1 & o] =Xt Fols 288 20 2 FEot 2450 JHE 72
= &S &0 2l 20| We who are fond of swimming go to the
beach every summer.2 sh= ZEC} CH20t 20| &lEE YoM ojn|E ot
ot5t7| &tk We, who are fond of swimming, go to the beach every
summer. 3 Z&FN FH AO|0l= EEE 201 240 Fol= oEEE &
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Ve N\
' A 1didn’t 2 twoweeks’ 3 women’s room !
41t’s
B 1 three-bedroom
2 24-hour
3 well-known
4 part-time
C1;
2
3 p—

D » Example answers
1 |t was a very hot day; | decided to eat a cold

sandwich.
2 |t didn’t take long to make my sandwich—only 5
minutes.
3 | had four things on my sandwich: ham, tomato,
i lettuce, and cheese. i

SHA » 1 AXP| MRS [ff OFZAE 21|(apostrophe)Z 2Lt didn't =
did+not 2 OfZAEZT|(apostrophe)E EY I ES4+3ol= —s7t Fch
3 OIZAE2T|(apostrophe)E 2 I TH0{ X7t S42| S20[H —s7H &
Ch 41its=1ltis

S > 1 9] U2 o hslel? 2 T5S Ao 23710 F71E
2tk 3 oizt shAlol oft) QA ZkEA FAR0lR? 4 17t
A gelg @ Aol

B

s » 1-4 F&ojoll= stolE(hypen)S E=Ck

si41 > 1 19 7HEE W4o] Al A9l How oAb 2 vt
Aubeh 22 hetelliz 24412k sz oFto] Btk 8 Fdo] WS

S 4 glrke A & gl ARl 4 T AR
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s » 1 95| 20| U Bl YOD2 ADIZR(semicolon/S AtS
stof 5 2R AZBiC MAA HIOE ALSE 4 Uk 2 THE whet
o 22 P MY Gh= SE(coon)S AIBIITL 3 YZPILE H1 4
B3 0= fAl(dash}E ALSBITE

D

> 1 g 2k IS A0 Qo= 2 MD|22(semi-colon)S AR
Sl & 2AS dZEsich 2 ZxEPL B MEE i thAl(dash)E At
3

EHoL & 2HE 5 HHE 1] E2(colon)S AFSEHTE

814 » 158 H& Folglr), U A7he MEAES wr) [,
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B 1 These new glasses enable him to see more
clearly.
2 She is a good pianist.
3 Look at the numbers carefully.
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4 Now, it’s time for you to change the batteries.
5 I'll call you later.

C 1 Sheis a frequent visitor.
2 had a strange dream last night.
3 time for some straight talking.
4 forced him to endure pain in silence.
5 know who you are talking with?

D 1 going — from going
2 E21AQUS
3 take — make

4 clean — cleaned
5 E2lAgUS

E 1 If | were you, | wouldn’t do anything.

2 He doesn’t like today’s lunch.

3 She was born in Paris, but now she lives in
London.

4 Harry’s uncle’s car was found without its wheels
in that old house.

5 The performance was impressive — a really
great show.

6 It’s raining hard. However, | think we should go
out.

7 My sister always slept with the light on; she was
afraid of the dark.

8 There are three countries in North America:

i Mexico, the USA and Canada. i
\ J
A

54 » 1 make AR+ SAFES: ~ W20l —5HA ZICt 2 there is/are CHAI
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5l » 1 these new glassesE FOZ BTt / enable AR to + SAHRIS:
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Take a careful(&ZAD look(EAD at the numbers. — Look(SA} at the
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numbers carefully(EAD. 4 t’s time to‘:"“)\h T20|M toB™ALC| olO|At
ZOE 95| AoH™H Tor + ojOjAt J9| HEHZ toEHAL 0l £2CH
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